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àñVmdZm

I-CONSENT hm EH$ godm^mdr H$m`m©gmR>r EH$Ì Amboë`m ì`º$s d g§ñWm `m§Mm g‘yh AgyZ, ‘m{hVr
V§ÌkmZmÀ`m Zì`m ẁJmV Zdr {ejUnÕVr {Z‘m©U H$aÊ`mMm hm g‘yh à`ËZ H$arV Amho. ~hþ{dY ~w{Õ‘Îmm§n¡H$s
àË òH$ {dÚmÏ`m©V H$moUVr Zm H$moUVr Var {ZgJ©XÎm ~w{Õ‘Îmm AgVo. Vr emoYyZ {VMo g§dY©Z H$aUo, CƒñVa
{dMma H$m¡eë` {Z‘m©U H$aV H$aV gdm}ƒ nmVirn ª̀V OmÊ`mgmR>r {dÚmÏ`m©bm ‘XV H$aUo, {ejU emim~mø
OrdZmer {ZJ{S>V H$aUo hm Va {ejUmMm CÔoe. Zì`m {ejUmMm hmM nm`m ŷV {dMma Yê$Z, {d{dY ‘mJmªZr,
H$m ©̀H«$‘m§VyZ "H¥$VrVyZ {ejU', àý-g‘ñ`m gmoS>dÊ`mVyZ {ejU, Aem AZoH$ YS>nS>rVyZ {eH$Ê`mMo ‘mJ©
Amåhr emoYVmo AmhmoV.

`m‘Ü ò {dÚmÏ`m©Zo ì`{º$JV Aä`mgm~amo~aM JQ>mZohr Aä`mg H$amdm hm {dMma Amho.  {eH$dy ZH$m, {eHy$ Úm
hm {eH$Ê`mMm `mo½` ‘mJ© Amho. `m Zì`m nÕVr‘Ü ò aMZmË‘H$ {ejUmV kmZòmoV {Z‘m©U ìhmdoV, Vo {‘iÊ`mg
àË òH$mg g‘mZ g§Yr bm^mdr, J«m‘rU-ehar, Jar~-lr‘§V `m ôXm§nbrH$S>o OmD$Z "XO}Xma embò  {ejU
gdmªZm d gd©Ì' {‘imdo ho Am‘Mo à`ËZ AmhoV. MKF Mm Maharashtra Olympiad Movement

(MOM) hm àH$ën Amåhr `mgmR>rM am~dV AmhmoV.

AmOMm Zdg‘mO hm ‘A3 connected’ g‘mO Amho (Anyone H$moUrhr, Anywhere H$moR>ohr and

Anytime  H$Yrhr). `m Zdg‘mOmV g§nH©$ V§ÌkmZmMm dmna H$ê$Z Am‘Mo CÔoe gmÜ` hmoVrb, hm Am‘Mm
{dœmg Amho.

Maharashtra Olympiad Movement À`m V`margmR>r ‘yb ŷV g§H$ënZm§da AmYm[aV "àý‘§Oyfm' Amåhr
àH$m{eV Ho$br Amho, Vr gd© {dÚmÏ`mªZm ñdmÜ`m`mgmR>r, Ë`m§À`m ñd‘yë`‘mnZmgmR>r, Ë`m§À`m {ejH$m§gmR>r
Am{U nmbH$m§gmR>r Cn ẁº$ R>aob, hr Amåhmbm Amem Amho.

OrdZmV {dÚmÏ`mªZm ñdmdb§~r, Self-directed Am{U {Z{‘©Vrj‘ KS>Ê`m-KS>dÊ`mgmR>r I-CONSENT d
MKF À`m CnH«$‘m§Mm ’$m`Xm ìhmdm, hrM Anojm.

`m {dÚmWu KS>Ê`mÀ`m à{H«$ òV Amnbm gdmªMm g{H«$` gh^mJ bm^mdm d {dÚmÏ`mªZm gẁ e bm^mdo.

àm. am‘ VmH$dbo
‘mOr Hw$bJwê$, nwUo {dÚmnrR>,

B§{Xam Jm§Yr ‘wº$ {dÚmnrR>,
`ed§Vamd MìhmU ‘wº$ {dÚmnrR>
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‘hmamḯ> Am°{bpån`mS> A{^`mZ

‘hmamḯ> Zm°boO ’$m¢S>oeZMr (MKF) ñWmnZm hr kmZaMZmYm[aV e¡j{UH$ nÕVrMm emoY
KoÊ`mgmR>r Am{U `m nÕVrMm àgma H$aÊ`mgmR>r Pmbr Amho. gm‘m{OH$ Am{U
Am{W©H$ n[adV©ZmgmR>r AÜ``Z, {ejU Am{U e¡j{UH$ ì`dñWmnZ `m§Mr ‘m{hVr
V§ÌkmZm~amo~a gm§JS> KmbÊ`mgmR>r Amåhr à`ËZerb AmhmoV.

‘hmamḯ> kmZ ‘hm‘§S>i ‘`m©{XV (MKCL) Am{U Am`-H$Ýg|Q> (I-CONSENT) (B§{S>̀ Z
H$Ýgm°{e©̀ ‘ ’$m°a EÁ ẁHo$eZb Q́mÝg’$m°a‘oeZ) ̀ m§À`m gh`moJmZo ‘hmamḯ> Zm°boO ’$m¢S>oeZZo
‘hmamḯ> Am°{bpån`mS> A{^`mZ (MOM) gwê$ Ho$bo Amho.

‘hmamḯ> Am°{bpån`mS> A{^`mZmMr g§H$ënZm hr Am§Vaamḯ>r` Am°{bpån`mS> VÎdm§da
AmYm[aV Amho. Am§Vaamḯ>r` Am°{bpån`mS>Mr Midi AZoH$ df} gwê$ AgyZ AZoH$
Zmo~ob nwañH$ma {dOoË`m ì`º$s Ë`m§À`m bhmZnUr `m Midirer g§b¾ hmoË`m.

AmJm‘r 20 dfmªV `m A{^`mZmÀ`m ‘mÜ`‘mVyZ ‘hmamḯ>mV {H$‘mZ nmM Zmo~ob Šbmg
emók V`ma ìhmdoV, Ago Am‘Mo ñdßZ Amho.
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Maharashtra Olympiad Movement

Maharashtra Knowledge Foundation (MKF) is established to explore and promote
constructivist education. We wish to integrate information technology for teaching,
learning and educational management for socio-economic transformation.

MKF along with MKCL (Maharashtra Knowledge Corporation Limited) and I-CON-
SENT (Indian Consortium for Educational Transformation) has initiated Maharashtra
Olympiad Movement (MOM)

MOM derives its design principles from various international Olympiad movements.
International Olympiad Movement has been active for a long time and most of the
Nobel laureates have been associated with it in their childhood.

We dream that this movement helps to create at least five Nobel class scientists from
Maharashtra in next 20 years.
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MOM 2014-15  H$m`©H«$‘mMo ñdê$n

{à` {dÚmWu {‘Ì / ‘¡{ÌUtZmo,

`m H$m ©̀H«$‘mV ^mJ ¿`m`Mo R>adyZ Vw‘Mo ñdßZ gmH$ma hmoÊ`mÀ`m Ñï>rZo Vwåhr n{hbo
nmD$b Q>mH$bo Amho.

nwT>Mo nmD$b åhUOo ‘hmamḯ> Am°{bpån`mS> ñH$m°ba hmoÊ`mgmR>r ‘hmamḯ> Am°{bpån`mS>
A{^`mZmÀ`m à{H«$ òMr ‘m{hVr H$ê$Z KoUo.

Ow{ZAa Am°{bpån`mS> - B`Îmm 10 dr gmR>r 2 Q>ßno AmhoV. àW‘ Q>ßß`mÀ`m narjo‘Yrb
H$m‘{JarÀ`m AmYmao {ZdS>H$ {dÚmWu {ÛVr` Q>ßß`mÀ`m narjogmR>r nmÌ R>aVrb. {ÛVr`
Q>ßß`mÀ`m JwUdÎmm `mXrVrb {ZdS>H$ {dÚmÏ`mªMm ‘hmamḯ> Am°{bpån`mS> ñH$m°ba åhUyZ
nwÊ`mV Am`mo{OV H$aÊ`mV òUmè`m ^ì` ~jrg g‘ma§̂ mV gËH$ma H$aÊ`mV òB©b. `m
{dÚmÏ`mªZm nwÊ`mV hmoUmè`m amÁ`ñVar` a{hdmgr H$m ©̀emioV gh^mJr hmoÊ`mMr g§Yr
{‘iob. `m ì`{V[aº$ {OëhmñVar` JwUdmZ {dÚmÏ`mªMm ñWm{ZH$ nmVirda Jm¡a{dÊ`mV
òB©b.



- 9 -

MOM 2014-15 PROGRAM STRUCTURE

Dear Student,

Congratulations for taking your first step to follow your dreams by joining Maharashtra
Olympiad Movement (MOM).

Now your next step is to go through the process of MOM to become Maharashtra
Olympiad Scholar and move closer to your dreams.

For Junior Olympiad - standard 10, MOM exam is 2-stage exam. Based on the perfor-
mance in exams of 1st stage, selected students will qualify for 2nd stage exam. Selected
toppers of 2nd stage exam will be felicitated as Maharashtra Olympiad Scholars in a
grand prize distribution ceremony at Pune. These students get an opportunity to partici-
pate in a State level residential workshop at Pune. Apart from this, district level merito-
rious students will be felicitated at local level.
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MOM   2014-15  narjoMo ñdê$n
n{hë`m Q>ßß`mÀ`m JwUdÎmm `mXrVrb {ZdS>H$ {dÚmWu {ÛVr` Q>ßß`mÀ`m narjogmR>r nmÌ R>aVrb. àW‘ Am{U
{ÛVr` `m XmoÝhr Q>ßß`mÀ`m narjm dñVw{Zð> (objective) AgVrb. àW‘ Q>ßß`mMr narjm hr boIr Va {ÛVr`
Q>ßß`mMr narjm Am°ZbmB©Z Agob.
A{YH$ ‘m{hVrgmR>r www.mkcl.org/mom da bm°J Am°Z H$am.

narjoMo ñdê$n Imbrbà‘mUo Amho :

ñVa

àW_ Q>ßnm
(MCQs)

{ÛVr` Q>ßnm
(MCQs)

{df`

{dkmZ

J{UV

~w{Õ_Îmm MmMUr

{dkmZ

J{UV

~w{Õ_Îmm MmMUr

àíZm§Mr
g§»`m

60

20

20

30

10

10

{df`dma
JwU

60

20

20

60

20

20

EHy$U
àíZ

100

50

EHy$U
JwU

100

100

H$mbmdYr
({_.)

120

100

narjoMr
VmarI

Am°ŠQ>mo~a
5,

2014

\o$~«wdmar
8,

2015

nmÌ
{dÚmWu

gd©
gh^mJr
{dÚmWu

{ZdS>H$
{dÚmWu
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MOM   2014-15   Examination Details

Selected toppers of 1st stage exam, will be eligible for stage 2 exam. Both stage 1 and stage
2 exams are objective exams. Stage 1 exam is written while stage 2 exam is online.

For more details, log on to MOM website www.mkcl.org/mom

Please refer following table for examination details:

Exam

Stage 1

(MCQs)

Stage 2

(MCQs)

Subjects

Science

Mathematics

Mental Ability

Science

Mathematics

Mental Ability

Number
of

questions

60

20

20

30

10

10

Marks
per

subject

60

20

20

60

20

20

Total
questions

100

50

Total
Marks

100

100

Duration
(min)

120

100

Exam
Date

October

5,

2014

February

8,

2015

Who is
eligible

Every

enrolled

student

Selected

students
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MOM 2014-15 Aä`mgH«$‘ - B`Îmm 10 dr
n{hbm Q>ßnm :
{dkmZ
1. emim : ‘ybÐì`m§Mr
2. OmXy : amgm`{ZH$ A{^{H«$`m§Mr
3. VoO : {dOoMo
4. gd© H$mhr : {dÚwV Mw§~H$m{df`r
5. OmUy `m : YmVy,AYmVy
6. ahñ` : AVJ©V OrdZmMo
7. {Z`‘Z : OrdZmMo

J{UV
1. A§H$J{UV loT>r Am{U ŷ{‘Vr` loT>r
2. dJ©g‘rH$aUo
3. XmoZ Mbm§Vrb aofr` g‘rH$aUo
4. g‘ê$nVm
5. ^m¡{‘{VH$ aMZm
6. ‘hÎd‘mnZ

nyd©kmZ : ‘hmamï´> amÁ` ‘mÜ`{‘H$ {ejU ‘§S>imMr B`Îmm 9 drMr {dkmZ Am{U J{UVmMr nwñVHo$

Xwgam Q>ßnm :
{dkmZ
1. emim : ‘ybÐì`m§Mr
2. OmXy : amgm`{ZH$ A{^{H«$`m§Mr
3. VoO : {dOoMo
4. gd© H$mhr : {dÚwV Mw§~H$m{df`r
5. OmUy `m : YmVy, AYmVy
6. ahñ` : AVJ©V OrdZmMo
7. {Z`‘Z : OrdZmMo
8. agm`Z : Amåb-Aåbmar
9. Amü }̀ : àH$memMr(^mJ 1)
10. Amü }̀ : àH$memMr(^mJ 2)
11. AX ŵV OJ : H$m~©Zr g§̀ wJmMo
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MOM 2014-15 Syllabus for Standard 10

Stage 1 exam:
Science

1. School of elements
2. The magic of chemical reactions
3. The electric spark
4. All about electromagnetism
5. Understanding metals and non-metals
6. Life's internal secrets
7. The regulators of life

Mathematics
1. Arithmetic progression and geometric progression
2. Quadratic equations
3. Linear equations in two variables
4. Similarity
5. Geometric constructions
6. Mensuration

Previous knowledge : 9th standard state board science and mathematics text books

Stage 2 exam:
Science

1. School of elements
2. The magic of chemical reactions
3. The electric spark
4. All about electromagnetism
5. Understanding metals and non-metals
6. Life's internal secrets
7. The regulators of life
8. The acid base chemistry
9. Wonders of light Part – 1
10. Wonders of light Part – 2
11. Amazing world of carbon compounds
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12. MH«$ : OrdZmMo
13. AmaoIZ : Amnë`m OZwH$m§Mo

J{UV
1. A§H$J{UV loT>r Am{U ŷ{‘Vr` loT>r
2. dJ©g‘rH$aUo
3. XmoZ Mbm§Vrb aofr` g‘rH$aUo
4. g‘ê$nVm
5. ^m¡{‘{VH$ aMZm
6. ‘hÎd‘mnZ
7. g§̂ mì`mVm
8. gm§p»`H$s - I
9. gm§p»`H$s - II
10. dVw©i
11. {ÌH$moUm{‘Vr
12. {ZX}eH$ ŷ{‘Vr

g§X^m©gmR>rMr nwñVHo$ : ‘hmamï´> amÁ` ‘mÜ`{‘H$ {ejU ‘§S>i (EgEggr), H|$Ðr` {ejU ‘§S>i (gr~rEgB©)
d ^maVr` {ejU ‘§S>imMr (Am`grEgB©) B`Îmm 10 drMr {dkmZ Am{U J{UVmMr nwñVHo$
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12. The life cycle
13. Mapping our genes

Mathematics
1. Arithmetic progression and geometric progression
2. Quadratic equations
3. Linear equations in two variables
4. Similarity
5. Geometric constructions
6. Mensuration
7. Probability
8. Statistics – I
9. Statistics – II
10. Circle
11. Trigonometry
12. Coordinate geometry

Reference books : SSC, CBSE and ICSE science and mathematics text books of 10th

standard
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STAGE - I
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1) {dVi Vma hr {MZr ‘mVrÀ`m gmÀ`mda ~gdbobr AgVo H$maU {MZr ‘mVr ........
a) CîUVoMr gwdmhH$ Amho. b) {dOoMr gwdmhH$ Amho.
c) AY©dmhH$ Amho. d) {dOoMr Am{U CîUVoMr Xwdm©hH$ Amho.

2) Imbrbn¡H$s H$moUVo CnH$aU {dÚwVYmam V`ma H$aVo?
a) O{ZÌ b) A°‘rQ>a
c) J°ëìh°Zmo‘rQ>a d) {dÚwV M{bÌ

3) ......... VmaoVyZ EH$mM {XeoZo dmhVo.
a) {^Þ{XH$ Ymam b) EH${XH$ Ymam
c) {^Þ{XH$ {d^dm§Va d) EH${XH$ {d^dm§Va

4) {dÚwVeº$s CËnmXZ Ho$Ðm§‘Ü ò gmYmaUnUo àË`mdVu Ymam V`ma Ho$br OmVo H$maU....
a) Vo {H$’$m`Vera Amho Am{U JaOoZwgma {d^dm§Vam‘Ü ò ~Xb H$aVm òVmo.
b) n[aUm‘r amoY H$‘r.
c) {Z{‘©Vr‘Ü ò D$O}Mm Anì`` hmoV Zmhr.
d) dmhÿZ ZoVmZm D$O}Mm Anì`` hmoV Zmhr.

5) EH$m gmÜ`m {dÚwV KQ>m‘Ü ò V`ma hmoUmam {dÚwV àdmh....... AgVmo.
a) BboŠQ´m°ÝgÀ`m JVr‘wio
b) Am`ÝgÀ`m JVr‘wio
c) Vmao‘Ü ò BboŠQ´m°ÝgÀ`m JVr‘wio Am{U {dÚwV AnKQ>ZrV Am`ÝgÀ`m JVr‘wio
d) Vma Am{U {dÚwV AnKQ>ZrV BboŠQ´m°ÝgÀ`m JVr‘wio

6) EH$m gmÜ`m {dÚwVn[anWmV {Xì`mbm EH$ {dÚwV KQ> OmoS>bm AgyZ Vmo {Xdm àH$m{eV hmoVmo. Amnë`mbm........šš
   àH$me {‘iVmo.

a) {Xì`mVrb YmVyMr Vma A{VVá Pmë`m‘wio
b) {dÚwV D$O}Mo àH$me D$O}V ê$nm§Va Pmë`mZo

c) {dÚwVàdmh n[anWmV OdiOdi pñWa amhVmo åhUyZ

d) darb gdmª‘wio

gm_mÝ`{dkmZ STAGE - I
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1) Fuse boxes are made up of china clay as it is.............

a) Good conductor of heat b) Good conductor of electricity

c) Semiconductor d) Bad conductor of heat and electricity

2) Which of the following devices produces electricity............?

a) Generator b) Ammeter

c) Galvanometer d) Electric motor

3) ............ flows in only one direction through a wire.

a) Alternating current b) Direct current

c) A.C. Voltage d) D.C. Voltage

4) Why do power plants commonly produce alternating current?

a) It is economic and voltage can be changed as per requirement.

b) Less resistance is created.

c) No loss of energy in production.

d) No loss of energy in transmission.

5) In case of simple cell, the electric current is due to .................

a) Motion of electrons.

b) Motion of ions

c) Motion of electrons in wire and ions in electrolyte

d) Motion of electrons in wires as well as in electrolyte

6) In simple circuit, a cell is connected to a bulb and the bulb glows. We receive light
     because ...........

a) The filament becomes hot

b) Electric energy is converted into light energy

c) Currents remain approximately constant in the circuit

d) All above are true

SCIENCE STAGE - I
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7)  220V, 50W Am{U 220V, 100W Mo XmoZ {dOoMo {Xdo EH$ga OmoS>UrV d g‘m§Va OmoS>UrV OmoS>bo Va

XmoÝhrhr àH$mam‘Ü ò H$moUVm {Xdm OmñV àH$me‘mZ hmoB©b?

a) 220V, 50W Mm {Xdm EH$ga OmoS>UrV d 220V, 100W Mm {Xdm g‘m§Va OmoS>UrV OmñV
    àH$me‘mZ hmoB©b. àH$me‘mZ hmoB©b.
b) 220 V, 100 W Mm {Xdm EH$ga OmoS>UrV d 220V, 50W Mm {Xdm g‘m§Va OmoS>UrV OmñV

           àH$me‘mZ hmoB©b.
c) 220 V, 100W Mm {Xdm XmoÝhrhr EH$ga Am{U g‘m§Va OmoS>UrV gmaImM àH$me‘mZ hmoB©b.
d) 220V, 50W Mm {Xdm XmoÝhrhr EH$ga Am{U g‘m§Va OmoS>UrV gmaImM àH$me‘mZ hmoB©b.

8) ~m§JS>rÀ`m AmH$mamMo nU MnQ>o Mw§~H$ H$mhr CnH$aUmV dmnabo OmVmV. Agm dVw©imH$ma Mw§~H$ EH$m ñQ>±S> ‘Ü ò
   Q>mH$bm. Ë`mMm darb n¥ð>^mJ CÎma Y«wd Amho. AgmM Xwgam Mw§~H$ Ë`m ñQ>±S>da X{jU Y«wd darb ~mOyZo

òB©b Aem arVrZo gmoS>bm AgVm, Vmo Mw§~H$ Imbr Z nS>Vm Va§JVmo, H$maU
a) Vmo hbH$m hmoVmo. b) à{VH$f©Um‘wio.
c) Mw§~H$s` àdV©Zm‘wio. d) à{VH$f©UmMo ~b ho JwéËdr` ~bmBVHo$ hmoVo.

9) Imbrbn¡H$s H$moUVm nXmW© Mw§~H$s` joÌm‘wio WmoS>çmà‘mUmV à{VH${f©V hmoVmo?
a) g‘Mw§~H$s` b) ’o$amo Mw§~H$s`
c) à{V Mw§~H$s` d) g‘Mw§~H$s` Am{U à{V Mw§~H$s`

10) Imbrbn¡H$s H$moUVr AmH¥$Vr, XmoZ Mw§~H$ EH$‘oH$m§Zm à{VH${f©V H$aV Amho Vo, ho Xe©{dVo?
 a) b)

c)  d)

11) {dOmVr` Mw§~H$s` Y«wdm§‘Yrb ~b, A§Va ........
a) OgOgo dmT>V OmVo, VgVgo ~b EH$aofr` nÕVrZo dmT>V OmVo.
b) Ogo dmT>V OmVo, Vgo ~b dJ© à‘mUmV dmT>V OmVo.
c) OgOgo H$‘r hmoVo, VgVgo ~b EH$aofr` nÕVrZo H$‘r hmoVo.
d) Ogo dmT>V OmVo, Vgo ~b ì`ñV dJ© à‘mUmV H$‘r hmoVo.
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7) When two lamps rated 220V, 50W and the other rated 220V, 100W are connected in
     (i) series and (ii) parallel. In both the cases which lamp glows brighter?

a) 220v, 50W bulb will glow brighter in series combination and 220V,
100W bulb will glow brighter in parallel combination

b) 220V, 100W bulb will glow brighter in series combination and 220V,
50W bulb will glow brighter in parallel combination

c) 220V, 100W bulb will glow brighter in series and parallel combination

d) 220V, 50W bulb will glow brighter in series and parallel combination

8) A ring magnet is put in a vertical stand with N pole up. Another identical ring mag
    net is slid down the stand with S pole up then, magnet levitates because______

a) It becomes light.
b) Of repulsion.
c) Of magnetic induction.

d) Of gravitational and repulsive forces balance each other.

9) Which of the following substances are weakly repelled by magnetic field?

a) Paramagnetic b) Ferromagnetic

c) Diamagnetic d) Paramagnetic and Diamagnetic

10) Which of the following diagrams shows two magnets are repelling each other?

a) b)

c)  d)

11) The force between two unlike magnetic poles______

a) Increases linearly with increase in the distance between them

b) Increases as the square of the increasing distance

c) Decreases linearly with decrease in the distance between them.

d) Decreases with inverse square of increasing distance
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12) Mw§~H$s` {dH$f©aofm `m  Mw§~H$s` joÌm‘Ü ò gbJ Am{U........ nWmÀ`m AgVmV.
a) VwQ>H$ b) H$mhr doim VwQ>H$ Va H$mhr doim nyU©
c) nyU© d) Y«wdm§Odi VwQ>H$ Am{U H|$ÐmOdi gbJ

13) n¥ÏdrÀ`m Mw§~H$s` joÌm~m~VMo Imbrbn¡H$s H$moUVo {dYmZ `mo½` Amho ?
a) Vo ’$º$ n¥ÏdrÀ`m H|$ÐmOdi H$m ©̀aV AgVo. b) n¥Ïdrbm Mw§~{H$` joÌ Zmhr.
c) Vo n¥Ïdr g^modVmbr ngabo Amho. d) Ë`m‘wio M§Ð H$joV amhVmo.

14) Imbrb AmH¥$VrÀ`m XmoZ AË §̀q~Xy‘Yrb amoY H$mT>m ?
a) (5/7) R b) (71/ 105) R

c) (21/35) R d) (5/21) R

15) XmoZ {dÚwV {Xì`m§‘Yrb amoYmMo JwUmoÎma 1:2 Ago Amho. Oa Vo EH$gar OmoS>UrZo OmoS>bo AmhoV, Va Ë`m§Zr
    Cn`moJmV AmUboë`m D$O}Mo JwUmoÎma H$m` Agob?

a) 1:2         b) 4:1           c)2:1         d) 1:1

16) EH$g‘mZ H$mQ>N>oX "a', bm§~r "l' Am{U amoY "R' AgUmar Vma dmH$dyZ Ë`mMo dVw©i Ho$bo AgVm, `m
     dVw©imÀ`m ì`mgmdarb XmoZ {déÕ A§Ë`q~Xy§‘Yrb amoY........ Agob.

a) 4R b) R/4 c) R/8 d) R/2

17) 150 Ω amoY AgUmè`m {dOoÀ`m {Xì`mVyZ 40C à^ma 60 goH§$XmV dmhVmo. {dOoÀ`m {Xì`mÀ`m XmoÝhr
    Q>moH$m§‘Yrb {d^dm§Va H$m` Amho ?

a) 100 V b)  230 V c)  210 V d) 150 V

18) Amoh‘rH$ dmhH$mgmR>r {dÚwVYmam (I) À`m ~amo~arZo {d^dm§VamMm AmboI......... Agm Amho.
a) KmVm§H$s` nÕVrZo H$‘r hmoV OmUmam
b) KmVm§H$s` nÕVrZo dmT>V OmUmam
c) Ama§̂ q~Xy‘YyZ Ajm§ì`{V[aº$ OmUmar gai aofm
d) gwadmVrbm Ama§̂ q~Xy‘YyZ OmUmar gai aofm, Z§Va {d^dm§VamÀ`m AjmH$S>o diUmar.

19) Q>mMÊ`m R>odÊ`mÀ`m ßb°pñQ>H$ S>~rbm daÀ`m ~mOybm Mw§~H$s` H$S>o AgVo, H$maU .....
a) `m‘wio Ë`m S>~rV Q>mMÊ`m ^aUo gmono OmVo.
b) Mw§~H$s` H$S>o bmoI§S>r Q>mMÊ`m§Zm AmH${f©V H$aVo Am{U nH$Sy>Z R>odVo.
c) Mw§~H$mÀ`m {Xem-Xe©H$ JwUY‘m©‘wio, Q>mMÊ`mMr S>~r gai C^r amhVo.
d) Mw§~H$mÀ`m {Xem-Xe©H$ JwUY‘m©‘wio, Q>mMÊ`m Mw§~H$s` H$S>çm Odi AS>Hy$Z ahmVmV.

R

R

R

R/5 R/7
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12) Magnetic lines of force are continuous &__________ paths in the magnetic field.
a) Open b) Sometimes closed sometimes open
c) Closed d) Open at poles & close at center

13) Which of the following is true about the Earth’s magnetic field?
a) It is active only at the center of the earth.
b) There is no magnetic field.
c) It stretches out into space.
d) It keeps the moon in orbit.

14) The total resistance between the end points in the following diagram is ….

a) (5/7) R b) (71/ 105) R

c) (21/35) R d) (5/21) R

15) Two electric bulbs have resistances in the ratio 1: 2. If they are joined in series, the
      energy consumed in them is in the ratio …..

a) 1:2 b) 4:1 c) 2:1 d) 1:1

16) When a wire of uniform cross-section ‘a’, length ‘l’ & resistance ‘R’ is bent into a
     complete circle. The resistance between any two of diametrically opposite points
      will be………………

a) 4R b) R/4 c) R/8 d) R/2

17)  A charge of 40 C flows through an electric bulb of resistance 150 Ω for 60 sec
      onds. What is the potential difference across the bulb?

a) 100 V b)  230 V c)  210 V d) 150 V

18) For ohmic conductors the graph of current (I) against the potential difference is …..
a) Exponentially decreasing.
b) Exponentially increasing.
c) Straight line (other than axis) passing through origin.
d) Initially straight line passing through origin bent towards p. d. axis.

19) Why all types of pin holders have upper magnetic rim?
a) It makes easy to fill pins in pin holder.
b) Magnetic rim will attract & hold the iron pins.
c) Due to directive property of magnet, it will keep the pin holder up right. .
d) Due to directive property of magnet, pins remain along rim. .

R

R

R

R/5 R/7
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20) Mw§~H$m^modVr OoWo Mw§~H$s` à^md OmUdVmo, Ë`mbm ............... Ago åhUVmV.
a) Mw§~H$s` joÌ b) Mw§~H$s` {dH$f©aofm c) Mw§~H$s` Y«wd d) Mw§~H$Z

21) Mw§~H$ WmoS>m Vmndë`m‘wio ................
a) Mw§~H$s` joÌ Vrd« hmoVo. b) Ë`mMo Y«wd Zmhrgo hmoVmV.
c) Ë`mÀ`mda H$mhr ’$aH$ nS>V Zmhr. d) Mw§~H$s` joÌmMr Vrd«Vm H$‘r hmoVo.

22) Q>mMUr Mw§~{H$V H$aÊ`mgmR>r........ hm gdm©V Mm§Jbm ‘mJ© Amho.
a) VmndUo b) Mw§~H$ Q>mMUrda {d{eï> nÜXVrZo KmgUo
c) Mw§~H$ Q>mMUrda OmoamZo AmnQ>Uo d) BboŠQ´rH$ ‘§S>bmOdi R>odUo

23) Mw§~H$ dmnabobo N>moQ>o §̀Ì AmnU {Xem R>a{dÊ`mgmR>r dmnaVmo, Ë`mbm........Ago åhUVmV.
a) ZH$mem b) Mw§~H$ c) nWXe©H$ d) gwMrMw§~H$

24) H$m`‘ñdê$nr Mw§~H$mÀ`m Q>moH$mer ‘¥Xy bmoI§S>mMo VwH$S>o g§ajUmgmR>r R>odVmV, H$maU ššššš.
a) ‘¥Xy bmoI§S>m‘Ü ò Mw§~H$Ëd `mdo åhUyZ
b) H$m`‘ñdê$nr Mw§~H$mMr j‘Vm dmT>mdr åhUyZ
c) Ë`mVrb Mw§~H$ËdmÀ`m èhmgmMm doJ H$‘r H$aÊ`mgmR>r
d) Mw§~H$mÀ`m ^m¡{VH$ g§ajUmgmR>r.

25) XmoZ nÅ>rMw§~H$ dmnê$Z Mw§~H$s` VQ>ñWq~Xy........AmUVm òVmo.
a) EH$mM Ajmda g‘mZ Y«wd EH$‘oH$m§À`m g‘moa Amë`mg
b) EH$mM Ajmda {dê$Õ Y«wd EH$‘oH$m§À`m g‘moa Amë`mg
c) g‘mZ Y«wd eoOmar eoOmar òVrb Aem nÕVrZo Mw§~H$nQ²>Q>çm EH$‘oH$m§À`m ~mOyg R>odyZ
d) {dê$Õ Y«wd eoOmar eoOmar òVrb Aem nÕVrZo Mw§~H$nQ²>Q>çm EH$‘oH$m§À`m ~mOyg R>odyZ

26)  VmaoVrb {dÚwV Ymam H$emda Adb§~yZ AgVo ?
a) ’$º$ {d^dm§Va b) {d^dm§Va Am{U VmaoMr bm§~r
c) {d^dm§Va Am{U VmaoMm EHy$U amoY d) {d^dm§Va Am{U VmaoMm ì`mg

27) 3Ω Mm amoY {dÚwVKQ>mÀ`m XmoZ Q>moH$m§‘Ü ò OmoS>bm AgVm, Ë`mVyZ 0.5 A {dÚwV Ymam dmhVo. amoY 7 Ω Ho$bm
    AgVm, {dÚwVYmam 0.25 A hmoVo Va {dÚwV KQ>mMm A§V[a‘ amoY Am{U {dÚwVdmhH$ ~b H$m` Agob ?

a) 2 Ω ,5V b) 3Ω, 4V

c) 2.5 Ω, 5V d) 1Ω, 2V
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20) The space around the magnet, where its magnetic influence can be detected is
called................

a) Magnetic field b)  Magnetic lines of force
c) Magnetic poles d) Magnetization

21) Heating a magnet will..............
a) Strengthen its magnetic field. b) Remove its polarity.
c) Have no effect. d) Weaken its magnetic field.

22) The best way to magnetize a steel pin is to............
a) Heat it up. b) Strike it with a magnet.
c) Hit it with magnet. d) Keep it near electric circuit.

23)  What do we call a device that has a small magnet inside; it helps us to find
        direction?

a) Map b) Magnet c) Way finder d) Compass

24) The permanent magnets are kept with soft iron pieces at the end as keepers
a) To magnetize the soft iron pieces.
b) To increases the strength of the magnets.
c) To slow down self-demagnetization.
d) For physical safety of the magnets.

25) A neutral point can be obtained by keeping two bar magnets................
a) Along the axis facing similar poles towards each other
b) Along the axis facing opposite poles towards each other
c) Similar poles on one side keeping two magnets side by side
d) Opposite poles on one side keeping two magnets side by side

26) A current in wire depends ……..
a) Only on the potential difference.
b) On P. D. and length of the wire.
c) On potential difference & net resistance of the wire.
d) On P. D. and diameter of the wire.

27) When a resistance of 3 Ω is connected across a cell, the current flowing is 0.5 A.
        On changing the resistance to the 7Ω, the current becomes 0.25 A. What is the
         internal resistance of cell & the emf?

a) 2 Ω ,5V b) 3Ω, 4V

c) 2.5 Ω, 5V d) 1Ω,2V
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28)  gwdmhH$mÀ`m EH$m Q>moH$mdéZ Xwg-`m Q>moH$mH$S>o 12 5 1018.   BboŠQ´m°Z ZoVmZm 5 Á ẁb BVHo$ H$m ©̀ hmoVo, Va
     Ë`m gwdmhH$mÀ`m XmoZ Q>moH$m§‘Yrb {d^dm§Va {H$Vr Agob?

a) 2 V b) 2.5 V c) 5 V d) 5.5 V

29) ABCD hr 1 ‘r bm§~rMr Zm`H«$mo‘ dm`a Amho. B hm `m dm`aMm ‘Ü`q~Xy Amho, Va C hm BD Mm
     ‘Ü`q~Xy Amho. nyU© dm`aMm amoY 6Ω Amho. Oa D hm q~Xy, B `m q~Xybm OmoS>bm, Va AC Mm amoY H$m`
     hmoB©b?

a) 3 Ω b) 6 Ω c) 4.5 Ω d) 3.75 Ω

30) EH$m à^mambm 2 x 107 Volt {d^dm§Va nma H$aÊ`mgmR>r 1.6 x 10-12 j BVH$s D$Om© bmJVo, Va à^mamMr
    qH$‘V {H$Vr Agob?

a) 3.2 x 10-19 C b) 8 x 10-19 C
c) 3.2 x 1019 C d) 8 x 106 C

31) àË`oH$s Mma Amoh‘ amoY Agbobo Mma amoY AmH¥$VrV
XmIdë`mà‘mUo OmoS>bo AmhoV. Va A Am{U B q~Xy‘Yrb EH${ÌV
amoY....... BVH$m Agob.

a) 3Ω b) 4Ω

c) 12Ω d) 16Ω

32) 60 C BVH$m à^ma EH$m {dOoÀ`m {Xì`mVyZ 2 {‘{ZQ>m§V àdm{hV Pmbm, Va Ë`m {Xì`m‘YyZ àdm{hV hmoUmar
    {dÚwVYmam {H$Vr Agob?

a) 0.6A b) 2A c) 0.5A d) 1A

33) R BVŠ`m {H$‘VrMo n amoY g‘m§Va OmoS>UrZo OmoS>bo Va Ë`mMm g‘‘yë` amoY A hm Amho, VoM amoY EH$ga
    OmoS>UrZo OmoS>bo Va Ë`mMm g‘‘yë` amoY B BVH$m Amho.Va B Mo A er AgUmao JwUmoÎma ........ Agob.

a) 1/ n2 b) n2 c) n d) 1/n

34) R `m {H$‘VrMo n amoY EH$‘oH$m§Zm OmoSy>Z H$‘rV H$‘r {‘iUmam {H$Vr amoY ........ Agob.

a) R/n b) nR c) 2R/n d) 2nR

4Ω

4Ω 4Ω

4Ω
A B
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28) 5 joule of work is done in moving 12.5 x 1018 electrons from one end to other end of
      a conductor. What   is the potential difference between the two ends of a conductor?

a) 2 V b) 2.5 V c) 5 V d) 5.5 V

29) ABCD is 1m long nichrome wire, in which B is midpoint of wire & C is midpoint of
       BD. The resistance of total wire is 6Ω. Now D is connected to B. Then resistance of
       wire AC will be..............

a) 3 Ω b) 6 Ω c) 4.5 Ω d) 3.75 Ω

30) If 16 x 10-12 joule of energy is needed to move a charge through a potential difference
      of 2 x 107 volts then the magnitude of this charge is ...........

a) 3.2 x 10-19 C b) 8 x 10-19 C

c) 3.2 x 1019 C d) 8 x 106 C

31) Four resistors, each of value 4 Ω, are connected
      as shown in fig. What is the equivalent resistance
      between points A & B?

a) 3Ω b) 4Ω

c) 12Ω d) 16Ω

32) A charge of 60 C passes through an electric lamp in 2 min, the current in the lamp will
      be ................

a) 0.6A b) 2A c) 0.5A d) 1A

33) If n resistors of value R each are connected in parallel, their equivalent resistor is A &
     when they are connected in series it is B. The ratio of B/A is ..............

a) 1/ n2 b) n2 c) n d) 1/n

34) The smallest resistance that can be obtained by combining n resistors, each of
resistance R is .........

a) R/n b) nR c) 2R/n d) 2nR

4Ω

4Ω 4Ω

4Ω
A B
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35) XmoZ dñVy Kf©Um‘wio à^marV hmoVmV,Va dñVy§Zm {‘iUmam à^ma ........ ‘wio AgVmo.
a) XmoÝhr dñVy§‘Yrb YZ à^mamVrb à{VH$f©Um‘wio
b) BboŠQ´m°Z Am{U àmoQ>m°Z`m§À`m gmnojJVr‘wio {Z‘m©U hmoUmè`m Mw§~H$s` joÌm‘wio
c) XmoÝhr dñVy§‘Ü ò à^mamMo àdV©Z Pmë`m‘wio
d) EH$m dñVydarb n¥ð>^mJmdê$Z Xwgè`m dñVyÀ`m n¥ð>^mJmda BboŠQ´m°ÝgMo ñWmZm§VaU Pmë`m‘wio

36) Imbrb n¡H$s H$moUVm nXmW© ŷg§n{H©$V H$aÊ`mgmR>r dmnaVm òD$ eH$Vmo?
a) Vm§~o b) a~a c) {g{bH$m°Z d) bmHy$S>

37) `mo½` OmoS>çm Owidm Am{U `mo½` CÎma emoYm.
1 à^ma a) Amoh‘
2 àdmh b) Hy$bmo‘
3 amoY c) ìhmoëQ>
4 {d^dm§Va d) A°ånrAa

a) 1- d,2-a,3-b,4-c b) 1-b,2-d,3-a,4-c
c) 1-b, 2-c, 3- a, 4-d d) 1-d, 2-b, 3- c, 4-a

38) CXmgrZ YmVyMm Jmob YZ à^marV H$mMoÀ`m Xm§S>çmÀ`m g§nH$m©V Amë`m‘wio, YmVy Jmobmbm ........
a) BboŠQ´m°Ýg {‘iVmV b) àmoQ>m°Ýg {‘iVmV
c) YmVy JmobmnmgyZ BboŠQ´m°Ýg Xya OmVmV d) YmVy JmobmnmgyZ àmoQ>m°Ýg Xya OmVmV.

39)  YmVy§‘Ü ò à^madmhH$ àmoQ>m°ÝgZgyZ BboŠQ´m°Ýg AgVmV, H$maU ..........
a) Ë`m§Mo dOZ H$‘r AgVo b) Vo H|$ÐH$mnmgyZ bm§~ AgVmV
c) Vo ~§Y V`ma hmoÊ`mÀ`m à{H«$ òV ^mJ KoVmV. d) {H$‘mZ ~bmZo ~ÜX AgVmV

40) EH$ A°ånrAa BVH$m àdmh EH$m dmhH$mVyZ dmhVmo, Ë`mdoir Ë`m dmhH$mVyZ .......
a) EH$ Á ẁb D$Om© EH$m  VmgmV dmhVo
b) XmoZ do~a âbŠg XmoZ {‘{ZQ>m§‘Ü ò dmhVmo
c) EH$ ìhmoëQ> EH$m VmgmV dmhVmo
d) EH$ Hy$bmo‘ à^ma EH$m goH§$XmV dmhVmo

41) Amnë`m Kam§‘Yrb Vmam§‘YyZ dmhUmam à^ma .........
a) CnH$aU gwê$ Ho$ë`mda VoWo V`ma hmoVmo.
b) D$Om© CJ‘mÀ`m ñWmZmV {Z‘m©U hmoVmV.
c) D$Om© CJ‘ñWmZmV V`ma hmoUm-`m {dÚwVD$O}‘wio dmhVmV.
d) Vo Amnë`m Kam§‘Yrb Vmam§‘Ü ò ApñVÎdmV AgVmVM.
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35) Two objects become charged due to friction, the charge on them is due to .........
a) The repulsion of positive charges in one object by the positive charges in the

               other object
b) Magnetic fields produced by the relative motion of electrons & protons.
c) The induction of charge in both objects.
d) The transfer of electrons from the surface of one object to the surface of the
    other object.

36) Which of the following can be used for earthing purpose?
a) Copper b) Rubber c) Silicon d) Wood

37)  Match the following pairs & choose correct answer.
1] Charge a) ohm
2] Current b) Coulomb
3] Resistance c) Volt
4] Potential difference d) Ampere

a) 1- d, 2-a,3-b,4-c b) 1-b,2-d,3-a,4-c
c) 1-b, 2-c, 3- a, 4-d d) 1-d, 2-b, 3- c, 4-a

38) When a neutral metal sphere is charged by contact with positively charged glass
       rod, the sphere.........

a) Gains electrons b) Gains protons
c) Loses electrons d) Loses protons.

39) Charge carriers in a metal are electrons rather than protons, because they are____.
a) Lighter in weight b) Far from nucleus
c) Participating in the bond formation. d) Loosely bound.

40) One ampere current is set to pass through a conductor when ........ flows in .........
a) One joule energy; one hour
b) Two waber flux; one minute
c) One volt; one hour
d) One coulomb charge; one second

41) The charges that flow through the wires in our homes .........
a) Are created when an appliance is turned on..
b) Are created at the power station.
c) They are driven by the electrical energy generated at power station.
d) Already exist in the wires at our homes.
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42)  ~mOyÀ`m narnWmV XmoZ amoY g§‘mVa nÜXVrZo OmoS>bo AmhoV, (R
1
=2R

2
)  Va àË òH$ amoYmer ........

      {d^dm§Va Agob.
a) amoY R

1
 À`m Odi 6V Va R

2
À`m Odi 12V BVHo$

b) amoY R
1
 À`m Odi 12V Va R

2
À`m Odi 6V BVHo$

c) 2: 3. 2 : 3  à‘mUmV
d) 12V BVHo$

43) 100 W, 220V j‘VoMo ghm ~ë~ EH$m {Xdgmbm 8 VmgmgmR>r dmnabo d 500W, 220V j‘VoMr Bór
    EH$m {XdgmV 30 {‘{ZQ>m§gmR>r dmnabr. Oa drOoMm Xa 2 én ò à{V ẁ{ZQ> BVH$m Agob, Va BVŠ`m
    dmnamgmR>r IM© H$m` Agob?

a) 9.6 à{V{Xdg
b) 8 à{V{Xdg
c) 10.10 à{V{Xdg
d) 17 à{V{Xdg

44) 1500 W j‘VoMo {dÚwV Cpî‘H$m 220V ómoVmbm EH$m VmgmgmR>r OmoS>br Agob, Va {H$Vr D$Om© dmnabr
     OmB©b?

a) 5.4 x 106 J
b) 3.6 x 106 J

c) 1.18 x 107 J

d) 5.4 x 107 J

45) 1000W, 220V j‘VoMo Hw§$S>b XmoZ g‘mZ VwH$S>çm§‘Ü ò H$mnbo. AmVm Ë`m Hw§$S>bmMo XmoÝhr ^mJ
    EH$‘oH$mg g‘m§Va nÜXVrZo OmoSy>Z, nduÀ`m ómoVmg OmoS>bo, Va `m ZdrZ àUmbr ‘Ü ò à{VgoH§$X {H$Vr D$Om©
    ~mhoa nS>ob?

a) 2000J

b) 250J

c) 4000J

d) 500J

46) 400W, 220V j‘VoMo Ho$Q>b Am{U VrZ 100 W, 220V j‘VoMo ~ë~ Oa g‘m§Va OmoS>Ur ‘Ü ò OmoS>bo.
hr àUmbr dmhH$mg OmoS>br Amho Va ‘w»`dmhH$m‘YyZ {H$Vr {dÚwVYmam IoMbr OmB©b?

a) 4.2 A
b) 3 A
c) 3.5 A
d) 3.18 A

12V
R

2
R

1
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42)The circuit diagram shows two resistors are in parallel connection, whereR1 =2
     R2.What will be the voltage drop across each resistor.

a) 6 V across R
1
& 12 V across R

2

b) 12 V across R
1
& 6 V across R

2

c) In proportion to 2: 3

d) 12 V across each resistor

43) Calculate the cost of lighting 100 W, 220V six electric bulbs for 8 hours a day &
     500W, 220V electric iron is used for 30 minutes a day. The rate of electricity is Rs.
      2 per unit

           a)  Rs. 9.6 per day

b) Rs. 8 per day

c) Rs. 10.10 per day

d Rs. 17 per day

44) An electric heater of 1500 W is connected to 220 V mains for 1 hour. How much
     energy has been consumed by it? ?

a) 5.4 x 106 J

b) 3.6 x 106 J

c) 1.18 x 107 J

d) 5.4 x 107 J

45) A coil of 1000 W, 220V cut into two same pieces. Then they are connected in parallel to
     the same source. Calculate energy liberated per second in new combination.

a) 2000J

b) 250J

c) 4000J

d) 500J

46) 400 W, 220V kettle & three 100W, 220V bulbs are connected in parallel. This
system is connected to mains. The total current drawn from mains will be ........

a) 4.2 A

b) 3 A

c) 3.5 A

d) 3.18 A

12V
R2R1
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47) ~ë~Mr àIaVm H$‘r hmoÊ`mgmR>r amoY .........
a) g‘m§Va OmoS>Ur ‘Ü ò OmoS>bm AgVm.
b) EH$ga OmoS>Ur‘Ü ò OmoS>bm AgVm.
c) OmoS>bm ZgVm.
d) H$mT>bm AgVm.

48) 100 W, 220V Mm EH$ ~ë~, 250V, 220V À`m Xwgè`m ~ë~ ~amo~a g‘m§Va OmoS>Ur‘Ü ò OmoS>bm
     AgVm, H$moUVm ~ë~ OmñV àH$me‘mZ hmoB©b?

a) 100V

b) 250V

c) XmoÝhr ~ë~ EH$g‘mZ Vrd«VoZo àH$me‘mZ hmoVrb.
d) Ë`m ~ë~‘YyZ {H$Vr {dÚwVYmam dmhVo, `mda Adb§~yZ Amho.

49) Imbr Xe©{dboë`m {dÚwV n[anWmV P Am{U Q `m§À`m‘Yrb à^mdr amoY {H$Vr?

a) 15  b) 15/8

c) 8/15  d) 3/2 

50) àË òH$s 60 W eº$s Xa AgUmao VrZ {dÚwV {Xdo EH$ga OmoS>UrZo 220 V {d^dm§Vambm OmoS>bo AmhoV. Va
    EHy$U dmnabm OmUmar eº$s.......... BVH$s Agob.

a) 180 W  b) 20 W c) 30 W  d) 60 W

51)Ooìhm .................. Voìhm ‘ybÐì` ~XbVr g§̀ yOm XmIdVo.
a) AUy‘Ü ò àmoQ>m°ÝgMr Am{U BboŠQ´m°ÝgMr g§»`m g‘mZ AgVo
d) eodMÀ`m H$jo‘Ü ò Agboë`m BboŠQ´m°ÝgÀ`m D$O}V WmoS>mM ’$aH$ AgVmo
c) eodQ>À`m XmoZ H${jH$m§‘Ü ò Agboë`m BboŠQ´m°ÝgÀ`m D$O}V WmoS>mM ’$aH$ AgVmo
d) H$jm hr BboŠQ´m°ÝgZr ~amo~a, AYu qH$dm nyU© ^abobr Agob

52) EH$m YmVyÀ`m H$m~m}ZoQ>Mo aoUygyÌ MCO3 Ago Amho. Va Ë`mÀ`m ’$m°ñ’o$Q>Mo aoUygyÌ H$m` Agob.
     a) MPO

4
          b) M

2
PO

4
c) M

3
( PO

4 
)

2
               d) M

3
PO

4

53) Na
2
CrO

4
 `m g§̀ wJmMo Zmd H$m` ?

a) gmo{S>`‘ H«$mo{‘A‘ Am°ŠgmB©S>  b) gmo{S>`‘ H«$mo‘oQ>
c) gmo{S>`‘ S>m`H«$mo‘oQ>  a) gmo{S>`‘ H«$mo‘mB©Q>
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47) The brightness of the bulb reduces, if resistance is ______

a) Connected in parallel.

b) Connected in series. .

c) Not connected. .

d) Removed.

.

48) If two bulbs 100 W, 220 V & 250W, 220V are connected in parallel, which bulb
      will glow brighter?

a) 100W

b) 250W

c) Both bulbs will glow with same intensity.

d) Depends upon current passing through it.

49) In the electrical circuit shown below what is the effective resistance between P and
      Q?

a) 15  b) 15/8 

c) 8/15  d) 3/2 

50) If three bulbs of rating 60 W 220V each are connected in series to the voltage
      source of 220V. The total power used will be ……

a) 180 W b) 20 W c) 30 W d) 60 W

51) An element shows variable valency when  -------------
a) the atom contains equal number of protons and electrons
b) the electrons in the last orbit differ by a small energy.
c) the electrons in the last two orbitals differ by a small energy
d) the orbits are exactly half filled or completely filled by electrons

52) The molecular formula of carbonate of a metal is MCO3. What will be the formula
    of its phosphate ?

a) MPO
4
          b) M

2
PO

4
c) M

3
( PO

4 
)

2
               d) M

3
PO

4

53) What is the name of the compound Na2CrO4?
a) Sodium chromium oxide b) Sodium chromate
c) Sodium dichromate d) Sodium chromite
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54) ‘|{bìhÀ`m AmdVu {Z`‘ XwéñV H$aUo Amdí`H$ R>abo, H$maU ..........
a) ‘ybÐì`mMm AUŵ mam§H$ hm pñWa JwUY‘© ZìhVm.
b) ‘ybÐì`mMm AUwA§H$ hm pñWa JwUY‘© ZìhVm.
c) AmdV©gmaUr‘Ü ò ‘moH$ù`m OmJm hmoË`m
d) hm`S´moOZMr OmJm dmXJ«ñV hmoVr.

55) IUPAC àUmbr à‘mUo, AmYw{ZH$ AmdV© gmaUr‘Yrb JQ > .......... AmH$S>o dmnê$Z XmIdbo OmVmV.
a) amo‘Z b) Aao{~H$ c) B§J«Or d) O‘©Z

56) Imbrbn¡H$s H$moUVm ‘wÔm hm, AmYw{ZH$ AmdV©gmaUr‘Yrb Xmof Amho ?
a) ‘ybÐì`mMo dJuH$aU ho AUwA§H$ `m nm`m ŷV JwUY‘m©da AmYm[aV Amho.
b) ‘ybÐì`m§Mr AmdV©gmaUr‘Yrb OmJm Ë`m§À`m BboŠQ´m°Zr g§ê$nUmer {ZJS>rV Amho.
c) AUyÀ`m ~møV‘ H$joVrb BboŠQ´m°ÝgMr g§»`m hr Ë`m ‘ybÐì`mÀ`m JQ>mMr g§»`m Xe©{dVo
d) {Xboë`m AmdVuV JQ> 8 ‘Ü ò VrZ ‘ybÐì ò AmhoV.

57) AYmVw‘Ü ò {dÚwVF$UVoMm `mo½` H«$‘ H$moUVm ?
    a) Si  > P > S >Cl        b) Si < P < S <Cl         c) S > P >  C > Si      d) P < S <  Si <Cl

58) `mo½` Vo {dYmZ {ZdS>m
a) gmo{S>A‘À`m AUyMr {ÌÁ`m hr gmo{S>A‘À`m Am`ZÀ`m {ÌÁ ònojm bhmZ AgVo.
b) AmYw{ZH$ AmdV©gmaUr‘Ü ò nmMì`m AmdVm©V 32 ‘ybÐì ò AmhoV.
c) AmdV©gmaUrVrb IA `m JQ>mV gdm©V hbHo$ ‘ybÐì` ’«°$pÝgA‘ Amho.
d) AmdV©gmaUr‘Ü ò âbwAmo[aZ ho gdm©V CÎm‘ Am°pŠgOrH$maH$ ‘ybÐì` Amho.

59) AmdV©gmaUr‘Ü ò AmdVm©V S>mdrH$Sy>Z COdrH$S>o OmVmZm H$b XmIdÊ`mg§~§Yr Hw$R>bo {dYmZ ~amo~a Zmhr ?
a) ‘ybÐì`m§Mm YmpËd` JwUY‘© H$‘r hmoV OmVmo.
b) g§̀ wOm BboŠQ´m°ÝgMr g§»`m dmT>V OmVo.
c) AUy Ë`m§Mo BboŠQ´m°Ýg OmñV ghOVoZo J‘dVmV
d) Am°ŠgmB©S>g² OmñV AmåbY‘u hmoV OmVmV

60) Imbrbn¡H$s H$moUVo YmVwH$ ho bmohmMo YmVwH$ Zmhr ?
a) ho‘Q>mBQ> b) ‘°¾oQ>mB©Q> c) {b‘moZmB©Q> d) S>mobmo‘mB©Q>

61) Imbrbn¡H$s H$moUVr nÕV YmVwH$mMo g§hVrH$aU H$aÊ`mMr ^m¡{VH$ nÕV Amho?
a) ^mOUo b) {ZñVmnZ
c) {dÚwV AnKQ>Zr jnU d) ’o$ZVaU
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54) Mendeleev’s periodic law had to be corrected because ----------
a) atomic weight of an element was not a fixed property
b) atomic number  of an element was not a fixed property
 c) there were gaps in the periodic table.
 d) position of hydrogen was debatable.

55) According to IUPAC system, groups in the modern periodic table are shown by  ----
     numericals.

a) Roman              b) Arabic            c) English                 d) German

56) Which of the following points is  a drawback of the modern periodic table ?
     a) The classification of the elements is based on a fundamental property i.e. atomic

number
     b) The position of an element in the periodic table is related to its electronic

configuration.
     c) The number of electrons in the outermost shell of an atom represents the group

number of the element.
 d) Group 8 contains three elements in a given period. .

57) In the non-metals, which is the correct order of electronegativity?
   a) Si  > P > S >Cl        b) Si < P < S <Cl         c) S > P >  C > Si      d) P < S <  Si <Cl

58) Choose the correct statement
a) The radius of sodium atom is less than that of sodium ion.
b)  In the modern periodic table, fifth period contains 32 elements.
c) The lightest element in group IA in the periodic table is francium
d) Fluorine is the best elemental oxidizing agent in the periodic table.

59)Which of the following statements is not  correct about the trends while going from
     left to right across the period in the periodic table ?

a) The elements become less metallic in nature.
b) The number of valence electrons increases.
c) The atoms lose their electrons more easily.
d) The oxides become more acidic.

60) Which of the following ores is not an ore of iron ?
a) Haematite              b) Magnetite          c) Limonite                d) Dolomite

61) Which of the following methods is a physical method for concentration of an ore ?
a) roasting b) calcination
c) electrolytic reduction d) froth floatation
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62) H
2
S Imbrbn¡H$s H$moUVm JwUY‘© XmIdVmo ?
a) Vmo boS> A°{gQ>oQ> H$mJX H$mim H$aVmo.
b) Vmo hiXrMm Amobga H$mJX bmb H$aVmo.
c) Vmo ñQ>mM© Am`moS>mB©S> H$mJX {Zim H$aVmo.
d) Vmo Amobga {Zim {bQ>‘g H$mJX bmb H$aVmo.

63) Šbmo[aZ dm ỳ Agboë`m n[ajm ZirÀ`m Vm|S>mer Amobga ñQ>mM© Am`moS>mB©Z H$mJX Yabm, Va ñQ>mM©
     Am`moS>mB©Z H$mJX ............ hmoB©b.

a) {hadm b) {ndim c) H$minQ>-{Zim d) bmb

64) Fe
2
O

3 
 + 2 Al      →     Al

2
O

3 
  +  2Fe

 da {Xbobr A{^{H«$`m ho ............. A{^{H«$ òMo CXmhaU Amho.
a) g§̀ moOZ b) {ÛAnKQ>Z c) AnKQ>Z d) {dñWmnZ

65) EH$ M‘H$Umao Vn{H$ar a§JmMo ‘ybÐì` X hdoV Vrd«VoZo Vmndbo AgVm H$mio ~ZVo. Imbr {Xboë`m
     {MÝhm§dê$Z Am{U gyÌm§dê$Z X `m ‘ybÐì`mMo {MÝh Am{U V`ma Pmboë`m H$mù`m g§̀ wJmMo gyÌ gm§Jm.

a) Al Am{U Al2O3 b) Cu Am{U CuO

c) Fe Am{U Fe
2
O

3
d) Zn Am{U ZnO

66) Imbrbn¡H$s H$moUVo g§̀ wJ g‘mdoer A{^{H«$`m XmIdob ?
    a)  CH

4
                    b) C

2
H

6  
c) C

3
H

6
                       d) C

4
H

10

67) Imbrbn¡H$s g‘rH$aUmVrb CO>ì`m ~mOyÀ`m CËnmXm§Mo JwUH$ `mo½` Ë`m H«$‘mZo {bhm.

    2 KMnO
4
  + 3 H

2
SO

4
  +  5 H

2
S   →   K

2
SO

4
  +  MnSO

4
  +  H

2
O   +  S

a) 5,8,2,1 b)  5,2,1, 8
c) 2,5,8,1 d) 1,2,8,5

68) ‘|S>o{bìhÀ`m AmdV©gmaUrÀ`m g§X^m©V, Imbrbn¡H$s H$moUVo {dYmZ gË` Zmhr ?
A) EH$mM JQ>mVrb ‘ybÐì ò gmaIoM amgm`{ZH$ JwUY‘© XmIdV hmoVo.
b) AmdV©gmaUr‘Ü ò [aH$må`m OmJm hmoË`m
c) b±WoZmB©Sg²Zm AmdV©gmaUrÀ`m ‘w»` AmamIS>çmÀ`m Imbr OmJm XoÊ`mV Ambr hmoVr.
d) AmdV©gmaUr‘Ü ò gd©Ì ‘ybÐì`m§Mr ‘m§S>Ur AUŷ mam§H$m§À`m MT>Ë`m H«$‘mZo Ho$br Jobr hmoVr.
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62) Which of the following properties is shown by H2S gas?

a) it turns lead acetate paper black

b) it turns moist turmeric paper red

c) it turns starch iodide paper blue

d) it turns moist blue litmus  paper red

63) Moist starch iodide paper is put on the mouth of a test tube containing chlorine gas.

    The starch iodide paper will become  ------------

    a) green            b) yellow                  c) blue – black               d) red

64) Fe2O3  + 2 Al   →     Al2O3   +  2Fe

    The above reaction is an example of    ------------   reaction.

a) combination                                 b) double decomposition

c) decomposition d) displacement

65) A shiny brown coloured element X on heating strongly in air becomes black in colour.

    State the symbol of X and the formula of the black coloured  compound formed.

a) Al and Al
2
O

3
b) Cu and CuO

c) Fe and Fe2O3 d) Zn and ZnO

66) Which of the following compounds will show addition reaction ?

a)  CH
4
                    b) C

2
H

6
c) C

3
H

6
                       d) C

4
H

10

67) Write the coefficients of  the  right hand side products of the equation  in the correct
      sequence.

      2 KMnO
4
  + 3 H

2
SO

4
  +  5 H

2
S    →  K

2
SO

4
  +  MnSO

4
  +  H

2
O   +  S

 a) 5,8,2,1               b)  5,2,1, 8               c) 2,5,8,1              d) 1,2,8,5

68) With reference to Mendeleev’s periodic table, which of the following statements is
       not correct ?

a) Elements in the same group showed similar chemical properties.

b) There were gaps in the table.

c) Lanthanides were kept below the main body of the periodic table.

d) Elements were arranged in the increasing order of atomic weights throughout

     the table
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69)  AmdV©gmaUrVrb AmdVm©‘Ü ò ‘ybÐì`mMm {dÚwVYZ JwUY‘© H$‘r H$‘r hmoV OmVmo, H$maU .......
a) H|$ÐH$mMr ~møV‘ H$joVrb BboŠQ´m°Ýg daMr nH$S> dmT>V OmVo Am{U Ë`m‘wio Vo BboŠQ´m°Ýg MQ>H$Z
    J‘mdbo OmV ZmhrV.
b) H|$ÐH$mMr ~møV‘ H$joVrb BboŠQ´m°Ýg daMr nH$S> H$‘r hmoV OmVo Am{U Ë`m‘wio Vo BboŠQ´m°Ýg MQ>H$Z
    J‘mdbo OmV ZmhrV.
c) ~møV‘ H$jo‘Ü ò BboŠQ´m°Ýg bmJmonmR> ^abo OmVmV
d) AmdVm©‘Ü ò ‘ybÐì`mMr A{^{H«$`merbVm dmT>V OmVo.

70) AmdV©gmaUr‘Ü ò hm`S´moOZ ...........  `m§À`m gmaIo JwUY‘© XmIdVmo.
a) AëH$‘¥XmYmVy Am{U MmbH$moOoÝg b) AëH$YmVy Am{U h°bmoOÝg
c) àê$nr Am{U goVy ‘ybÐì ò d) H$m~©ZÀ`m JQ>mVrb ‘ybÐì ò

71) Imbrbn¡H$s H$moUVo {dYmZ `mo½` Amho ?
a) AUy OodT>m bhmZ VodT>r Ë`mMr {dÚwVF$UVm H$‘r
b) AUy OodT>m bhmZ VodT>r Ë`mMr Am`ZZ D$Om© H$‘r
c) AUy OodT>m bhmZ VodT>r Ë`mMr BboŠQ´m°Z Amgº$s OmñV
d) AUy OodT>m bhmZ VodT>o Ë`mMm YmËdr` JyUY‘© OmñV

72) AmYw{ZH$ AmdV©gmaUr‘Ü ò, {Vgè`m AmdVm©V, AmnU Ogo S>mdrH$Sy>Z COdrH$S>o OmD$ Vgo Am`ZZ {d^d.......
a) daImbr hmoVo b) H$‘r hmoVo c) dmT>V OmVo d) VodT>oM amhVo

73) Imbr EH$ A{^{H«$`m {Xbr Amho.
 S + 2 H

2
SO

4
  →   3 SO

2
  +  2 H

2
O  `m A{^{H«$ ò‘Ü ò H

2
SO

4
Mr ŷ{‘H$m H$moUVr ?

a) Amåb åhUyZ b) Am°pŠgOrH$maH$ åhUyZ
c) jnUH$ åhUyZ d) {dñWmnH$ åhUyZ

74) [A] `m ÐmdUmV gmo{S>A‘ hm`S´moŠgmB©S>Mo ÐmdU KmVbo AgVm nm§T>am Adjon {‘iVmo hm Adjon {dnwb
    à‘mUmV KmVboë`m gmo{S>A‘ hm`S´moŠgmB©S>‘Ü ò {daKiV Zmhr [A] `m ÐmdUmV Agbobm YmVy Mm Am`Z
    H$moUVm ?

a) Zn 2+  b) Ca2+ c) Al3+ d) Fe2+

75) EH$ dm ỳ Imbrb A{^{H«$`m XmIdVmo
A) Vmndbm AgVm Ë`mVyZ Oiboë`m gë’$aMm dmg òVmo.
B) hm dm ỳ nmoQ>°{eA‘ na‘±JZoQ>À`m ÐmdUmbm a§JhrZ H$aVmo
C) hdoV Vmndbm AgVm Ë`m dm ỳMo Am°pŠgS>rH$aU hmoVo
D) Vm§~o Am{U gh§V gëâ ỳ[aH$ Amåb `m§À`m A{^{H«$ òVyZ hm dm ỳ V`ma H$aVm òVmo.
Va hm dm ỳ ....... Agbm nm{hOo

        a) H
2
S                 b) SO

3                
c) SO

2
              d) NH

3
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69) Electropositive character of an element goes on decreasing across the period in the
       periodic table because -----------

a) hold of the nucleus on the outermost electrons increases and hence they are not
    lost  easily.
b) hold of the nucleus on the outermost electrons decreases and hence they are not

               lost easily.
c) number of electrons are successively added to the last shell.
d) reactivity of the elements goes on increasing across the period.

70) Hydrogen shows properties similar to  ------------    in the periodic table
    a) alkaline earth metals and chalcogens b) alkali metals and  halogens
    c) typical elements and bridge elements d) carbon group elements

71) Which of the following statements is correct ?
a) Smaller the atom, smaller is the electronegativity.
b) Smaller the atom, smaller is the ionization potential.
c) Smaller the atom, greater  is the electron affinity.
d) Smaller the atom, greater  is the metallic character.

72) In the modern periodic table, as we go from left to right in the third period, the
      ionization potential --------------

a) goes up and down b) decreases
c) increases d) remains the same

73) A reaction is given below.
      S + 2 H2SO4  →   3 SO2  +  2 H2O     What is the role of H2SO4  in this reaction ?

 a) as an acid                                            b) as an oxidizing agent
c) as a reducing agent                             d) as a displacing agent

74) Sodium hydroxide solution is added to solution [ A ] then a white precipitate is
       formed. This precipitate is insoluble in excess of sodium hydroxide solution. What is
      the metal ion present in [A] ?

a) Zn 2+ b) Ca2+                   c) Al3+ d) Fe2+

75) A gas shows following reactions.
A) When heated, it gives a smell of burnt sulphur
B) The gas decolourises solution of potassium permanganate.
C) The gas is oxidized in air on heating.
D) The gas can be prepared by the reaction between copper and conc. H

2
SO

4

         The gas must be  -------------
 a) H

2
S                 b) SO

3                
c) SO

2
              d) NH

3
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76) Imbr {Xboë`m A{^{H«$ òÀ`m g§X^m©V H$moUVo {dYmZ `mo½` R>aob ?
 2PbO (s)  +  C (s)  →    2 Pb (s)  +  CO2(g)
a) {eemMo jnU Pmbo b) boS> S>m`Am°ŠgmBS>Mo jnU Pmbo
c) H$m~©Z S>m`Am°ŠgmBS>Mo Am°pŠgS>rH$aU Pmbo d) H$m~©ZMo jnU Pmbo

77) MwÝ`mÀ`m {ZdirÀ`m ÐmdUmV Oa {dnwb à‘mUmV H$m~©ZS>m`Am°ŠgmB©S>Mo dhZ Ho$bo Va ..............
a) nm§T>am Adjon V`ma hmoB©b
b) àW‘ Adjon V`ma hmoB©b Am{U Z§Va ñdÀN> ÐmdU V`ma hmoB©b
c) MwÝ`mÀ`m {ZdirÀ`m ÐmdUmda H$mhrhr n[aUm‘ hmoUma Zmhr
d) {da§OH$ MyU© V`ma hmoB©b

78) EH$m A{^{H«$ ò‘Ü ò 5.3 J«°‘ gmo{S>`‘ H$m~m}ZoQ>Mr A{^{H«$`m 6.0 J«°‘  A°{gQ>rH$ Amåbm~amo~a Pmbr.
    CËnmXm§‘Ü ò 2.2 J«°‘ H$m~©Z S>m`Am°ŠgmB©S>, 0.9 J«°‘ nmUr Am{U 8.2 J«°‘ gmo{S>`‘ A°{gQ>oQ> {‘imbo hr
    {ZarjUo ............. {Z`‘mà‘mUo Amho.

a) ì`ñV à‘mUmÀ`m b) Jw{UV à‘mUmÀ`m
c) {Z{üV à‘mUmÀ`m d) D$Om© Ajæ`VoÀ`m

79) AmYw{ZH$ AmdV©gmaUr‘Ü ò H°$pëeA‘ (AUy A§H$ 20) À`m g^modVmbr 12,19,21 Am{U 38 ho AUy A§H$
    Agbobr ‘ybÐì ò AmhoV. `mn¡H$s H$moUË`m ‘ybÐì`mMo ^m¡{VH$ Am{U amgm`{ZH$ JwUY‘© H°$pëeA‘ gmaIo
     AmhoV ?
    a)  12               b)  19                    c) 21                      d)  38

80) à`moJemioV {dadbobm MwZm Am{U ŠbmoamB©S> dmnê$Z Á`m doir A‘mo{Z`m dm ỳ V`ma H$aVmV, Ë`m doir Á`m
    nmÌmV Vr A{^{H«$`m hmoVo Vo nmÌ WmoS>ogo {Vano H$ê$Z R>odVmV H$maU ............

a) {dadbobm MwZm hm NaOH qH$dm KOH gmaIm AmÐ©{dÐmì` Zmhr.
b) Ë`m‘wio A‘mo{ZA‘ ŠbmoamB©S>Mr g§ßbdZmZo hmoUmar hmZr ^ê$Z {ZKVo.
c) A{^{H«$`m Mmby AgVmZm V`ma hmoUmao nmUr W|~mÀ`m ê$nmV nwZ… Ja‘ nmÌmV nSy> Z ò d Vo nmÌ VS>Hy$
    Z ò.
d) A‘mo{Z`m dm ỳ ghOVoZo ~mhoa `mdm Am{U ewîH$Z ñV^m§V Ë`mMo ghOJË`m dhZ ìhmdo.

81) AmdV© gmaUr‘Ü ò ‘ybÐì`m§Mr ‘m§S>Ur H$aÊ`mgmR>r "{ÌH$mMm {Z`‘' H$moUr gm§{JVbm ?
a) Om°Z S>mëQ>Z b) Om°Z Ý ỳb±S> c) S>mo~oam`Za d) ‘|S>obrd

82) Imbrbn¡H$s H$moUVr Ý ỳb±S>À`m AmdV© gmaUrMr d¡{eï>` AmhoV ?
a) Ý ỳb±S> ’$º$ H°$pëe`‘n ª̀V ‘wbÐì`m§Mr ‘m§S>Ur H$ê$ eH$bm,
b) Ý ỳb±S>Zo JwUY‘© doJio AgUmè`m XmoZ ‘ybÐì`m§Zm EH$mM OmJr R>odbo.
c) `m gmaUr‘Ü ò {ZpîH«$` dm ẁ§Mm g‘mdoe ZìôVm.
d) darb gd©
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76) Which of the following statements about the reaction given below is correct?
     2PbO (s)  +  C (s)  →     2 Pb (s)  +  CO

2
(g)

a) Lead is reduced b) Lead oxide is reduced
c) Carbon dioxide is oxidized d) Carbon is reduced

77) When excess of carbon dioxide gas is passed through a solution of lime water -------
a) a white precipitate is formed.
b) first a white precipitate is formed and then a clear solution is formed.
c) there is no effect on lime water.
d) bleaching powder is formed.

78) In a reaction, 5.3 g of sodium carbonate reacted with 6.0 g of acetic acid.
   The products were 2.2 g of carbon dioxide, 0.9 g of water and 8.2 g of sodium acetate.

      These  observations are in agreement with the law of  --------
a) reciprocal proportions               b) multiple proportions
c) definite proportions                   d) conservation of energy.

79) In the modern periodic table, calcium, atomic number 20, is surrounded by elements
      with atomic numbers 12,19,21 and 38. Which of these elements have physical and
      chemical properties similar to calcium?

a)  12               b)  19                    c) 21                      d)  38

80) In the laboratory preparation of ammonia gas using slaked lime and ammonium
      chloride, the flask in which the reaction occurs is kept inclined because  ----------

a) slaked lime is not deliquescent like NaOH or KOH
b) it counteracts the loss of ammonium chloride due to sublimation
c) any water formed during the reaction does not trickle back into the hot flask
     and  cause it to crack
d) ammonia gas should come out easily and pass on to the drying tower

81) Who enunciated the "law of triad" in order to arrange the elements in the periodic
      table ?

a) John Dalton b) John Newland
c) Dobereiner d) Mendeleev

82) Which of the following are features of Newland’s periodic table ?
a)Newland could arrange elements only up to calcium.
b) Newland placed two elements in the same position which differed in their

               properties.
c)This table does not include inert gases
d) all above.
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83) ^m{H$V Ho$bobo ‘ybÐì` EH$m-A°ë ẁ{‘{Z`‘ Ë`mÀ`m g§emoYZmZ§Va ........ åhUyZ AmoiIbo OmVo.
a) ñH±${S>`‘ b) J°{b`‘ c) A°ë ẁ{‘{Z`‘ d) O_}{Z`‘

84) ‘|S>obrdÀ`m AmdV© gmaUr‘Ü ò Imbrbn¡H$s H$moUVo ‘wbÐì` AUy ^mam§H$ OmñV AgyZhr H$‘r AUy ^mam§H$
     Agboë`m ‘wbÐì`mÀ`m AmYr ‘m§S>bo Amho ?

a) H$mo~mëQ> {ZHo$bÀ`m AmYr ‘m§S>bo Amho.
b) {ZHo$b H$mo~mëQ>À`m AmYr ‘m§S>bo Amho.
c) ‘±Jo{ZP h°bmoOoZÀ`m AmYr ‘m§S>bo Amho.
d) h°bmoOoZ ‘±Jo{ZPÀ`m AmYr ‘m§S>bo Amho.

85) AmYw{ZH$ AmdV© gmaUr‘Ü ò 17 ì`m JQ>mV ........ AmhoV.
a) AëH$br YmVy b) AëH$bmBZ ‘¥Xm YmVy
c) {ZpîH«$` dm ỳ d) h°bmoOoZ

86) AmYw{ZH$ AmdV© gmaUr‘Ü ò 3 Vo 12 `m JQ>mV ........ AmhoV.
a) {ZpîH«$` dm ỳ b) g§H«$m‘H$ ‘ybÐì`
c) b±WoZmB©S²g d) AëH$br YmVy

87) g§̀ wOoÀ`m ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ gË` Amho ?
a) Xwgè`m d {Vgè`m AmdV©ZmV S>mdrH$Sy>Z COdrH$S>o g§̀ wOm 4 Vo 1 H$‘r hmoV OmVo d Z§Va 0 Vo 4

            dmT>V OmVo.
b) Xwgè`m d {Vgè`m AmdV©ZmV S>mdrH$Sy>Z COdrH$S>o g§̀ wOm 1 Vo 4 dmT>V OmVo d Z§Va 4 Vo 1 H$‘r

            hmoV OmVo.
c) H$moUË`mhr JQ>mV g§̀ wOm dê$Z Imbr dmT>V OmVo.
d) gd© AmdV©ZmV g§̀ wOm g‘mZ AgVo.

88) AUyÀ`m AmH$mam~m~V Imbrbn¡H$s H$moUVo {dYmZ gË` Amho ?
a) H$moUË`mhr JQ>mV AUy {ÌÁ`m dê$Z Imbr dmT>V OmVo.
b) H$moUË`mhr JQ>mV AUy {ÌÁ`m dê$Z Imbr H$‘r hmoV OmVo.
c) H$moUË`mhr JQ>mV AUy {ÌÁ`m dê$Z Imbr àW‘ dmT>V OmVo d Z§Va H$‘r hmoV OmVo.
d) H$moUË`mhr AmdV©ZmV AUy {ÌÁ`m S>mdrH$Sy>Z COdrH$S>o dmT>V OmVo.

89) ñQ´m°pÝe`‘Mm g‘mdoe ......... ‘Ü ò Amho.
a) 5 dm JQ> Am{U Xwgam AmdV© b) 5 dm AmdV© Am{U Xwgam JQ>
c) 4 Wm JQ> Am{U Xwgam AmdV© d) 4 Wo AmdV© Am{U 1A JQ>



- 43 -

83) Predicted element Eka- aluminium is known as ......... after it is discovered.
a) Scandium b) Gallium
c) aluminillum d) Germanium.

84) In Mendeleev’s periodic table which of the following element with higher atomic
      mass number has been placed before an element of lower mass number ?

a) Cobalt is placed before nickel.

b) Nickel  is placed before cobalt.
c) Manganese is placed before halogen.

d) halogen is placed before Manganese.

85) Group 17 in modern periodic table contains ...........

a) alkali metals. b) alkaline earth metals.
c) inert gases. d) halogens.

86) In the modern periodic table groups 3 to 12 contain ...........
a) noble elements. b) transition elements.

c) lanthanides. d) alkali metals.

87) Which of the following statements is true about valency?

a) Valency decreases from 4 to 1 for the second and third period and then increases
              from 0 to 4 from left to right.

b) Valency increases from 1 to 4 for the second and third period and then decreases
              from 4 to 0 from left to right.

c) Valency increases in a group from top to bottom.

d) All the periods have the same valency.

88) About Atomic Size which of the following statements is true?
a) Atomic radius increases in a group from top to bottom.
b) Atomic radius decreases in a group from top to bottom.

c) Atomic radius first  increases and then decreases  in a group from top to bottom.
d) Atomic radius increases in a period from left to right.

89) Strontium is included in ..........
a) 5 th group and 2 nd period b) 5 th period and 2nd group

c) 4 th group and 2 nd  period d) 4th period and 1st A group.
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90) g§Vw{bV amgm`{ZH$ g‘rH$aU AmoiIm.
a) SO2  +  H2S   →  S  +  H2O
b) SO

2 
 + 2 H

2
S  →  S  +  H

2
O

c) 2SO2  +  2H2S   → 2S  +  H2O
d) SO

2  
+  2H

2
S   →  S  + 2H

2
O

91) n`m©daUmVrb H$m~©Z S>m`Am°ŠgmBS> Am{U hdoVrb ~mîn `m§Mr A{^{H«$`m hmoD$Z ....... V`ma hmoVo
a) H$m~m}{ZH$ Amåb b) gë’w$[aH$ Amåb
c) Ago{Q>H$ Amåb d) Zm`{Q´H$ Amåb

92) NaOH  + H
2
O  ho ........ Mo CXmhaU Amho

a) Cî‘mJ«hr à{H«$`m b) Cî‘mXm`r à{H«$`m
c) g§̀ moJ à{H«$`m d) jnU à{H«$`m

93) VÝ`Vm åhUOo
a) ~marH$ VmaoV énm§Va H$aVm òÊ`mMr YmVyMr j‘Vm
b) nmVi nÍ`mV énm§Va H$aVm òÊ`mMr YmVyMr j‘Vm
c) bhmZ H$Um§V énm§Va H$aVm òÊ`mMr YmVyMr j‘Vm
d) {dÚwV dhZ j‘Vm

94) YmVy : Vm§~o :: YmVygÑe : .....
a) OñV b) H$m~©Z c) Ag}{ZH$ d) AaJm°Z

95) ..........hm gdm©V OmñV A{^{H«$`merb YmVy Amho.
a) gmo{S>`‘ b) nmoQ>°{e`‘ c) ‘°¾oer`‘ d) Am°a‘

96) YmVwH$mxnmgyZ YmVy§Mo ewÕ ñdénmV {ZîH$f©U H$aÊ`mÀ`m {H«$ òbm ....... åhUVmV.
a) {dVi{dUo b) ^mOUo c) ewÕrH$aU d) YmVw{dkmZ

97) Vm§ã`mMo jaU åhUOo
a) H$m°na Am°ŠgmB©S> V`ma hmoUo b) H$m°na gë’$mB©S> V`ma hmoUo
c) H$m°na H$m~m}ZoQ> V`ma hmoUo d) H$m°na hm`S´moŠgmB©S> V`ma hmoUo

98) {dÚwV dhZ Z H$aÊ`mÀ`m AYmVy§À`m JwUY‘m©bm........... AndmX Amho.
a) H$m~©Z b) J«°’$mBQ> c) gë’$a d) qPH$
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90) Identify the balanced chemical equation.

a) SO2  +  H2S   →  S  +  H2O

b) SO
2 
 + 2 H

2
S  →  S  +  H

2
O

c) 2SO
2
  +  2H

2
S  → 2S  +  H

2
O

d) SO2  +  2H2S   →  S  + 2H2O

91) Atmospheric carbon dioxide reacts with water vapours to form

a) Carbonic acid b) Sulphuric acid

c) Acetic acid d) Nitric acid

92) NaOH  + H
2
O  is an example of

a) Endothermic process b) Exothermic  process

c) Combination reaction d) Reduction reaction

93) Ductility means

a) Ability to form long wires b) Ability to form thin sheets

c) Formation of small particles d) Ability to conduct electricity

94) Metal : Copper  ::  Metalloid :  …….

a) Zinc b) Carbon c) Arsenic d)Argon

95) ………. is most reactive metal.

a) Sodium b) Potassium c) Magnesium d) Aurum

96) Process of obtaining pure metal from its ore is called

a) Melting b) Roasting c) Purification d) Metallurgy

97) Corrosion of copper is formation of

a) Oxide of copper

b) sulphide of copper

c) Carbonate  of copper

d) Copper hydroxide

98) The exception non conductance of non-metal is

a) Carbon b) Graphit c) Sulphur d) Zinc
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99) YmVy Am{U AYmVy  A{^{H«$ òZo ......... V`ma hmoVmV.
a) ghg§̀ wO g§̀ wJ b) gh~ÕVm g§̀ wJ
c) Am`{ZH$ g§̀ wJ d) gd© àH$maMr g§̀ wJo

100) {ZñWmnU à{H«$`m åhUOo
a) gë’$mB©S> YmVwH$m§Mo Am°ŠgmB©S> YmVwH$m§‘Ü ò énm§Va
b) H$m~m}ZoQ> YmVwH$m§Mo ‘`m©{XV hdoV Am°ŠgmB©S> YmVwH$m§‘Ü ò énm§Va
c) H$m~m}ZoQ> YmVwH$m§Mo ‘moH$ù`m hdoV Am°ŠgmB©S> YmVwH$m§‘Ü ò énm§Va
d) gë’$mB©S> YmVwH$m§Mo ewÕ YmVyV énm§Va

101) amo{hUr {h Zrbonojm Imbrb ~m~VrV {^Þ Amho.
a) Aé§§X AdH$mo{eH$m
b) é§X{^{ÎmH$m
c) aº$mMm öX`mH$S>rb àdmh {Z §̀{ÌV H$aÊ`mgmR>r PS>nm
d) a Am{U b XmoÝhr

102)  6CO
2
 + 6H

2
O                C

6
H

12
O

6
 + 6O

2
. hr amgm`{ZH$ A{^{H«$`m H$moUVr à{H«$`m Xe©{dVo?

a) œgZ b) àH$meg§ûcofU
c) Am°ŠgrOZMr nwZ©{Z{‘©Vr d) darbn¡H$s H$moUVrhr Zmhr

103) earamVrb M`mnM` {H«$`m CËào[aV H$aÊ`mMo H$m‘ Imbrbn¡H$s H$moU H$aVo?
a) {dH$a b) pñZ½YnXmW© c) à{WZo d) H$~m}XHo$

104) {haì`m dZñnVt‘Ü ò nmofU........ àH$mao hmoVo.
a) ñd §̀nmofr b) naOrdr c) ‘¥VmonOrdr d) jmanmofr

105) dZñnVr‘Ü ò H$m~©Z S>m`Am°ŠgmBS> AmV KoÊ`mÀ`m Am{U Am°pŠgOZ ~mhoa Q>mH$Ê`mÀ`m {H«$ òbm .....Ago
     åhUVmV.

a) ~mînmoËgO©Z c) œgZ b) A§V:namgaU d)  àH$meg§ûcofU

106) {haì`m dZñnVr....... Am{U nmUr hm H$ƒm ‘mb dmnéZ gmIa V`ma H$aVmV.
a) h[aVbdH$ b) H$m~©Z S>m`Am°ŠgmBS>
c) gỳ ©àH$me d) Am°pŠgOZ

107) àH$me g§ûcofU {H«$ ò‘Ü ò D$O}Mm ómoV....... AgVmo.
a) nmUr b) h[aVÐì` c) gỳ ©àH$me d) H$m~©Z S>m`Am°ŠgmBS>

Sunlight
→
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99) Metals & nonmetals react to give
a) Covalent compounds b) Coordinate compounds
c) Ionic  compounds d) All type of compound

100) Calcination is the process of
a) Converting metal sulphides to metal oxides
b) Converting metal carbonates to metal oxides in limited supply of air
c) Converting metal carbonates to metal oxides open air
d) Reduction of metal sulphides to pure metal

101) An artery differs from the vein in having ............

a) Narrow lumen
b) Thicker walls
c) Valves to control direction of flow of blood towards the heart
d) Both a and b

102) 6CO2 + 6H2O                   C6H12O6 + 6O2.This chemical reaction represents the
         process of ..............

a) Respiration b) Photosynthesis
c) Oxygen revival process d) none of the above

103) Metabolic processes in the body are catalyzed by ...........
a) Enzymes b) Lipids c) Proteins d) Carbohydrates

104) The mode of nutrition in green plants is called .............
a) Autotrophic b) Heterotrophic
c) Saprophytic d) Halophytic

105) The process of taking in CO2 and releasing O2 by plants is termed as _______.
a) Transpiration b) Respiration
c) Endosmosis d) Photosynthesis

106) Green plants manufacture sugar with the help of water and ....... as raw materials.
a) Chlorophyll b) Carbondioxide
c) Sunlight d) Oxygen

107) The source of energy for photosynthesis (or carbon assimilation) is ______.
a) Water b) Chlorophyll
c) Sunlight d) Carbon dioxide

Sunlight
→
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108) Vw‘À`m earamVbo nmUr ...... `m ‘mJm©Zo ~mhoa nS>Vo.
a) Km‘ òUo, œgZ Am{U CËgO©Z b) ’$º$ CËgO©Z
c) ’$º$ œgZ Am{U CËgO©Z d) ’$º$ Km‘ òUo Am{U œgZ

109) ~mînmoËg©OZ ....... ‘YyZ hmoVo.
a) ImoS>m b) nmZm§ c) PmS>mÀ`m gd© ^mJm§ d) dm`dr` ^mJm§

110) OmñVr ~mînmoËg©OZ....... `m§VyZ hmoVo.
a) dmVa§Y« b) nU©a§Y« c) A{^ËdMm d) ~møËdMm

111) Am°pŠgOZ ẁº$ aº$mMo dhZ........ ‘YyZ hmoVo.
a) ’w$ß’w$g Zrbm ({eam) b) ’w$ß’w$g amo{hUr (Y‘Zr)
c) d¥̧ $ Zrbm({eam) d) `H¥$V Jm{‘Zr Zrbm ({eam)

112) gm‘mÝ`V… JwÀN>H$ namJbZm‘Ü ò........ hm KQ>H$ ZgVmo.
a) ½bwH$moO b) gmo{S>`‘
c) nmoQ>m°{e`‘ d) ŠbmoamB©S>

113) õX`r ñZm ẁ§Mo EH$‘odm{ÛVr` bjU åhUOo Vo ñZm ỳ........ AmhoV.
a) aoIrV Am{U AZ¡pÀN>H$ b) aoIrV Am{U EopÀN>H$
c) AaoIrV Am{U AZ¡pÀN>H$ d) AaoIrV Am{U EopÀN>H$

114) gOrdm§À`m AZoH$ ‘hËdmÀ`m bjUm§n¡H$s g§doXZ ho EH$ Amho . `mMo Imbrbn¡H$s.......ho CXmhaU Zmhr.
a) gỳ ©’w$bmMr gỳ m©À`m OmJoà‘mUo hmbMmb
b)  bmOmiyÀ`m nmZm§Mr hmbMmb
c)  à{VH$fm©nmgyZ S>mgm§Mo Xya CS>Uo
d)  g‘wÐ{H$Zmè`mdarb PmS>mÀ`m nmZm§Mr dmè`m‘wio hmoUmar hmbMmb

115) gmÜ`m aoUy§nmgyZ O{Q>b nXmW© V`ma hmoÊ`mÀ`m à{H«$ òbm .......... åhUVmV
a) M` {H«$`m b) nM` {H«$`m
c) OQ>rb nXmW© {Z{‘©Vr d) gmÜ`m aoUy§Mo {dKQ>Z

116) Imbrbn¡H$s H$moUË`m OrdZà{H«$`m PmS>m§‘Ü ò AmT>iV ZmhrV ?
a) noer` œgZ b) nmofÐì`m§Mo {dVaU
c) g§àoaH$m§Mo {Z §̀ÌU d) MoVmnoetMo g‘Ýd`
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108) Your body loses water by the way of ............
a) Sweating, breathing and excretion b) Excretion only
c) Breathing and excretion only d) Sweating and breathing only

109) Transpiration takes place in.............
a) Stem b) Leaves
c) All parts of the plant d) Aerial parts only

110) Much of the transpiration takes place through.............
a) Lenticels b) Stomata c) Cuticle d) Epidermis

111) Oxygenated blood is carried by ..............
a) Pulmonary vein b) Pulmonary artery
c) Renal vein d) Hepatic portal vein

112) Glomerular ultrafiltrate normally would not contain .............
a) Glucose b) Sodium c)Potassium d)Chloride

113) The unique feature of cardiac muscle is that these are ...........
a) Striated and involuntary b) Striated and voluntary
c) Nonstriated and involuntary d)Nonstriated and voluntary

114) Which of the following is not an example of sensitivity as the characteristic of
        life?

a) Movement of sunflower according to position of Sun.
b) Movement of leaves of Touch-me-not.
c) Mosquitoes fly away from repellents.
d) Movement of leaves of tree on windy shore.

115) Building up of complex substances from simple molecules is known as ..........
a) Catabolism b) Anabolism
c) Complex building d) Simple breakdown

116) Which of the following life processes is not shownby plants?
a) Cellular respiration b) Nutrient transport
c) Hormonal  control d) Nervous co-ordination
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117) ‘mZdr earamVrb A{V[aº$ eH©$am ................ ñdê$nmV gmR>dbr OmVo.
a) eH©$am b) ’$im§‘Yrb gmIa c) J°b°ŠQ>moO d) ½bm`H$moOoZ

118) nmZm§Ûmao nmÊ`mMo à‘mU H$‘r hmoÊ`mÀ`m {H«$ òbm ............. åhUVmV.
a) ~mînr^dZ b) Km‘ òUo c) dmhVwH$ d) ~mînmoËgO©Z

119) nU©a§Y«o ....... `m H$maUm‘wio CKS>VmV d ~§X hmoVmV.
a) ~mø (g§ajU) noet‘Yrb ÐdmMm Xm~ b) AmV‘Yrb dm ỳ§Mm Xm~
c) AmZwdm§{eH$s KQ>Zm d) namgaU

120) ......... ho {dH$a ’$º$ bmi Am{U ñdmXwqnS> nmMH$ agmV CnpñWV AgVo.
a) àmo{Q>EO b) A‘m`boO c) AZhm`ŚoO d) H°$Q>mboO

121) Or g§̀ wJo nMZ‘mJm©‘Ü ò {Z‘m©U hmoV ZmhrV nU nMZ{H«$ òV H$m ©̀ H$aVmV Vr AmoiIm-
1) {nÎmag, 2) hm`S´moŠbmoarH$ Amåb, 3) BÝgw{bZ, 4) bmi
a) 1) d 2) b) 1) d 3)
c) 2) d 4) d) 3) d 4)

122) ....... d ...... PS>n AZwH«$‘o S>mì`m d COì`m AqbXm§Zm g§b¾ {Zb`m§er OmoS>VmV.
a) {ÌXb; {ÛXb b) {ÛXb; {ÌXb
c) {ÛXb; AY©Mm§Ð d) AY©Mm§Ð; {ÌXb

123) Imbrbn¡H$s H$moUVr CËgO©Z {H«$`m Zmhr?
a) ‘yÌmÛmao ZÌnXmW© Q>mHy$Z XoUo
b) CbQ>rÛmao OmñVrMo AÞ Q>mHy$Z XoUo
c) œgZmÛmao Q>mH$mD$ dm ẁ Q>mHy$Z XoUo
d) Km‘mÛmao jmam§Mm {ZMam H$aUo

124) àH$meg§ûcofUm‘Ü ò EH$ ½bwH$moO aoUy V`ma hmoÊ`mgmR>r CO
2
 Am{U nmÊ`mMo àË òH$s {H$Vr aoUy bmJVrb?

a) 6 CO2; 6 H2O b) 6CO2; 1 H2O

c) 1 CO2; 6 H2O d) 1CO2; 1 H2O

125) nmZm§da dm ẁ§À`m AmXbm~XbrgmR>r nU©a§Y«o AgVmV.Ë`m§À`mer gmYå ©̀ AgUm-`m ImoS>mdarb aMZobm
.............. åhUVmV

a) nU©a§Y«o b) Š ẁ{Q>H$b c) b|{Q>goëg² d) ‘yia§Y«o
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117) Excess glucose in humans is stored in form of--------
a) Glucose itself b) Fructose c) Galactose d) Glycogen

118) Loss of water from leaves is called as -------
a) Evaporation b) Perspiration
c) Transportation d) Transpiration

119) The stomata open and close due to ................
a) Turgor pressure of guard cells
b) Pressure of gases inside
c) Their genetic constitution
d) Osmosis

120) The enzyme present only in saliva and pancreatic juice is ...........
a) Protease b) Amylase c) Anhydrase d) Catalase

121) Identify the compounds which are not produced in alimentary canal but play a
         role in digestion-

1) Bile, 2) Hydrochloric acid, 3) Insulin, 4) Saliva
a) 1) and 2) b) 1) and 3) c) 2) and 4) d) 3) and 4)

122) The left and right atria are connected to their adjacent ventricles by......... and
          ........... valves respectively.

a) Tricuspid; Bicuspid b) Bicuspid; Tricuspid
c) Bicuspid; Semilunar d) Semilunar; Tricuspid

123) Which of the following is not the excretion process?
a) Elimination of nitrogenous waste by urination
b) Elimination of excess food by vomiting.
c) Elimination of gaseous waste by respiration.
d) Elimination of salts by perspiration.

124) For synthesis of one glucose molecule during photosynthesis, how many atmo
       spheric CO

2
 molecules and water molecules are required?

a) 6 CO
2
; 6 H

2
O b) 6CO

2
; 1 H

2
O

c) 1 CO
2
; 6 H

2
O d) 1CO

2
; 1 H

2
O

125) Leaves have stomata for gaseous exchange. The similar structures present on stems
        are called as ………….

a) Stomata b) Cuticle c) Lenticels d) Root-pores
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126) agmamohUmÀ`m J¥hrVH$m‘Ü ò, ag åhUOo ...............
a) ’$º$nmUr b) ’$º$ I{ZOo
c) nmUr+AÞÐì` d) nmUr+ I{ZOo

127) ‘ybnoetZm ................ gmR>r ñ’$sVrXm~ ‘XV H$aVo.
a) nmUr emofyZ KoÊ`mgmR>r b) nmÊ`mMo dhZ H$aUo
c) O{‘Zr‘Ü ò Imob da éVUo d) ŷObmMm emoY KoUo

128) Oa H$mMnÅ>rÀ`m ghmæ`mZo CoCl
2
 (H$mo~mëQ>ŠbmoamBS>)Mm H$mJX PmS>mÀ`m nmZmda R>odbm Va Vmo Jwbm~r

       hmoVmo. `mMo H$maU Ago H$s .................
a) Ë`mMo nmZm‘YyZ ‘wº$ Pmboë`m O2 ‘wio Am°pŠgS>oeZ hmoVo.
b) AmÐ©Vo‘wio Ë`mMm a§J ~XbVmo
c) nmZm§‘YyZ ‘wº$ Pmboë`m CO

2
 ‘wio Ë`mMo jnU hmoVo

d) WmoS>çm doimZo Ë`mMm a§J AmnmoAmn ~XbVmo.

129) amOoe Am{U gwaoe ho XmoZ {‘Ì ‘moQ>magm`H$b da {’$aV hmoVo. AMmZH$ Ë`m§Zm AnKmV hmoVmo. gwaoe OmJodaM
      ‘aVmo. Ooìhm Ë`mMr ‘aUmoÎma edn[ajm Ho$br OmVo Voìhm S>m°ŠQ>am§Zm Ago {XgyZ òVo {H$ Ë`mÀ`m ’$º$
     S>moŠ`mg BOm Pmbr hmoVr d œgZg§ñWm {ZH$m‘r Pmë`mZo Ë`mMm ‘¥Ë ẁ Pmbm.
     Imbrbn¡H$s H$moUË`m ^mJmbm BOm Pmbr Agmdr?

a)  AJ« ‘pñVîH$ b) ‘pñVîH$ nwÀN>
c) ’w$â’w$g d) nü ‘pñVîH$

130) Oa ‘|XyÀ`m g‘moarb nmbrbm XwImnV Pmbr Va Imbrbn¡H$s H$moUVm n[aUm‘ {XgyZ òB©b ?
I. CÔrnZmMr J«hUj‘Vm Zmhrer hmoUo.
II. H$maU‘r‘m§gm H$aÊ`mMr j‘Vm Zmhrer hmoB©b
III. earamMm Vmob gm§̂ miVm òUma Zmhr.
IV. dmMm Zï> hmoB©b.
V. g‘ñ`m gmoS>{dÊ`mMr j‘Vm Zï> hmoB©b.
a) I, II
b) I, II, IV

c) II, IV Am{U V

d) I, II, III, IV Am{U V
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126) In the theory of ascent of sap, the term sap implies to…………

a) Water only b) Minerals only

c) Water + food material d) Water + minerals

127) Turgor pressure of root cells help them in…………..

a) Absorption of water.

b) Transport of water.

c) Penetrating deep in soil.

d) Scavenging soil water.

128) If a cobalt chloride (CoCl2) paper is placed on a leaf with the help of glass slides, it
       turns pink. The reason for this is…………

a) It gets oxidized due to O2 released by leaf.

b) In presence of moister, it changes color.

c) It gets reduced due to CO
2
 released by leaf.

d) After some time it readily changes its color.

129) Two friends Rajesh and Suresh were travelling on a bike. Suddenly they met with
       an accident. Suresh died on the spot. When doctors did his postmortem they found
        that he had injury to his head only and he died due to failure of respiratory system.

Which of the following part is most likely appears to be injured?

a) Fore brain b) Medulla oblongata

c) Lungs d) Hind brain

130) Which of the consequences can be seen when frontal lobe is damaged?

I. Perception of stimuli is lost

II. Reasoning ability is lost

III. Body balance is lost

IV. Speech is lost

V. Problem solving ability is lost

a) I, II

b) I, II, IV

c) II, IV and V

d) I, II, III, IV and V
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131) MoVmV§VyÀ`m AjV§Vyda ‘m ò{bZ Mo AmdaU AgVo. (AmH¥$Vr nhm) ‘m ò{bZ AmdaUm g§X^m©V `mo½` n`m©̀
      {ZdS>m.
     I. ‘m ò{bZMo AmdaU ho H$S>H$ AmdaU Amho Oo AjV§VyMo XwImnVrnmgyZ ajU H$aVo.
     II. ho {dÚwV amoYH$ AmdaU Amho
     III. ho {dÚwV AmdoJmMo eodQ>mn ª̀V dhZ H$aVo.
     IV. ‘m òbrZMo AmdaU ho EH$gbJ ZgVo Va ‘Ü ò
         CKS>çm OmJm AgVmV.

a) I and IV

b) II and IV

c) III and IV

d) Only IV

132) ho ‘|Xy‘Yrb CîUVm {Z §̀ÌH$ H|$Ð Amho Am{U VhmZ d ŷH$ ‘|XyVrb........ `m ^mJmZo {Z §̀ÌrV R>odbr OmVo.
a) AdñWbr (hm`nmoW°b°‘g), AdñWbr (hm`nmoW°b°‘g)
b) AdñW{b (hm`nmoW°b°‘g), ‘pñVîH$ nwÀN>
c) ‘pñVîH$ nwÀN>, AdñWbr (hm`nmoW°b°‘g)
d) ‘pñVîH$ nwÀN>, ‘pñVîH$ nwÀN>

133) Imbrbn¡H$s H$moUVr {H«$`m ‘|XyZo {Z §̀ÌrV Z H$aVm ‘w»`Ëdo ‘‚mma‚my Ûmao {Z §̀ÌrV Ho$br OmVo ?
a) CÝhmù`mV Km‘ òUo
b) Ja‘ ^m§S>çmbm hmV bmJbm AgVm nQ>H$Z ‘mJo KoUo.
c) qMM qH$dm Amdim ~KVmM Vw‘À`m Vm|S>mbm nmUr gwQ>Vo
d) WamaH$ {MÌnQ> ~KVmZm Vw‘À`m õX`mMr YS>YS> dmT>Vo.

134) Oa ZoÌMoVm’w$brMm (Am°ßQ>rH$ MmEñ‘m) ‘|XyÀ`m COì`m JmobmYm©H$S>o OmUmè`m ^mJmV B©Om Pmbr Va,
       Imbrbn¡H$s H$moUVo {Z[ajU `mo½` Amho ?

a) COì`m hmVmMr hmbMmb eŠ` hmoUma Zmhr
b) S>mì`m hmVmMr hmbMmb eŠ` hmoUma Zmhr.
c) à{V{já {H«$ òMm doJ H$‘r hmoB©b.
d) Vr ì`º$s VmËH$mi ‘¥Ë ẁ nmdob.

135) ....... MoVmg§ñWm........ `mÀ`m {Z §̀ÌUmImbr öX`ñn§XZmMm Xa {Z §̀{ÌV H$aVo.
a) ñdm`Îm, à‘pñVîH$
b) AZwH§$nr, à‘pñVîH$
c) ñdm`Îm, ‘pñVîH$ nwÀN>
d) AZwH§$nr, ‘pñVîH$ nwÀN>



- 55 -

131) The axon of nerve fiber is myelinated (See the diagram). Choose the correct
        option about myelin sheath.
       I. Myelin sheath is tough covering that protects axon from mechanical injury.
       II. It is an insulating covering.
       III. It conducts electrical impulse to the
             terminal.
       IV. Myelin covering is not continuous but
            has some open gaps.

a) I and IV
b) II and IV
c) III and IV
d) Only IV

132) .......... is thermoregulatory center in brain and thirst and hunger are controlled by
........... region of brain.
         a) Hypothalamus, hypothalamus
         b) Hypothalamus, medulla oblongata
         c) Medulla oblongata, hypothalamus
         d) Medulla oblongata, medulla oblongata.

133) Which of the following actions is mainly controlled by spinal cord and not brain?
        a) Sweating in hot condition
        b) Sudden removal of hand when touched to hot vessel
         c) You start salivating when you see tamarind or amala.
        d) Increase in your heart beat while watching horror movie.

134) If the part of optic chiasma which is going towards right hemisphere is damaged,
       then which of the following observations is correct?
       a) Right hand movement is not possible.
       b) Left hand movement is not possible.
       c) Reflex action will be slow.
       d) Person will die immediately.

135) The ........... nervous system led by..........  controls heart rate.
a) Autonomic, Cerebrum
b) Sympathetic, Cerebrum
c) Autonomic, Medulla oblongata
d) Sympathetic, Medulla oblongata



- 56 -

136) AZwH§$nr MoVmg§ñWm namZwH§$nr MoVmg§ñWonojm `m àH$mao doJir Amho
a) Vr n[aKr` MoVmg§ñWoMm ^mJ Amho. b) Vr ~hþVoH$ doim M`mnM`r {H«$`m Wm§~dVo.
c) Vr ’$º$ ‘oé MoVm§Zr ~Zbobr AgVo. d) XmoÝhr b Am{U c

137) ‘|Xwbm BOm Pmboë`m EH$m é½Umbm MmbUo AdKS> OmVo Am{U Ë`mMm gmaIm Vmob OmVmo. `mMo gJù`mV
g§̂ mì` H$maU H|$Ðr` MoVmg§ñWoÀ`m ......... `m ^mJmbm BOm Pmbobr AgUma

a) ‘oé a‚mw
b) à‘pñVîH$
c) AZw‘pñVîH$
d) ‘pñVîH$ nwÀN>

138) Imbr {Xboë`m AmboImà‘mUo MoVmnoer‘Ü ò
    OmñVrV OmñV gmo{S>`‘ Am`Z ........
    pñWVrV AgVrb.

a) C{ÔnZ
b) 0 mV

c) {H«$`m {d^d
d) {dlm‘ {d^d

139) gm‘mÝ`V… Am§~o E{àb - ‘o ‘{hÝ`mV òVmV. AmVm ’o$~«wdmar- ‘mM© ‘{hÝ`mV XoIrb {nH$bobo Am§~o
      {‘iVmV. Am§~o bdH$a {nH$Ê`mgmR>r....... ho agm`Z dmnabo OmVo.

a) Am°pŠgZ  b) B{WbrZ c) Or~oaobrZ d) A°pãggrH$  Amåb

140) Imbrbn¡H$s H$m` MoVm nmaofH$ Zmhr?
a) A°goQ>rb H$mobrZ b) A°ŚrZ°brZ
c) Zm°a A°S´rZ°brZ d) A°goQ>rb H$mobrZ BñQ>aog

141) ‘|XyMr........ nmbr dmMoer {ZJS>rV AgVo
a) g‘moarb b) nmœ© c) e§I d) nûÀH$mamoQ>r

142) Ooìhm earam‘Yrb nmÊ`mMo à‘mU dmT>Vo Voìhm ...... dmT>ë`mZo Am{U ...... H$‘r Pmë`mZo AdnamgaUr
     ‘yÌ V`ma hmoVo.

a) ÐdñW¡{VH$ Xm~, ADHMo ódU
b) earamMo dOZ, jmam§Mo à‘mU
c) `H¥$Vm‘Yrb ẁar`m V`ma hmoÊ`mMo à‘mU, ADHMo ódU
d) d¥̧ $mMo H$m ©̀, earamMo Vmn‘mZ
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136) Sympathetic nervous system is different from parasympathetic nervous system
         because-

a) It is a part of peripheral nervous system.
b) It mostly inhibits a metabolic process.
c) It consists only of spinal nerves.
d) Both b and c

137) A patient suffering from brain injury finds it difficult to walk and stumbles often.
     The part of central nervous system which is most likely to be damaged in this case
        is..........

a) Spinal cord
b) Cerebrum
c) Cerebellum
d) Medulla oblongata

138) From the following graph,
        maximum sodium ions will be
        present in the neuron at.......

a) Stimulus
b) 0 mV
c) Action Potential
d) Resting Potential

139) Normal season of mangos is in the month of April-may. Now days you can get
     ripened mangos even in February-march. This early ripening of mangos is achieved
      by use of .............. chemical.

a) Auxin b) Ethylene c) Gibberellins d) Abscisic acid

140) Which of the following is not a neurotransmitter?
a) Acetylcholine b) Adrenaline
c) Nor- adrenalin d) Acetylcholine esterase

141) ............ lobe of brain is associated with speech.
a) Frontal      b) Parietal c) Temporal d) Occipital

142) When there is excess of water in the body, ......... increases and ......... decreases
      resulting in hypotonic urine.

a) Hydrostatic pressure; ADH secretion
b) Weight of body; salt concentration
c) Urea formation in liver; ADH secretion
d) Activity of kidney; temperature of body
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143) Ooìhm dZñnVrnoer gmIaoÀ`m AdnamgUr ÐmdUmV R>odbobr AgVo Voìhm ’$º$ nmÊ`mMo aoUy ~mhoê$Z noerÀ`m
       AmV {eaVmV. Oa VrM noer CH$iË`m nmÊ`mV 20 goH§$X R>odbr d Z§Va AdnamgaUr ÐmdUmV R>odbr. `m
      doiog nmÊ`mÀ`m aoUy ~amo~a gmIaoMo aoUy XoIrb noerV {eabo.
      Imbrbn¡H$s H$moUVm n`m©̀  `mMo `mo½` ñnï>rH$aU Xe©{dVmo ?

a) CîUVo‘wio noer ‘aVmV d ÐmdUmMr hmbMmb dmT>Vo.
b) CîUVo‘wio gmIaoÀ`m dhZmÀ`m Zmbr (M°Zob) CKS>VmV Ë`m‘wio gmIaoMo aoUy AmV {eaVmV.
c) CîUVo‘wio noer{^ÎmrHo$Mr AY©namJå`Vm Zï> hmoVo.
d) CîUVo‘wio noer nQ>bm‘Yrb ‘oX {daKiVo d Z§Va H$moUVmM AS>Wim CaV Zmhr.

144) Imbrbn¡H$s H$moUË`m àmÊ`mV gdm©V ‘moR>o (bm§~) hoÝboMm nme (byn) Agob ?
a) ‘mUyg b) C§Q> c) emH©$ d) hÎmr

145) CÀN>dmgm‘Yrb hdoV gmYmaUnUo 17% Am°pŠgOZ Am{U 4% CO
2
 AgVmo. Oa EH$m CÀN>dmgmÀ`m

      hdoÀ`m Z‘wÝ`m‘Ü ò 12% O
2
 Am{U 9% CO

2
 Agob Va hm Z‘wZm Ago Xe©{dVmo H$s........ššššš

a) Vr ì`º$s Amam‘ H$aV Amho b) Vr ì`º$s Amier Amho
c) Vr ì`º$s H$m‘ H$aV Amho d) Vr ì`º$s àXw{fV hdoV Amho

146) 35 kg dOZ Agboë`m ‘mUgmÀ`m earamV 5 {bQ>a aº$ Amho. 72 kg dOZ Agboë`m ‘mUgmÀ`m
     earamV g‘Vwë`Ñï²>`m {H$Vr aº$ Agm`bm hdo?

a) 5 {bQ>a b) 8.5 Vo 9 {bQ>a
c) 10 {bQ>a d) Odinmg 3.5 {bQ>a
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143) When plant cell is kept in hypotonic sugar solution, only water molecules move
         from outside to inside of cell. If same cell is kept in boiling water for 20 seconds
         and then kept in hypotonic sugar solution. This time sugar molecules along with
         water molecules enter inside the cell.

         Which option gives best explanation for this?

a) Heating kills the cells and increases the movement of solution.

b) Heating opens the sugar channels that allow the entry of sugar molecules.

c) Heating results in loss of semi permeability of cell wall.

d) Heating dissolves the lipids in the membrane and then no barrier left.

144) Which of the following will have longest loop of henle?

             a) Human b) Camel c) Shark d) Elephant

145) Normally the exhaled air contains about 17% of oxygen and 4% CO
2
. If in a

         sample of breathed out air, 12% O
2
 and 9% CO

2
 is present, this indicates...........

a) The person is at rest b) The person is lazy
c) The person is at work d) The person is in polluted air

146) A man with weight 35 kg has 5 liters of blood in his body. What should be the
        equivalent blood in a man weighing 72 kg?

a) 5 liters b) 8.5 to 9 liters c) 10 liters d) About 3.5 liters
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1) EH$ {dÚwV n§n EH$ hm¡X 3 Vmgm§‘Ü ò nyU© ^aVmo. nU JiV Agë`m‘wio Ë`m n§nmbm 3 
1
2  Vmg bmJVmV.

   Va Ë`m JiVr‘wio hm¡Xm‘Yrb gJio nmUr JiyZ OmÊ`mgmR>r {H$Vr doi bmJob ?

a) 12 Vmg b) 10 1
2  Vmg

c) 6 1
2  Vmg d) 21 Vmg

2) EH$m ñd §̀M{bV §̀ÌmÀ`m nwT>À`m MmH$mMm narK 3.5 ‘rQ>a Amho Am{U ‘mJÀ`m MmH$mMm narK 3 ‘rQ>a
   Amho. Oa Vr 15 ‘rQ>a/ goH§$X `m JVrZo OmV Agob Va Vr nyU©g§» òV ’o$è`m§Mr g§»`m òÊ`mgmR>r H$‘rV
   H$‘r {H$Vr goH§$X bmJVrb ?

a) 1.4 b) 2.1 c) 4.0 d) 6.4

3) Oa 2 
x 
= 4 

y
= 8 

z 
Am{U 

1
2

1
2

1
4

4
x y z
    Va x Mr qH$‘V {H$Vr Agob?

a) 7/16 b) 16/7 c) 7/32 d) `mn¡H$s H$mhrhr Zmhr

4) Oa XmoZ {ÌH$moU g‘ê$n AgVrb Va.......
a) Ë`m§À`m XmoZ ~mOy Oa à‘mUmV AgVrb
b) Ë`m§À`m XmoÝhr ~mOy EH$ê$n AgVrb
c) Ë`m§À`m XmoZ H$moZm§À`m OmoS>`m EH$ê$n AgVrb
d) Ë`m§À`m XmoZ H$moZm§À`m OmoS>`m à‘mUmV  AgVrb

5) EH$m {dÚmÏ`m©Zo g§» òÀ`m 5/16 nQ> g§»`m H$mT>m`bm gm§{JVbr AgVm Ë`m g§» òÀ`m 5/6  nQ>g§»`m
    H$mT>br Va CÎma 125 Zo dmT>bo Va Vr g§»`m H$moUVr?

a) 240 b) 80 c) 160 d) 320

6) {dÚmÏ`mªZoEH$m g§» òbm 2 Zo ^mJbo Ooìhm Ë`mbm Ë`m g§» òbm 2 Zo JwUm`bm gm§{JVbo hmoVo. Ë`mbm CÎma
     2 {‘imbo Va AMyH$ CÎma H$m` Agm`bm hdo?

a) 12 b) 8 c) 6 d) 4

J{UV STAGE - I
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1) An electric pump can fill a tank in 3 hours. Because of the leak in the tank it was taking
    3 ½ hrs.to fill the tank. Then the leak can drain all the water of the tank in ............

a) 12 hours b) 10 1
2 hours

c) 6 1
2  hours d) 21 hours

2) The circumference of the front wheels of a locomotive is 3.5 meters and that of the
     back wheel is 3.0 meters. If the locomotive is moving at a speed of 15 m/sec, the
     shortest time in which both wheels will make whole number of turns is, in sec ........

a) 1.4 b) 2.1 c) 4.0 d) 6.4

3) If 2 
x 
= 4 

y
= 8 

z 
and 

1
2

1
2

1
4

4
x y z
   , then that value of x is ______.

a) 7/16 b) 16/7  c) 7/32 d) None of the above

4) Two triangles are similar if .................

a) Two sides are proportional

b) Two sides are congruent

c) Two pairs of angle are congruent

d) Two pairs of angle are proportional

5) A student has to find 5/16thof a number but he has taken 5/6thof that number. His
     answer was increased by 125. What is the original number?

a) 240 b) 80 c) 160 d) 320

6) A student divided a number by two when he was required to multiply it by 2.The
     answer he got was 2, then correct answer should have been.........

a) 12 b) 8 c) 6 d) 4

MATHEMATICS  STAGE - I
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7) Δ ABC ‘Ü ò, AB = AC, P  hm q~Xy AC daVr Agm Amho H$s PB = PD.

    Va ...... {ÌH$moU g‘ê$n AmhoV.

a) Δ ABC ∼ Δ DBE b) Δ AEP ∼ Δ DCP

c) Δ DBE ∼ Δ BCP d) Δ DBE ∼ Δ CPB

8) 2 12 7 52x x        g‘rH$aUmMo Ad`d H$moUVo?

a) 
5
2

1, b) 
5
2

1, c)  
5
2

1, d) 
5
2

1,

9) Oa   PML KMS  Va  SKM ........
a)  ∠ PML b) ∠LPM c)  ∠PLM d) ∠ MLP

10) Oa dJ©g‘rH$aUmÀ`m CH$br 1 d 7 AmhoV Va g‘rH$aU ...... Amho.

a) x2 + 8x + 7 = 0 b) x2 - 8x - 7 = 0

c) x2 - 8x + 7 = 0 d) x2 + 8x - 7 = 0

11) Oa 1 27
169

1
13

  
x

’
, Va x = ?

a) 1 b) 14 c) 13 d) `m§n¡H$s EH$hr Zmhr.

12) ABCD hm Mm¡ag {ÌÁ`m 'a' Agboë`m dVw©im‘Ü ò Am§Va{bpIV Ho$bobm Amho. EH$ dVw©i ABCD `m

    Mm¡agmÜ ò Am§Va{bpIV Ho$bobo Amho Am{U Mm¡ag EFGH hm `m dVw©im‘Ü ò Am§Va{bpIV Ho$bobm Amho

    Va ~mOy EF {H$Vr Agob?

a) a b) a 2 c) 
a
2 d) 

a
2

13) g‘ ŵO {ÌH$moUmÀ`m AmH$mamV Agbobr EH$ Vma S (g|‘r)2 EdT>o joÌ’$i g‘m{dï> H$aVo. hrM Vma

    Oa dmH$dbr Am{U {VMo dVw©i Ho$bo Va Ë`m dVw©imMo joÌ’$i {H$Vr Agob?

a)  S
2
/9 b) 3S

2
/ c) 3S/ d) 3 3S /
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7) In ΔABC, AB = AC, P is a point on AC such that PB = PD.
    Then ......... triangles are similar.

a) ΔABC ~ ΔDBE

b) ΔAEP ~ ΔDCP

c) ΔDBE ∼ ΔBCP

d) ΔDBE ∼ ΔCPB

8) Roots of the equation 2 12 7 52x x     are ______

a) 
5
2

1, b) 
5
2

1, c)  
5
2

1, d) 
5
2

1,

9) If   PML KMS   then  SKM ........

a)  ∠ PML b) ∠LPM c)  ∠PLM d) ∠ MLP

10) If the roots of quadratic equation are 1 and 7, the equation is__________.

a) x2 + 8x + 7 = 0 b) x2 - 8x - 7 = 0

c) x2 - 8x + 7 = 0 d) x2 + 8x - 7 = 0

11) If 1 27
169

1
13

  
x

’
, then x =?

a) 1 b) 14 c) 13 d) None of the above

12) A square ABCD is inscribed in a circle of radius a. Another circle is inscribed in a
     square ABCD and a square EFGH is inscribed in this circle. The side EF is equal to.....

a) a b) a 2 c) 
a
2 d) 

a
2

13) A wire in the shape of an equilateral triangle encloses an area S square centimeter. If
     the same wire is bent to form a circle, the area of the circle will be.........

a)  S
2
/9 b) 3S

2
/ c) 3S/ d) 3 3S /
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14) EH$m KZmMm g§nyU© n¥ð>^mJ 216 (g|‘r)3 Amho Va Ë`mMo AmH$ma‘mZ {H$Vr Agob?

a) 108 g|‘r3 b) 54 g|‘r3 c) 432 g|‘r3 d) 216 g|‘r3

15) EH$m X§S>Jmob d¥Îm{MÎmrMm dH«$ ^mJ hm Ë`mÀ`m XmoÝhr nm`m§À`m joÌ’$imÀ`m XwßnQ> Agob Va

     Ë`mÀ`m C§Mr Am{U {ÌÁ òMo JwUmoÎma H$m` Agob?

a) 2 : 3 b) 1 : 1 c) 2 : 1 d) 1 : 2

16) EH$m bmH$S>r ImoŠ`mMr ~mhoarb bm§~r, é§§Xr Am{U C§Mr AZwH«$‘o 10 g|‘r, 8 g|‘r Am{U 5 g|‘r Amho.

    hm ImoH$mdarb ~mOyZo CKS>m Amho. Oa bmH$S>mMr OmS>r 1 g|‘r. Agob, Va ImoŠ`mMo g§nyU© n¥ð> joÌ’$i

    {H$Vr Agob?

a) 420 g|‘r2 b) 424 g|‘r2 c) 451 g|‘r2 d) 483 g|‘r2

17) ABCDE hm EH$ n§MH$moZ Amho. {Xboë`m AmH¥$Vr‘Ü ò gd© dVw©imMo ‘Ü` ho  Ë`m§À`m

    {eamoq~Xynmer AmhoV Am{U Ë`m§Mr {ÌÁ`m g‘mZ åhUOo r Amho. Va a§J{dboë`m ^mJmMo

    joÌ’$i {H$Vr ?

a)  r2 b) 2 r2

c) 5 r2/4 d) 3 r2/2

18) Oa X§S>Jmob {MÎmrÀ`m nm`mMr {ÌÁ`m 2 g|‘r Agob d C§Mr 7 g|‘r, Va Ë`mMo dH«$n¥ð>’$i {H$Vr Agob?

a) 44 g|‘r2 b) 22 g|‘r2 c) 88 g|‘r2 d) 56 g|‘r2

19) EH$m YmVyMm Am`VmH¥$Vr nÌm x g|‘r × y g|‘r ‘mnmMm Amho. Ë`mÀ`m {eamoq~Xwnmer z g|‘r ~mOyMo

     Mm¡ag H$mnbo AmhoV d nÌm dmH$dyZ z  g|‘r C§MrMo ngaQ> ^m§S>o V`ma Ho$bo Amho Va ngaQ> ^m§S>`mMo

     AmH$ma‘mZ {H$Vr?

a) z (x – z) (y – z) g|‘r3 b) xyz g|‘r3

c) z (x – 2z) (y – 2z) g|‘r3 d) (x + y)z g|‘r3

20) EH$m Am`VmH¥$Vr ~mJoMo joÌ’$i 2000 (‘rQ>a)2 Amho Am{U {VÀ`m, bm§~r d C§MrMo JwUmoÎma 5:4

     Amho. ~mJoÀ`m AmVyZ EH$ g‘mZ OmS>rMm añVm, ~mJoÀ`m n[a{‘Vr ^modVr OmVmo. Ë`mMo joÌ’$i 344

     (‘rQa)2 Amho Va Ë`m añË`mMr OmS>r {H$Vr Amho?

a) 3 ‘rQ>a b) 3.5 ‘rQ>a c) 4 ‘rQ>a d) 2 ‘rQ>a
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14) The whole surface of a cube is 216 cm2. The volumes of this will be_______.

a) 108 cm3 b) 54 cm3

c) 432 cm3 d) 216 cm3

15) If the curved surface of a cylinder be double the area of the bases then the ratio of its
     height and radius is__________.

a) 2 : 3 b) 1 : 1 c) 2 : 1 d) 1 : 2

16) The outer length, breadth and height of a wooden box open at the top are 10 cm, 8 cm
       and 5 cm respectively. If the thickness of the wood is 1 cm, the total surface area of
        the box is_______.

a) 420 cm2 b) 424 cm2

c) 451 cm2 d) 483 cm2

17) ABCDE is any pentagon. In the given figure all the circles have their
center at the vertices and are all of equal radius ‘r’. The area of all the
shaded sector is______.

a)  r2 b) 2 r2

c) 5 r2/4 d) 3 r2/2

18) If the radius of the base of a cylinder is 2 cm and its height 7 cm, then it’s curved
      surface is______.

a) 44 cm2 b) 22cm2

c) 88cm2 d) 56cm2

19) A rectangular sheet of metal x cm × y cm.A square of side Z cm cut from each corner.
    The sheet is then bent to form a tray of depth Z cm.The volume of the tray is ..........

a) z (x – z) (y – z) cm3

b) xyz cm3

c) z (x – 2z) (y – 2z) cm3

d) (x + y)z cm3

20) A rectangular garden has an area 2000 square meter and its length and breadth are in
      the ratio 5:4. A road of uniform width runs inside the garden around the perimeter and
      has an area 344 square meter. The width of the road is ..............

a) 3 m b) 3.5 m c) 4 m d) 2 m
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21) Oa a = 1Agob Va 1 1
1

1 1
2

1 1
3










 








 
















a a a  Mr qH$‘V {H$Vr?

a) 1
5

12 b) 
5
2 c) 1

1
2 d) 4

22) Oa x
x







 

1 3
2

 Va x
x

3
3

1
  Mr qH$‘V {H$Vr?

a) 1 b) 3 c) 0 d) 2

23) Oa x x   28 14  Va x = ........

a) 64 b) 36 c) 100 d) 196

24) (1 3p),[1  (3p)2],[1  (3p)3]  Am{U [1  (3p)4]  `m amet‘Yrb {H$Vr amer [1  81p4]  `mMo

     Ad`d AmhoV?
a) EH$ d) XmoZ c) Mma d) VrZ

25) {( l + m)2 – 4lm} = .................

a) (l+ m) 2 b) (l – m) 2 c) 2lm d) -2lm

26) 18x6 – 35 x3 + 12 = ..............

a) (2x3 +3) (9x3 – 4) b) (2x4 – 3) (9x2- 4)

c) (2x3 -3)(9x3 – 4) d) (2x3 +3) (9x3 + 4)

27) Oa XmoZ g§»`m§Mr ~oarO Ho$br Va Vr (S) Amho Am{U Ë`mM XmoZ g§»`m§Mm JwUmH$ma (P) Amho. Va Ë`m
     XmoZ g§»`m H$moUË`m? S = 21, P = -72

a) -24, 3 b) 24, -3 c) 18, 4 d) -18, 4

28) EH$m ZXrÀ`m àdmhmMr pñWa Mmb 4 {H$‘r/Vmg Amho. EH$OU ñdV…Mr Zmd àdmhmÀ`m {XeoZo H$mhr

     A§Va ZoVmo Am{U Ë`mM àdmhmVyZ naV òVmo. Á`mdoir Vmo Ama§̂ rÀ`m {R>H$mUr òVmo Voìhm EHy$U A§Va 42

     {H$‘r hmoVo. Oa naVrÀ`m àdmgmg bmJUmam doi àdmhmÀ`m {XeoZo OmÊ`mg bmJUm-`m doionojm  2 Vmg
     OmñV Agob, Va ZmdoMm pñWa àdmhmVrb doJ {H$Vr?

a) 12 ({H$‘r/ Vmg) b) 10 ({H$‘r/ Vmg)

c) 9 ({H$‘r/ Vmg) d) 8 ({H$‘r/ Vmg)
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21) If a = 1 then  1 1
1

1 1
2

1 1
3










 








 
















a a a  is equal to .............

a) 1
5

12 b) 
5
2 c) 1

1
2 d) 4

22) If x
x







 

1 3
2

   then x
x

3
3

1
   is equal to .................

a) 1 b) 3 c) 0 d) 2

23) If x x   28 14   then x is equal to ..............

a) 64 b) 36 c) 100 d) 196

24) Among the expressions (1 3p),[1  (3p)2],[1  (3p)3] and [1  (3p)4] the number of
      factors of [1  81p4]  is/ are ............

a) One b) Two c) Four d) Three

25) {( l + m)2 – 4lm} = ...............

a) (l+ m) 2 b) (l – m) 2 c) 2lm d) -2lm

26) 18x6 – 35 x3 + 12 = ................

a) (2x3 +3) (9x3 – 4) b) (2x4 – 3) (9x2- 4)

c) (2x3 -3)(9x3 – 4) d) (2x3 +3) (9x3 + 4)

27) Find the two numbers which when added, will give the sum(S) and which when
      multiplied, will give the product (P)   S = 21, P = -72

a) -24, 3 b) 24, -3 c) 18, 4 d) -18, 4

28) A river is flowing with a steady speed of 4 km/hr. One rows his boat down-stream in
     the river and then returns by rowing upstream in the same river. When he returns to his
     starting point the total distance covered by him is 42 kms. If return journey takes 2
     hours more than his down - stream journey, then the speed of his rowing in still water
       must be .................

a) 12 km/hr b) 10 km/ hr

c) 9 km/hr d) 8 km/hr
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29) XmoZ Q>o~bm§Mr Am{U Mma IwÀ`mªMr qH$‘V 4088 én ò Amho. Oa VrZ Q>o~bm§Mr Am{U EH$m IwMuMr

     qH$‘V daÀ`m g§» ònojm 516 én`m§Zr H$‘r Amho Va EH$ Q>o~b Am{U EH$ IwMu `m§Mr qH$‘V {H$Vr?

a) 2556 é. b) 2552 é. c) 1532 é. d)1020 é.

30) Oa 2 1
3

6 1
3

x
x x




 


 Va x Mr qH$‘V {H$Vr?

a) 1 b) 3 c) – 3 d) `mn¡H$s H$mhrM Zmhr

31) x2 +ax +b =0  `m g‘rH$aUmMm CH$bg§M { 5, -4 } hm Amho, Va  a +b =..............
a) -21 b) 21 c) -19 d) 1

32) x2 -7x +k = 0 `m g‘rH$aUMr EH$ CH$b 10 Amho Va Xwgar CH$b {H$Vr?
a) 3 b) 13 c) -13 d) -3

33) Imbrb g‘rH$aUmMm CH$bg§M H$mT>m.

x
x

x
x








5

2
3 1
4 2

a) {-9,2} b) { -9} c) { -9, -2} d) { 9}

34) Oa (x2-4)  Am{U (x 3 - 8) Mm ‘.gm.{d. (x - 2)  Amho. Va Ë`m§Mm b.gm.{d {H$Vr Agob?
a) x2 +2x +4 b) (x2– 4) (x3 – 8)
c) (x -2) (x2– 4) d) (x2– 4) (x2 +2x +4)

35) EH$mnojm OmñV CH$br Agbobo g‘rH$aU H$moUVo?
a) x2 +3x +1=0 b) x3 – 3x +1=0
c) x3 – 3x2 +4 =0 d) x3 – 3x2 – 4 =0

36) Imbrbn¡H$s H$moUË`m B§J«Or Ajambm g‘{‘Vr Aj Zmhr?
a) C b) M c) S d) B

37) Imbrbn¡H$s H$moUË`m AmH¥$Vrbm ’$º$ EH$M g‘{‘Vr Aj Amho?

a) Am`V b) AY©dVw©i c) n§MH$moZ d) g‘ ŵO Mm¡H$moZ
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29) The cost of two tables and four chairs is Rs.4088 and the cost of three tables and one
      chair is less than above by Rs. 516, then what is the cost of one table and one chair?

a) Rs.2556 b) Rs.2552 c) Rs.1532 d) Rs.1020

30) If 2 1
3

6 1
3

x
x x




 


 then x is equal to ................

a) 1 b) 3 c) – 3 d)None of these

31) Solution set of equation x2 +ax +b =0 is { 5, - 4 } then a +b = ...............

a) -21 b) 21 c) -19 d) 1

32) One of the solutions of  x2 -7x +k = 0 is 10,then other solution is ................

a) 3 b) 13 c) -13 d) -3

33) What is the solution set of the following equation?

x
x

x
x








5

2
3 1
4 2

a) {-9,2} b) { -9} c) { -9, -2} d) { 9}

34) If H.C.F of (x2-4) and (x 3 -8) is (x-2) then their L.C.M. will be

a) x2 +2x +4 b) (x2– 4) (x3 – 8)

c) (x -2) (x2– 4) d) (x2– 4) (x2 +2x +4)

35) The equation with multiple solutions is ...............

a) x2 +3x +1=0 b) x3 – 3x +1=0

c) x3 – 3x2 +4 =0 d) x3 – 3x2 – 4 =0

36) Which of the following letters of English alphabet does not possess a line
        of symmetry?

a) C b) M c) S d) B

37) Which of the following geometrical figure has exactly one line of symmetry?

a) A Rectangle b) A semicircle

c) A regular pentagon d) A rhombus
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38) eoOmarb AmH¥$VrV AC = CD = DA, AB = BC  Am{U aofm BE

    aofm DA bm b§~ Amho. Oa aofm AE  Mr bm§~r 1 Agob Va {ÌH$moU

      ACD Mo joÌ’$i {H$Vr?a) 3 b) 2 3

c) 3 3 d) 4 3

39) A (Δ ABC) = 676 Mm¡.g|‘r, A (Δ PQR) = 400  Mm¡.g|‘r, QR = 10  g|‘r.

     Oa Δ ABC ∼ Δ PQR, Va BC = .............

a) 13 g|‘r b) 1.3 g|‘r c) 0.13 g|‘r d) 0.013 g|‘r

40) 2 g|‘r Am{U 3 g|‘r {ÌÁ`m§Mr EH$H|$Ðr dVw©io H$mT>br. EH$‘oH$m§er 300 À`m H$moZ H$aUmè`m dVw©i

     H|$ÐmVyZ OmUmè`m aofm H$mT>ë`m Va 2 dVw©io Am{U Ë`m aofm `m‘Yrb ^mJmMr n[a‘rVr {H$Vr?a) 5
6


g|‘r b) 5 12
6

   g|‘r c) 5 12
3

 
g|‘r d) 5 12

12
 

g|‘r

41) {Xboë`m AmH¥$Vr ‘Yo P H|$Ð Agboë`m dVw©imMr 30 go.‘r. {ÌÁ`m Amho

     Oa H§$g QXR = 600, Va a§Jdboë`m ^mJmMo joÌ’$i {H$Vr?

       ( 3  = 1.72,   = 3.14)

a) 303 go.‘r.2 b) 305 go.‘r.2

c) 774 go.‘r.2 d) 471 go.‘r.2

42) eoOmarb AmH¥$VrV dVw©imMm O hm q~Xy H|$Ð Amho. Va  x Mr qH$‘V

     {H$Vr?

a) 10 b) 12

c) 15 d) 20

O
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38) In the diagram, AC = CD = DA, AB = BC and BE is per
       pendicular to DA. If the length of AE is 1, what is the area
      of triangle ACD?a) 3 b) 2 3

c) 3 3 d) 4 3

39) A (Δ ABC) = 676 sq.cm, A (Δ PQR) = 400 sq.cm, QR = 10 cm.

     If Δ ABC ~ Δ PQR, then BC = _________

a) 13 cm b) 1.3 cm c) 0.13 cm d) 0.013 cm

40) Two concentric circles of radius 2cm and 3cm are drawn and if two straight lines are
      drawn through the centre inclined at an angle of 300 , then the perimeter of the portion
      between the straight lines and the two circles is_________.

a) 
5
6


cm b) 
5 12

6
 

cm c) 
5 12

3
 

cm d) 
5 12

12
 

cm

41) In the figure, P is the center of a circle of radius 30 cm. If
measure of arc QXR = 600, then the area of shaded region is______.

( 3  = 1.72,   = 3.14)

a) 303 cm2 b) 305 cm2

c) 774 cm2 d) 471 cm2

42) In the diagram, O is the center of the circle. The value of x is...............

a) 10 b) 12

c) 15 d) 20
O
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43) ABCD hm Am`V Amho. P, Q, R, S ho

     AZwH«$‘o ~mOy AB,  BC, CD Am{U DA daMo

     q~Xy AmhoV. Oa PB = DR Am{U

      BQ = DS Va Mm¡H$moZ PQRS hm ........

    Agob.

a) g‘m§Va ŵO Mm¡H$moZ

b) Am`V

c) g‘ ŵO Mm¡H$moZ

d) g‘pìX ŵO g‘b§~ Mm¡H$moZ

44) ABCD øm g‘b§~ Mm¡H$moZmV AB CD Am{U AB = 2 CD Oa AC Am{U BD  ho H$U© O øm q~Xy

    ‘Ü ò EH$‘oH$m§Zm N>oXV AgVrb Va A (ΔAOB) = ..........

a) ΔCOD b) 2 ΔCOD c) 4 ΔCOD d) 3 ΔCOD

45) Oa KZmMr àË òH$ ~mOy 20% Zr H$‘r Ho$br, Va Ë`mÀ`m n¥ð>’$imV eoH$S>m {H$Vr KQ> hmoB©b?

a) 44 % b) 36 % c) 20 % d) 60 %

46) b§~dVw©imH$ma e§Hy$À`m ~mOyÀ`m n¥ð>^mJmMo joÌ’$i nm`mÀ`m XwßnQ> Amho. Va AY©Cä`m H$moZmMo ‘mn

     {H$Vr?

a) 150 b) 300 c) 450 d) 600

47) 3 g|‘r ì`mgmMm JmobmH$ma M|Sy> {dVidyZ Ë`mMo 3 JmobmH$ma M|Sy> V`ma Ho$bo. Ë`mVrb XmoZ  Jmobm§Mo

    ì`mg AZwH«$‘o 1.5 g|‘r Am{U 2 g|‘r AmhoV, Va {Vg-`m JmobmMm ì`mg {H$Vr?

a) 0.75 g|‘r b) 1.25 g|‘r c) 2.5 g|‘r d) `mn¡H$s EH$hr Zmhr

48) XmoZ e§Hy$À`m qÌÁ`m§Mo JwUmoÎma 2:1Amho. Ë`m§Mo KZ’$i g‘mZ Agob Va C§MtMo JwUmoÎma {H$Vr?

a) 1:8 b) 1:4 c) 2:1 d) 4:1
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43) ABCD is a rectangle, P,Q ,R ,S are
     points taken on the sides AB,BC,CD
     and DA respectively.

     If PB = DR and BQ = DS, then

     quadrilateral PQRS is..........

a) Parallelogram

b) Rectangle

c) Rhombus

d) Isosceles Trapezium

44) In a trapezium ABCD, AB CD  and AB = 2 CD. If the diagonals AC and BD meet at
     O, then A (ΔAOB) is ..........

a) Δ COD b) 2 COD c) 4 Δ COD d) 3Δ COD

45) Each edge of a cube is decreased by 20%. The percentage decrease in surface area is
      ......

a) 44 % b) 36 % c) 20 % d) 60 %

46) If the lateral surface area of a right circular cone is 2 times its base, then the semi
     vertical angle of the cone must be ________.

a) 150 b) 300 c) 450 d) 600

47) A spherical ball 3 cm. in diameter is melted and recast into 3 spherical balls. The
     diameter of two of these is 1.5 cm and 2 cm respectively. The diameter of the third
       is________

a) 0.75 cm b) 1.25 cm c) 2.5 cm d) None of these

48) The radii of two cones are in the ratio 2:1. Their volumes are equal. Find the ratio of
     their heights.

a) 1:8 b) 1:4 c) 2:1 d) 4:1
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49) gaién Úm 
3 2
3 6

4 3
6 2

6
3 2







a) 0 b) 2 3 c)4 3 d) 3

50)  8 2 15 Mo dJ©‘yi H$mT>m.a) 5 3 b) 5 3

c)  5 + 3 d)  5 – 3

51) 3x3 + x2 – 12x – 4   Mm EH$ Ad`d ......... Amho.
a) 3x – 2 b) 3x + 2

c) 3x – 1 d) 3x + 1

52) Oa (x-3)  Zo px3 + 4x2 + 3x - 4  d  x3 - 4x + p  `m XmoÝhr ametZm ^mJbo Va ~mH$s g‘mZ òVo,

     Va p =.........

a) -1 b) 1 c) -2 d) 2

53) Oa 
1 1 1 1

a b x a b x 
     Ooìhm  x o  ,  a o, b o   Va x  = ........

a) a Am{U$ b b) a Am{U –b c) –a Am{U b d) –a Am{U –b

54) 4x2+8x -5  `m g‘rH$aUmÀ`m CH$brÀ`m ~oaOoV Ë`m CH$btMm JwUmH$ma {‘i{dbm Va ~oarO =.......
a) -3 ~amo~a b) -3 nojm ‘moR>m

c) -3 nojm bhmZ d) 
3
4  ~amo~a

55) g‘ ŵO {ÌH$moUmV dVw©i Am§Va{bpIV Ho$bo d Ë`m dVw©imV Mm¡ag Am§Va{bpIV Ho$bm Va {ÌH$moUmMo
    joÌ’$i d Mm¡agmMo joÌ’$i `m§Mo JwUmoÎma {H$Vr ?a) 3

2
b) 3 3 : 2 c) 3 2: d) 3  : 1
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49) Simplify  
3 2
3 6

4 3
6 2

6
3 2







a) 0 b) 2 3 c)4 3 d) 3

50) Find the square root of 8 2 15 a) 5 3 b) 5 3

c)  5 + 3 d)  5 – 3

51) One of the factors of 3x3 + x2 – 12x – 4 is _________

a) 3x – 2 b) 3x + 2

c) 3x – 1 d) 3x + 1

52) If the polynomials px3 + 4x2 + 3x - 4 and x3 - 4x + p are divided by (x-3), then the
     remainder in each is the same. Then the value of p is _______

a) -1 b) 1 c) -2 d) 2

53) If   
1 1 1 1

a b x a b x 
    where x o  ,  a o, b o , then x = ...........

a) a and b b) a and –b c) –a and b d) –a and –b

54) The sum of roots added to the product of the roots of the equation 4x2+8x -5 is

a) equal to -3 b) greater than -3

c) less than -3 d) equal to
3
4

55) A circle is inscribed in an equilateral triangle and a square is inscribed in the circle.
     The ratio of the area of the triangle to the area of the square is ........

a) 3
2

b) 3 3 : 2 c) 3 2: d) 3 : 1
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56) 69 Mo 3 Ago ^mJ nmS>m H$s Vo A§H$J{UV loT>rV AgVrb Am{U XmoZ ‘moR>çm ^mJm§Mm JwUmH$ma 667

    Agob. Va A§H$J{UV loT>rVrb g§»`m =..........
a) 21,23,25 b) 17, 23,29
c) 22,23,24 d) 18, 23, 28

57) x19 +x17 +x13 +x11 + x7 + x5 +x3   øm ~hþnXrg x2 + 1  Zo ^mJë`mg ~mH$s = .......

a) 1 b) x2 +4 c)  x d) x

58) 
a b

a b

n n

n n


 1 1  hm a d b Mm A§H$J{UV‘Ü` Amho Va n Mr qH$‘V = ..............

a) - 1 b) eyÝ` c) + 1 d) H$moUVrhr YZ g§»`m

59) MH«$s` g‘b§~ Mm¡H$moZmMm EH$ H$moZ Xwgè`mÀ`m XwßnQ> Amho Va ‘moR>çm H$moZmMo ‘mn = ...........
a) 600 b) 750 c) 800 d)1200

60) XmoZ g‘ê$n {ÌH$moUm§Mr joÌ’$io AZwH«$‘o 324 go‘r2 Am{U 625 go‘r2 AmhoV Va Ë`m§À`m ~mOy§Mo JwUmoÎma
    {H$Vr?

a) 324:625 b) 18:25 c) 24:25 d) 25:18

61) 184,191,198, ..., 436 `m A§H$J{UV loT>rVrb nXm§Mr g§»`m ...........
a) 36 b) 37 c) 35 d) 38

62) n{hë`m {H$bmo‘rQ>agmR>r [ajmMo ^mS>o é. 17 AgVo Am{U nwT>rb àË òH$ 1 {H$bmo‘rQ>agmR>r é. 12

     AgVo. Va 10 {H$bmo‘rQ>agmR>r ^mS>o {H$Vr ?
a) 250 b) 125 c) 137 d) 248

63) Oa (x+3)  hm (x+1)  Am{U (x+ 6) `m g§»`m§Mm ŷ{‘Vr‘Ü` Amho Va x = .................
a) 3 b)1 c)4 d) AW© ñnï> Ho$bobm Zmhr.

64) Imbrbn¡H$s H$moUVo {dYmZ XmoZ g‘mZ Ad`dm§Mm JwUmH$ma Amho ?
a) x2+5x+25 b) x2+10x+25

c) x2+15x+25 d) x2+20x+25

65) Oa n{hë`m 10 d n{hë`m 100 A§H$J{UV loT>rVrb nXm§Mr ~oarO AZwH«$‘o 100 Am{U 10 Amho. Va
    n{hë`m 110 nXm§Mr ~oarO ......

a)0 b) -90 c) -100 d) -110
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56) Split 69 in to 3 parts such that they are in A.P. and product of two greater parts is
       667. Then numbers in A.P. are _________

a) 21,23,25 b) 17, 23,29

c) 22,23,24 d) 18, 23, 28

57) When the polynomial x19 +x17 +x13 +x11 + x7 + x5 +x3 is divided by x2 + 1, then the
       remainder is ..............

a) 1 b) x2 +4 c)  x d) x

58) 
a b

a b

n n

n n


 1 1  is arithmetic mean of a and b the value of n is ..................

a)– 1 b) Zero c) + 1 d) Any positive fraction

59) One angle of cyclic trapezium is double the other, the measure of larger angle is ....

a) 600 b) 750 c) 800 d)1200

60) The areas of two similar triangles are 324cm2 and 625cm2 respectively. Find the
    ratio of their sides.

a) 324:625 b) 18:25 c) 24:25 d) 25:18

61) Number of terms in A.P. 184,191,198, …, 436 are .........

a) 36 b)37 c) 35 d) 38

62) The Rickshaw fare is Rs.17 for the first kilometer and Rs.12 for each additional
      kilometer what will be the fair for 10 kilometers?

a) 250 b) 125 c) 137 d) 248

63) If (x+3) is the geometric mean of (x + 1) and (x + 6) then x = ...........
a) 3 b)1 c) 4 d) Not definite.

64) Which one of the following can be written as the product of two identical factors?

a) x2+5x+25 b) x2+10x+25

c) x2+15x+25 d) x2+20x+25

65) If the sum of the first 10 terms and the sum of the first 100 terms of a given A.P. are
      100 and 10 respectively, then the sum of the first 110 terms is ..........

a)0 b) -90 c) -100 d) -110
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66) AmH¥$VrV XmI{dboë`m dVw©inmH$irÀ`m AmH$mamV Agbobm H$mJX Jw§S>miyZ b§~dVw©imH$ma e§Hy$ V`ma
     Ho$ë`mg H$moZ x Mr qH$‘V = ..

a) 
10
13


b)
9
13


c)
5
13


d) 
6
13


67) eoOmarb AmH¥$VrV l(AB) =12cm., l(CD) =8cm. l(BD)=20cm,

      ∠ABD=∠AEC=∠ADC =900. Oa BE = x Va x = ……

a) x À`m XmoZ {H$_Vr òVrb, Ë`m§À`mVbm \$aH$ 4 Agob
b) x À`m XmoZ {H$_Vr òVrb d Ë`m§Mr ~oarO 28 Agob
c) x Mr EH$M qH$_V Agob Am{U x 12
d) {Xboë`m _m{hVrdê$Z x Mr qH$_V H$mT>Vm òUma Zmhr

68) 
28

7

5 3

3

a
b

b
a

,   Mm ŷ{‘Vr‘Ü` =

a) 2ab b) 4a2b2 c) 4a2b d) 4ab2

69) 1.6 Am{U 0.9 `m§Mm ŷ{‘Vr‘Ü` =..........
a) 1.2 b) 0.12 c) 0.012 d) 3.6

70) gdm©V bhmZ nm`WmJmoag {ÌHy$Q>m‘Yrb VrZhr g§»`m ........ AgVmV.
a) g‘g§»`m b) {df‘ g§»`m
c) EH$‘oH$s¨À`m gh‘yi g§»`m d) g ẁº$ g§»`m

71) ŷ{‘Vr` loT>rÀ`m n{hë`m 8 nXm§Mr ~oarO Am{U n{hë`m 4 nXm§Mr ~oarO `m§Mo JwUmoÎma 8 : 2 Amho. Va
    Ë`m loT>rMo gm‘mÝ` JwUmoÎma {H$Vr?

a) 2 b) 3 c) 4 d) 6

72) XmoZ A§H$J{UVr loT>tMm gmYmaU ’$aH$ g‘mZ Amho. Ë`m XmoÝhr loT>rVrb 54 ì`m nXm§‘Yrb ’$aH$ 40
    Amho. Va Ë`m XmoZ loT>tÀ`m 216 nXm§‘Yrb ’$aH$ {H$Vr Agob?

a) 160 b) 80 c) 40 d) 20

73) E{àbÀ`m n{hë`m {Xder A{‘VZo 14 én ò dmMdbo, Ë`mZ§VaÀ`m {Xder 18 én ò dmMdbo Am{U
    {Vg`m {Xder 22 én ò dmMdbo. Oa Ë`mZo AemàH$mao n¡go dmMdbo, Va Ë`mÀ`mH$S>o H$moUË`m {Xder
     6480 én ò AgVrb?

a) 24 ‘o b) 25 ‘o c) 30 ‘o d) 31 ‘o
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66)  A piece of paper in the shape of a sector of a circle is rolled to form a right
     circular cone as shown is figure. The value of the angle x is ............a) 10

13
 b) 9

13


c) 5
13
 d) 6

13


67) In the adjoining figure l(AB)=12cm., l(CD)=8cm,
      l(BD)=20cm ∠ABD=∠AEC=∠ADC=900. If BE = x
       then x = ………….

a) x has two possible values whose difference is 4
b) x has two possible values whose sum is  28

c) x has only one value and x 12
d) x cannot be determined with the given information

68) Geometric mean of   
28

7

5 3

3

a
b

b
a

, , is ...........

a) 2ab b) 4a2b2 c) 4a2b d) 4ab2

69) Geometric mean of 1.6 and 0.9 is ...............
a) 1.2 b) 0.12 c) 0.012 d) 3.6

70) Three numbers in smallest Pythagorean triplet are ............
a) Even numbers b) Odd numbers
c) Co-prime numbers of each other d) Composite numbers

71) If the ratio of sum of 1st 8 terms of G.P to sum of first 4 terms of G. P is 8 : 2.  Then
     the common ratio is...........

a) 2 b) 3 c) 4 d) 6

72) Two arithmetic progressions have the same common difference. If the difference
     between their 54th terms is 40, then find the difference between their 216th terms.

a) 160 b) 80 c) 40 d) 20

73) Amit saves Rs. 14 during first day of April, Rs. 18 in the next day and Rs. 22 in
    third day. If he continues his savings in this manner, then on which day he will have
     Rs. 6480 with him?

a) 24 May b) 25 May c) 30 May d) 31 May
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gyMZm

n{hë`m XmoZ g‘rH$aUmdê$Z g§~§Y AmoiIyZ? À`m OmJr g§»`m emoYm.

1. 15 - 2 = 229; 18 - 5 = 349; 12 - 3 = ?

(a) 153 (b) 200  (c) 100 (d) 160

2. 318 × 223 = 636; 15 × 234 = 30; 7 × 245 =?

(a) 13 (b) 14 (c) 10 (d) 11

3. 23 - 18 = 410; 17 - 18 = 89; 69 - 82 = ?

(a) 90  (b) 84 (c) 178 (d) 75

4. 878 - 857 = 12; 1798 - 1497 = 13; 1612 - 1503 =?

(a) 91  (b) 19 (c) 33 (d) 133

5. 5 + 1 = 124; 6 + 2 = 212; 7 + 3 =?

(a) 334 (b) 360 (c) 250 (d) 320

gyMZm

gd©gmYmaU B§J«Or eãXmMo ñnoqbJ H«$‘ ~XbyZ {b{hbo Amho. Va `mo½` eãX AmoiIm.

6. GLUN

7. SASIB

8. ANGLD

~w{Õ_Îmm MmMUr  STAGE - I
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Direction

Find the term from alternatives at question mark ‘?’:

1. 15 - 2 = 229; 18 - 5 = 349; 12 - 3 = ?

(a) 153 (b) 200  (c) 100 (d) 160

2. 318 ×223 = 636; 15 × 234 = 30; 7 ×245 =?

(a) 13 (b) 14 (c) 10 (d) 11

3. 23 – 18 = 410; 17 – 18 = 89 ; 69 – 82 = ?

(a) 90  (b) 84 (c) 178 (d) 75

4. 878 – 857 = 12; 1798 – 1497 = 13; 1612 – 1503 =?

(a) 91  (b) 19 (c) 33 (d) 133

5. 5 + 1 = 124; 6 + 2 = 212; 7 + 3 =?

(a) 334 (b) 360(c) 250 (d) 320

DIRECTION

Below given are the jumbled spellings of commonly known English words. Find correct
word.

6. GLUN

7. SASIB

8. ANGLD

MENTAL ABILITY STAGE – I
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gyMZm
Imbrb AmH¥$VrV H$mhr ‘m{hVr {Xbr Amho. AmH¥$VrVrb àË òH$ ^mJmbm H«$‘m§H$ {Xbm Amho, qH$dm AjamZo

XmpIdbm Amho. AmH¥$Vr d Ë`mV Xe©{dboë`m ‘m{hVrMm Aä`mg H$ê$Z AmH¥$VrImbr {Xboë`m àým§Mr CÎmao

gm§Jm.

dVw©i → {e{jV; Mm¡ag → H$ï>miy; {ÌH$moU → ehar; H$mQ>H$moZMm¡H$moZ → àm‘m{UH$

9. {e{jV, H$ï>miy Am{U àm‘m{UH$ ehar bmoH$ H$moUË`m A§H$mZoo Xe©{dbo AmhoV?

(a) 1 (b) 2 (c) 3 (d) 4

10. H$ï>miy, {e{jV, ehar bmoH$ nU àm‘m{UH$ ZmhrV. Ago H$moUË`m A§H$mZoo Xe©{dbo AmhoV?

(a) 1 (b) 2 (c) 3 (d) 4

11. H$ï>miy d àm_m{UH$ XmoÝhr Zgbobo d ehar Zgbobo {e{jV bmoH$ H$moUË`m A§H$mZo Xe©{dbo AmhoV?

(a) 5 (b) 7 (c) 10 (d) 11

12.  {e{jV ehar bmoH$ Oo àm_m{UH$ ZmhrV Am{U H$ï>miy nU ZmhrV Ago H$moUË`m A§H$mZo Xe©{dbo

        AmhoV?

(a) 2 (b) 4 (c) 6 (d) 9

13.  n«m_m{UH$, {e{jV Am{U H$ï>miy Zgbobo bmoH$ H$moUË`m A§H$mZo Xe©{dbo AmhoV?

(a) 3 (b) 2 (c) 6 (d) 9
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DIRECTION
Diagrams below represent some information or show intersecting figures. Each portion in
the diagram has been numbered or labeled with letter. Study the diagram and information
given along and answer the questions given below the diagram.

Circle : Educated; Square : Hardworking; Triangle : Urban; Rectangle : Honest

9. Educated, Hardworking and Honest Urban people are indicated by:

(a) 1 (b) 2 (c) 3 (d) 4

10. Urban people who are Hardworking and Educated but not Honest are indicated by:

 (a) 1 (b) 2 (c) 3 (d) 4

11. Non-Urban Educated people who are neither Hardworking nor Honest are indicated
by:

(a) 5 (b) 7 (c) 10 (d) 11

12. Urban Educated people who are neither Honest nor Hardworking are indicated by:

(a) 2 (b) 4 (c) 6 (d) 9

13. Honest, Educated and Hardworking Non-Urban people are indicated by:

 (a) 3 (b) 2 (c) 6 (d) 9
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14. ehar Zgbobo, {e{jV d àm_m{UH$ bmoH$ H$moUË`m A§H$mZo Xe©{dbo AmhoV?
a) 2 b) 1 c) 8 d) 9

15. H$ï>miy, àm_m{UH$ nU {e{jV Zgbobo, ehar Zgbobo bmoH$ H$moUË`m A§H$mZo Xe©{dbo AmhoV?
a) 8 b) 9 c) 12 d) 11

16.A{e{jV, ehar Zgbobo nU H$ï>miy qH$dm àm_m{UH$ nU XmoÝhr Zgbobo bmoH$ H$moUË`m A§H$mZo Xe©{dbo
AmhoV?
a) 5 b) 4 c) 3 d) 2

17. àm_m{UH$, {e{jV Am{U H$ï>miy Zgbobo bmoH$ H$moUË`m A§H$mZo Xe©{dbo AmhoV?

a) 12 b) 5 c) 7 d) 10

gyMZm
`m àýmV {Z`‘m§Mm g§M {Xbobm Amho. g§»`m§À`m g§Mm§nwT>o Ë`mg `mo½` Agboë`m {Z`‘m§Mm H«$‘m§H$ {bhm

18. 3 Zo ^mJwZ 1 {‘idm

19. 2 Zo JwUyV dJ© H$am

20. dJ© H$ê$Z 1 dOm H$am

21. dJ© H$ê$Z 3 {‘idm

a) 10, 17,20

b) 52, 67, 84

c) 6, 8, 10

d) 99, 120, 143

e) 36, 100, 196

f) 7, 10, 28

gyMZm :
~mhoarb g§»`m ‘Yë`m g§»`mer g§~§YrV AmhoV. Vmo g§~§Y AmoiIyZ {Xboë`m n`m©̀ mVyZ ‘moH$ù`m OmJm ^am.

22.  20  (150)  15

      12   (?)     8

(a) 34 (b) 56 (c) 48 (d) 36

23.  10  (289)  7

        12  (225)  3

      7    (?)    6

(a) 49 (b) 159 (c) 169 (d) 179
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14. Non Urban, Educated, Honest people are indicated by:
(a) 2 (b) 1 (c) 8 (d) 9

15. Hardworking and Honest but Uneducated, Non-Urban people are indicated by:
(a) 8 (b) 9 (c) 12 (d) 11

16. Urban uneducated people who are neither Honest nor Hardworking are indicated by
 (a) 5 (b) 4 (c) 3 (d) 2

17. Uneducated Non-Urban people who are either Hardworking or Honest but not both
      are indicated by:

(a) 10, 8 (b) 10, 12 (c) 11, 12  (d) 10, 11

Direction
In this question a set of rules is given. Write the letter of the rule applicable to each
number of the group.

18. Divide by 3 and add 1
19. Multiply by 2 and square

20. Square and subtract
21. Square and add 3

a) 10, 17,20

b) 52, 67, 84
c) 6, 8, 10
d) 99, 120, 143

e) 36, 100, 196
f) 7, 10, 28

DIRECTION :
Outer numbers are related to middle ones. Find the relation and fill in the blanks.

22.  20  (150)  15

       12    (?)     8

(a) 34 (b) 56 (c) 48 (d) 36
23.   10  (289)  7

        12  (225)  3

        7     (?)    6

(a)  49 (b) 159 (c) 169 (d) 179
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24.   8   (20)  4

        12  (10)  2

        5   (?)   3

(a)  2 (b) 0 (c) 4 (d)7

25.   86  173  (347)

         63  127  (255)

         32   65     (?)

(a)  131 (b) 129 (c) 125 (d) 135

26. 5  (5)  15

    6   (5)  9

     10  (?)  2

(a) 5 (b) 6 (c) 7 (d) 8

27. 9  (362)  10

      5   (82)    4

     11   (?)     7

(a) 240 (b) 340 (c) 440 (d) 540

gyMZm :AmH¥$VrMm Aä`mg H$ê$Z Imbrb àým§Mr CÎmao Úm.

28) AmH¥$VrV {H$Vr {ÌH$moU AmhoV?

(a)  12    (b) 3 (c) 4   (5) 5

29) AmH¥$VrV {H$Vr dVw©inmH$ù`m AmhoV ?

(a)  12    (b) 3   (c) 4    (d) 5

30) gai aofm§Zr Mm¡agmMo {H$Vr ^mJ Ho$bo AmhoV?

(a)  2    (b) 3    (c) 4     (d) 5
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24.   8   (20)  4

        12  (10)  2

        5   (?)   3

(a)  2 (b) 0 (c) 4 (d)7

25.   86  173  (347)

         63  127  (255)

         32   65     (?)

(a)  131 (b) 129 (c) 125 (d) 135

26. 5  (5)  15

    6   (5)  9

     10  (?)  2

(a) 5 (b) 6 (c) 7 (d) 8

27. 9  (362)  10

      5   (82)    4

     11   (?)     7

(a) 240 (b) 340 (c) 440 (d) 540

DIRECTION :  Observe the figure and answer the question.

28) How many triangles are there in this figure?

(a)  12    (b) 3 (c) 4   (5) 5

29) How many sectors are there in the circle?

(a)  12    (b) 3   (c) 4    (d) 5

30) In how many parts the square is divided by straight lines?

(a)  2    (b) 3    (c) 4     (d) 5
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STAGE - I - General Science - Answers

1 d
2 a
3 b
4 a
5 c
6 d
7 a
8 d
9 c
10 a
11 d
12 c
13 c
14 d
15 a
16 b
17 a
18 d
19 b
20 a
21 d
22 b
23 d
24 c
25 a
26 c
27 d
28 b
29 d
30 b
31 a
32 c
33 b
34 a
35 d
36 a
37 b

38 c
39 d
40 d
41 c
42 d
43 c
44 a
45 c
46 d
47 b
48 a
49 c
50 b
51 c
52 c
53 b
54 a
55 a
56 d
57 b
58 d
59 c
60 d
61 d
62 a
63 c
64 d
65 b
66 c
67 d
68 d
69 a
70 b
71 c
72 a
73 b
74 b

75 c
76 b
77 b
78 c
79 d
80 c
81 c
82 d
83 b
84 a
85 d
86 b
87 b
88 a
89 b
90 d
91 a
92 b
93 a
94 c
95 b
96 d
97 c
98 b
99 c
100 b
101 d
102 b
103 a
104 a
105 d
106 b
107 c
108 a
109 b
110 b
111 a

112 a
113 c
114 d
115 b
116 d
117 d
118 d
119 a
120 b
121 b
122 b
123 c
124 a
125 c
126 d
127 c
128 b
129 b
130 c
131 b
132 a
133 b
134 b
135 c
136 c
137 c
138 c
139 b
140 d
141 c
142 a
143 c
144 b
145 c
146 a

Q. No.       Ans Q. No.       Ans Q. No.       Ans Q. No.       Ans
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1 d
2 a
3 a
4 c
5 a
6 d
7 c
8 c
9 b
10 c
11 a
12 a
13 d
14 d
15 b
16 b
17 d
18 c
19 c

STAGE - I - Mathematics - Answers

20 d
21 b
22 c
23 a
24 a
25 b
26 c
27 b
28 b
29 c
30 d
31 a
32 d
33 b
34 d
35 d
36 c
37 b
38 d

39 a
40 c
41 a
42 b
43 a
44 c
45 b
46 b
47 c
48 b
49 c
50 a
51 d
52 a
53 d
54 c
55 d
56 b
57 c

Q. No.       Ans Q. No.       Ans Q. No.       Ans Q. No.       Ans

58 c
59 d
60 b
61 a
62 b
63 a
64 b
65 d
66 a
67 d
68 a
69 a
70 c
71 b
72 c
73 a

STAGE - I- Mental Ability - Answers

1 a
2 b
3 c
4 a
5 a
6 LUNG
7 BASIS
8 GLAND
9 a
10 b

11 b
12 c
13 d
14 d
15 c
16 a
17 b
18 f
19 e
20 d

Q. No.            Ans Q. No.           AnsQ. No.            Ans

21 b
22 c
23 c
24 d
25 a
26 b
27 b
28 c
29 c
30 b
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STAGE - II
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1) Vwåhr ñdV…bm AmaemV nmhÿ eH$Vm H$maU àH$memMo ........... hmoVo.
a) ‘w»`V… namdV©Z Am{U H$‘r à‘mUmV AdemofU
b) ‘w»`V… namdV©Z Am{U H$‘r à‘mUmV AndV©Z
c) ‘w»`V… AndV©Z Am{U H$‘r à‘mUmV namdV©Z
d) ‘w»`V… AndV©Z Am{U H$‘r à‘mUmV ì`{VH$aU

2) dmñVd à{V‘m Zoh‘r ........... AgVo.
a) CbQ>r d {demb b) CbQ>r
c) gwbQ>r d KQ>rV d) gwbQ>r d {demb

3) AB Am{U AC ho XmoZ gma»`m bm§~rMo Amago EH$‘oH$m§er
   H$mQ>H$moZmV R>odbo AmhoV (AmH¥$Vr nhm). BC hr AmS>dr aofm
   Amho. Oa {H$aU MN hm AB Amaemda nS>Vmo Am{U BC bm
   H$mQ>H$moZmV N>oXVmo, Va ~mhoa nS>Umè`m {H$aUmMr {Xem H$m` Agob?

a) BC bm g‘m§Va Agob
b) AB bm g‘m§Va Agob
c) MN bm {déÕ {XeoZo Agob
d) AC bm g‘m§Va Agob

4) Oa AnmaXe©H$ dñVy, q~XyómoVmÀ`m g‘moa R>odbr Va {VMr N>m`m ...........
a) dñVyÀ`mM ~mOyg nS>ob b) dñVynojm bhmZ Agob
c) dñVynojm ‘moR>r Agob d) a) Am{U c)

5) àH$me{H$aU gnmQ> Amaemda 300 AmnmVZ H$moZmV nS>Vmo. Va namdV©ZmZ§Va Vmo {H$aU ...........
    A§emVyZ di>ob.

a) 900 b) 600 c) 300 d) 1200

6) XmoZ gnmQ >Amago EH$‘oH$m§er 600 H$moZmV R>odbo AmhoV d Ë`m§À`m‘Ü ò EH$ ’y$b R>odbo Amho. Va Ë`m
    ’w$bmÀ`m {H$Vr à{V‘m {XgVrb?

a) 5 b) 2 c) 3 d) 4

7) àH$memÀ`m ........... ebmHo$‘Ü ò gd© {H$aUm§‘Yrb A§Va g‘mZ amhVo.
a) A{^gmar b) Angmar
c) g‘m§Va d) EH$‘oH$m§Zm N>oXUmè`m

gm_mÝ`{dkmZ STAGE - II

M

CB

A

N
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SCIENCE STAGE - II

1) You can  see yourself  in a  mirror  because  of ...........of light.
a) Mainly  reflection  and  small  amount  of  absorption
b) Mainly  reflection  and  small  amount  of  refraction
c) Mainly  refraction  and small  amount  of  reflection
d) Mainly  refraction  and  small  amount  of  interference

2) Real image is always ...........
a) Inverted and Magnified b) Inverted
c) Erect and Diminished d) Erect and Magnified

3) Two plane mirrors AB and AC of equal lengths are
    placed as shown in the figure making an angle of 90

0

    with each other. BC is horizontal. A ray MN is incident
    on the mirror AB and is perpendicular to BC. What
    will be the direction of emergent ray?

a) It will be parallel to BC
b) It will be parallel to AB
c) It will be antiparallel to MN
d) It will be parallel to AC

4)) If opaque object is placed in beam of light originated from point source then shadow
          of object is...........

a) On same side as that of object b) Diminished
c) Magnified d) a) and c)

5) A ray of light is incident on a plane mirror at an angle of 30
0
. The ray after reflection

         is deviated through ...........
. a) 900 b) 600 c) 300 d) 1200

6) Two plane mirrors are set at 600angle and a flower is placed between mirrors. The
        number of images of the flower which can be seen is ...........

a) 5 b) 2 c) 3 d) 4

7) A........... beam is one whose rays remain the same distance apart.
a) Convergent b) Divergent c) Parallel    d) Intersecting

M

CB

A

N
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8) EH$m A§VJm}b Amaemg‘moa Zm^r Am{U Jmobr` H|$ÐmÀ`m‘Ü ò nXmW© R>odbm AgVm nXmWm©Mr à{V‘m
        ........... Aer {‘iVo.

a) Iar, CbQ>r, ‘moR>r b) Iar, CbQ>r, N>moQ>r

c) «̂m‘H$, gwbQ>r, N>moQ>r d) Iar, gwbQ>r, ‘moR>r

9) EH$m gnmQ> Amaemda AmnmVr {H$aU ñV§{^Ho$er S>mì`m ~mOyZo 400 Mm H$moZ H$aVmo. Oa gnmQ> Amagm
   10 A§em§VyZ KS>çmimÀ`m H$mQ>çmÀ`m {XeoZo {’$adbm Va namdV©Z H$moZ ........... Agob.

a) 30o b) 40o c) 60o d) 50o

10) Vwåhr gnmQ >Amaí`m‘Ü ò nm{hë`mda Vw‘Mr à{V‘m Zo‘H$s H$moR>o {Xgob?

a) Amaí`mg‘moa

b) Amaí`mÀ`m ‘mJo ~è`mM A§Vamda

c) Amaí`mÀ`m g‘moa Vwåhr {OVŠ`m A§Vamda AmhmV, {VVŠ`mM A§Vamda Amaí`mÀ`m ‘mJo

d) Amaí`mÀ`m n¥ð>^mJmda

11) XmobZH$mar g¨h{VMm AmdV©H$mb 0.2 go Amho. Ë`mMr Va§J bm§~r 60 g|._r. Amho. Va XmobZH$mar
     g¨h{V‘wio V`ma Pmboë`m Va§JmMm doJ {H$Vr Agob?

a) 30 m/s b) 120 cm/s c) 300 m/s d) 3 m/s

12) f  BVHo$ Zm^r A§Va AgUmè`m A§Vd©H«$ Amaemg‘moa EH$ dñVy A `m {R>H$mUr R>odbr Amho. Oa `m
    dñVyMr dmñVd à{V‘m A `mM {R>H$mUr V`ma hmoVo, Va dñVy Am{U Amagm `mVrb A§Va .........Agob.

a) f b) 2f nojm A{YH$

c) 2f d) 2f nojm H$‘r

13) Jw{UV à{V‘m ........... ‘wio V`ma hmoVmV.

a) namd{V©V àH$memÀ`m AndV©Zm b) namd{V©V àH$memÀ`m nwZ… namdV©Zm

c) namd{V©V àH$me emofyZ KoVë`m d) àH$memÀ`m CËgO©Zm

14) Oa Vwåhr gnmQ> Amaí`mnmgyZ XmoZ ’w$Q>m§da C ô Agmb Va, Vwåhr Am{U Vw‘À`m à{V‘o‘Ü ò {H$Vr A§Va
    Agob?

a) 2 ft b) 6 ft c) 1 ft d) 4 ft
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8) Object is placed in front of concave mirror between focus and centre of curvature.
    Then image is ...........

a) Real, inverted, magnified b) Real, inverted, diminished
c) Virtual, erect, diminished d) Real, erect, magnified

9) A ray of light incident on a plane mirror from left makes an angle of 40o with normal.
   If plane mirror is rotated in clockwise sense through 10o, the new angle of reflection
    will be...........

a) 30o b) 40o

c) 60o d) 50o

10) When you look in the plane mirror where does your image appear to be?
a) Just in front of the mirror
b) At large distance behind the surface of the mirror.
c) An equal distance behind the mirror to what you are in front.
d) On the surface of the mirror.

11) If the period of an oscillating system is 0.2 s and its wavelength is 60 cm, what is the
velocity of the wave formed by the oscillating system?
a) 30 m/s b) 120 cm/s
c) 300 m/s d) 3 m/s

12) The object is placed at a point A in front of a concave mirror of focal length ‘f’. The
image of this object is real and formed at A itself, then the distance between mirror
and object is:
a) f b) Greater than 2f
c) 2f d) Less than 2f

13) Multiple images are formed due to...........

a) Refraction of reflected light b) Reflections of reflected light

c) Absorption of reflected light d) Emission of light.

14) If the distance between you & plane mirror is two ft, then the distance between you
     & your image will be...........

a) 2 ft b) 6 ft c) 1 ft d) 4 ft
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15) gnmQ> Amaí`m‘wio V`ma hmoUmè`m à{V‘oMo `mo½` dU©Z Imbrbn¡H$s H$moUË`m n`m©̀ m‘Ü ò Amho?

a) Am^mgr, gwbQ>r Am{U nXmWm© BVH$sM AmH$mamMr

b) Iar, CbQ>r Am{U nXmWm©nojm bhmZ

c) Am^mgr, CbQ>r Am{U nXmWm©nojm ‘moR>r

d) Iar, gwbQ>r Am{U nXmWm© BVH$sM AmH$mamMr

16) XmoZ gnmQ> Amago EH$‘oH$m§Zm 900 H$moZmV OmoS>bo AmhoV. AmnVr {H$aU n{hë`m AmaemÀ`m ñV§{^Ho$er i
    hm H$moZ H$aVmo. n{hë`m Amaí`mdê$Z namd{V©V hmoUmam {H$aU Xwgè`m Amaemda nS>Vmo Am{U nwÝhm
    namd{V©V hmoVmo. Xwgè`m Amaí`mdê$Z namd{V©V hmoUmè`m {H$aUmMm, Xwgè`m AmaemÀ`m ñV§{^Ho$er hmoUmam
    namdV©Z H$moZ {H$Vr Agob?

a) i b) 2i  c) 90 - i  d) 90-2i

17) 5 g|‘r C§MrMr EH$ dñVy EH$m A§Vd©H«$ Amaemg‘moa 30 g|‘r A§Vamda R>odbr Amho. AmaemMo Zm^r`
    A§Va 10 g|‘r Amho. Va Ë`mÀ`m à{V‘o~Ôb AmnU H$m` åhUy eH$Vmo?

a) dmñVd gwbQ> Am{U Y«wdmnmgyZ AmaemÀ`m g‘moarb ~mOyg 15 g|‘r A§Vamda

b) dmñVd CbQ> Am{U Y«wdmnmgyZ AmaemÀ`m g‘moarb ~mOyg 15 g|‘r A§Vamda

c) Am^mgr CbQ> Am{U Y«wdmnmgyZ AmaemÀ`m ‘mJrb ~mOyg 10 g|‘r A§Vamda

d) Am^mgr gwbQ> Am{U Y«wdmnmgyZ AmaemÀ`m ‘mJrb ~mOyg 30 g|‘r A§Vamda

18) EH$ {H$aU hdoVyZ H$mMoÀ`m {MnoV {eabm AgVm ...........

a) Ë`mMr Va§J bm§~r H$‘r hmoVo Am{U g¨H«$‘UH$mi dmT>Vmo.

b) Ë`mMr Va§J bm§~r dmT>Vo Am{U g¨H«$‘UH$mi H$‘r hmoVmo.

c) Ë`mMr dma§dmaVm dmT>Vo Am{U g¨H«$‘UH$mi ~XbV Zmhr.

d) Va§J bm§~r ~XbV Zmhr Am{U dma§dmaVmhr ~XbV Zmhr.

19) Imbrbn¡H$s H$moUVo {dYmZ MyH$ Amho?

a) ~{hd©H«$ Amaí`mg‘moa H$moUË`mhr {R>H$mUr dñVw R>odbr Var, {Z‘m©U hmoUmar à{V‘mhr Am^mgr
    AgVo.

b) A§Vd©H«$ Amaí`mg‘moa H$moUË`mhr {R>H$mUr dñVw R>odbr Var, {Z‘m©U hmoUmar à{V‘m Iar AgVo.

c) EImÚm dñVwg‘moa, A§Vd©H«$ Amagm EH$m {d{eîQ>ç {R>H$mUr R>odbm AgVm {Z‘m©U hmoUmar à{V‘m
    Am^mgr Am{U {dem{bV AgVo.

d) ~{hd©H«$ Amaem‘wio {‘iUmao {dembZ ho Zoh‘r 1 nojm H$‘r AgVo.
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15) Which of the following best describes the image formed by a plane mirror?

a) Virtual, upright & same size as of object.

b) Real, inverted & reduced.

c) Virtual, inverted & enlarged.

d) Real, upright & the same size as of object.

16) Two plane mirrors are joined such that angle between them is 900. An incident ray
       makes angle ∠i with normal to the first mirror. The reflected ray from first mirror
          falls on the second mirror. It reflects again. The angle of reflection of the ray reflected
         by second mirror with normal to second mirror is ...........

a) i b)  2i c)  90 - i d)  90-2i

17) An object 5 cm in height is placed at a distance 30 cm from a concave mirror of  focal
     length 10 cm. Then we can say about image ...........

a) Real, erect, at 15 cm from pole on front side of the mirror.

b) Real, inverted and at 15 cm from pole on front side of the mirror.

c)  Virtual, inverted and at 10 cm from pole behind the mirror.

d)  Virtual, erect and at 30 cm from pole behind the mirror.

18) When a ray of light enters a glass slab from air...........

a) Its wavelength decreases & time of transit increases.

b) Its wavelength increases & time of transit decreases.

c) Its frequency increases & time of transit remains the same.

d) Neither wavelength nor frequency changes.

19) Which of the following statements is NOT correct?

a) A convex mirror forms virtual images for all positions of the object.

b) A concave mirror forms real images for all positions of the object.

c) A concave mirror, if suitably placed in front of an object, can from a virtual
   magnified image.

d) The magnification produced by a convex mirror is always less than unity.
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20) àH$memÀ`m A{Z`{‘V namdV©Zm‘Ü ò Oar AmnVr{H$aU g‘m§Va Agbo Var namd{V©V {H$aU g‘m§Va
     ZgVmV, H$maU ...........

a) Vo namdV©ZmMo {Z`‘ nmiV ZmhrV.
b) Vo g‘m§Va AgVmV, nU Amnë`mbm Vo g‘m§Va {XgV ZmhrV.
c) àË òH$ {H$aUmMm AmnmVr H$moZ hm doJim AgVmo, Ë`m‘wio Ë`mMm namdV©ZmMm H$moZhr doJim

           AgVmo.
d) namdV©ZmMo {Z`‘ ho ’$º$ {Z`{‘V namdV©ZmgmR>rM AmhoV.

21) Oa EH$ ‘mUyg Am{U gnmQ> Amagm ho EH$‘oH$m§H$S>o V `m JVrZo YmdV AmhoV, Va V`ma hmoUmè`m
     à{V‘oMm doJ H$m` Agob?

a) V b) 2V c) 3V d) 4V

22) O hr EH$ dñVy M `m Amaemg‘moa 30 cm A§Vamda R>odbr Amho. Oa Ë`m dñVynmgyZ Amagm 10 cm

    A§Va Xya Zobm Va Ë`m dñVyMr à{V‘m Am{YÀ`m à{V‘onojm {H$Vr A§Va Xya OmB©b?
a) 10 cm b) 20 cm c) 30 cm d) 15 cm

23) EH$m àH$me {H$aUmMm gnmQ> Amaem‘wio hmoUmè`m namdV©ZmMm H$moZ 57o Amho. ........... A§emVyZ
     Amagm {’$a{dë`mg namd{V©V {H$aU 20o A§emVyZ {\$aob.

a) 10o b) 20o c) 134o d) 15o

24) EH$m A§Vd©H«$ Amaí`mMo Zm^r` A§Va 10 cm Amho. nmÊ`mMm And©VZm§H$ 4/3 Amho. Va Ë`m Amaí`mMo
    nmÊ`mVrb Zm^r` A§Va {H$Vr Agob?

a) hdoVrb Zm^r` A§Vamnojm OmñV. b) hdoVrb Zm^r` A§Vamnojm H$‘r.
c) hdoVrb Zm^r` A§Vam BVHo$M. d) nmÊ`mÀ`m KZVoda Adb§~yZ Amho.

25) EH$ ì`º$s Amaemg‘moa C^r AgVm, {VMr à{V‘m bhmZ d gwbQ>r {XgVo Va Amagm ...........Agob.
a) ~{hd©H«$ b) A§Vd©H«$
c) gnmQ> d) darb n¡H$s H$moUVmhr Zmhr

26) A§Vd©H«$ Amaemda nS>Umao {H$aU dH«$Vm H|$Ðm‘YyZ 'C' OmV AgVrb Va Ë`m§Mo namdV©Z ........ Agob.
a) ‘w»` Ajmbm g‘m§Va b) Zm^r` q~Xy‘YyZ (F)

c) dH«$Vm H|$Ðm‘YyZ (C) d) ‘w»` Ajmdê$Z

27) A§Vd©H«$ Amagm nXmWm©nojm {VßnQ> ‘moR>r à{V‘m V`ma H$aVmo. Oa Ë`m nXmWm©Mo Amaí`mnmgyZMo A§Va
       20cm Agob, Va Ë`m Amaí`mMo Zm^r` A§Va {H$Vr Agob?

a) 15 cm b) 10 cm c) 20 cm d) 5 cm
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20) In case of irregular reflection of light, the reflected rays are not parallel though incident
      rays are parallel. This is because...........

a) They do not follow laws of reflection.
b) Actually they are parallel but we cannot see them like parallel.
c) The angle of incidence is different for each ray, so angle of reflection is

               different.
d) The laws of reflection are followed only for regular reflection.

21) A plane mirror & a person are moving towards each other with velocity V. What
      is the speed of the image?

a) V b) 2V c) 3V d) 4V

22) An object O is kept 30 cm in front of a plane mirror M. If the mirror is now moved
      10 cm away from the object, by how much the image shifts from its previous position.

a) 10 cm b) 20 cm c) 30 cm d) 15 cm

23) Angle of reflection of a light ray due to a plane mirror is 57o. The reflected ray deviates
      through  20o if the plane mirror is rotated through ...........

a) 10o b) 20o c) 134o d) 15o

24) A concave mirror of focal length 10 cm is placed in water. The refractive index of
the water is 4/3. What will be the focal length of the mirror in the water?
a) Greater than that of in air. b) Less than that of in air.
c) Same as that of in air. d) Depends upon density of water.

25) A person standing in front of a mirror finds that his image is smaller than himself  and
      erect. This implies the mirror is:

a) Convex        b) Concave        c) Plane d) None of the above

26) If a ray passes through center of curvature ‘C’ in front of a concave mirror its
      reflection is ...........

a) parallel to principle axis b) through focal point (F)
c) through center of curvature (C) d) on the principle axis

27) A concave mirror forms an image three times larger than object when it is at distance
      20 cm. then the focal length of the mirror is...........

a) 15 cm b) 10 cm c) 20 cm d) 5 cm
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28) EH$ gwà{gÕ OmXwJmamZo 56mm C§MrMm drOoMm {Xdm 62cm Zm^r` A§Va AgUmè`m A§Vd©H«$
     Amaí`mg‘moa 124cm A§Vamda R>odbm Amho. Va V`ma hmoUmar à{V‘m ........... Aer Agob.

a) gwbQ>r, Iar Am{U 56mm C§M
b) CbQ>r, A^mgr Am{U 112mm C§M
c) gwbQ>r, A^mgr Am{U 112mm C§M
d) CbQ>r, Iar Am{U 56mm C§M

29) 6cm C§Mr AgUmam nXmW©, 20cm Zm^r` A§Va AgUmè`m Amaí`mnmgyZ 40cm BVŠ`m A§Vamda
    R>odbm Amho. Va Ë`mMr Iar à{V‘m H$moR>o V`ma hmoB©b?

a) Amaí`mÀ`m ‘mJo 20cm BVŠ`m A§Vamda
b) Amaí`mÀ`m ‘mJo 40cm BVŠ`m A§Vamda
c) Amaí`mÀ`m g‘moa 20cm BVŠ`m A§Vamda
d) Amaí`mÀ`m g‘moa 40cm BVŠ`m A§Vamda

30) 2cm C§Mr AgUmam nXmW©, EH$m Jmobr` Amaí`mg‘moa 5cm BVŠ`m A§Vamda R>odbm AgVm, Ë`mÀ`m
    à{V‘oMr C§Mr 6cm AgVo, Va Ë`mMo Zm^r` A§Va {H$Vr Agob?

a) 3.25 cm b) 2.50 cm c) 3.75 cm d) 2.25 cm

31)12cm BVH$s dH«$Vm {ÌÁ`m AgUmam ~{hd©H«$ Amagm, nXmWm©À`m {Zåå`m AmH$mamMr à{V‘m V`ma
    H$aVmo, Va nXmWm©Mo Amaí`mnmgyZMo A§Va H$m` Agob?

a) 18 cm b) 12 cm c) 6 cm d) 24 cm

32) 6cm {ÌÁ`m AgUmam MH$MH$sV Jmoim ImobrÀ`m H$monè`mV Q>m§Jbobm Amho, Va Ë`mnmgyZ 18cm

    A§Vamda AgUmè`m nXmWmªÀ`m à{V‘oMo {dembZ H$m` Agob?
a) 1/5 cm b) 6/5 cm c) 1/7 cm d) 18/5 cm

33) 5cm C§MrMr dñVy, 30cm dH«$Vm {ÌÁ`m AgUmè`m A§Vd©H«$ Amaí`mnmgyZ 25cm A§Vamda R>odbr
    Amho. Va V`ma hmoUmè`m à{V‘oMr C§Mr H$m` Agob?

a) 17.5 cm b) 12.5 cm c) 9.5 cm d) 7.5 cm

34) hdoVyZ àdmg H$aUmè`m àH$memZo nmÊ`mV àdoe Ho$bm, Va àH$memMo Imbrbn¡H$s H$moUVo JwUY‘©
    ~XbUma ZmhrV ?

a) doJ Am{U Am`m‘. b) dma§dmaVm Am{U a§J.
c) Am`m‘ Am{U Va§J bm§~r. d) Va§J bm§~r Am{U a§J.
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28) A famous magician places a 56 mm tall light bulb at a distance of 124 cm from a
    spherical concave mirror of focal length of 62 cm. What will be the size & nature of the
     image?

a) Erect, real & 56 mm tall

b) Inverted, virtual& 112 mm

c) Erect, virtual & 112 mm

d) Inverted, real & 56 mm

29) An object, whose height is 6 cm, is placed at a distance 40 cm from mirror of focal
    length 20 cm. Where will the real image be formed?

a) The image will appear on the backside of the mirror at 20 cm.

b) The image will form on the backside of the mirror at 40 cm.

c) The image will form in front of the mirror at 20 cm.

d) The image will form in front of the mirror at 40 cm.

30) An object of 2 cm height is placed 5 cm in front of spherical mirror. If the image of
    that object is 6 cm in height, what is the focal length of the mirror?

a) 3.25 cm b) 2.50 cm c) 3.75 cm d) 2.25 cm

31) Convex mirror having radius of curvature 12 cm, produces the image of half of the
    original size. What will be the object distance from mirror?

a) 18 cm b) 12 cm c) 6 cm d) 24 cm

32) A shiny spherical ball of 6 cm radius hanged in the corner of the room. Then what
    will be the magnification of image formed of an object at 18 cm from that ball?

a) 1/5 cm b) 6/5 cm c) 1/7 cm d) 18/5 cm

33) An object of size 5 cm is placed at a distance 25 cm from the pole of concave mirror
    of radius of curvature 30 cm. Calculate the size of the image formed?

a) 17.5 cm b) 12.5 cm c) 9.5 cm d) 7.5 cm

34) Light travelling from air enters water; which of the following characteristics of light
    will remain unchanged?

a) Velocity and amplitude. b) Frequency and color.

c) Amplitude and wavelength. d) Wavelength and color.



- 102 -

35) {dembZ Oa EH$mnojm OmñV Agob Va Vo ........... Xe©{dVo.
a) Zoh_rMr dmñVd à{V_m
b) à{V‘oMm AmH$ma hm dñVyÀ`m AmH$mamnojm bhmZ
c) dñVyMm AmH$ma hm à{V‘oÀ`m AmH$mamnojm bhmZ
d) à{V‘oMm d dñVyMm AmH$ma gmaImM

36) f BVHo$ Zm^r` AV§a AgUmam ~{hd©H«$ Amagm EH$m nXmWm©Mr 1/n BVHo$ {dembZ AgUmar à{V‘m V`ma
   H$aVmo. Va Vmo nXmW© ~{hd©H«$ Amaí`mnmgyZ .......... BVŠ`m AV§amda Agob.

a) f(n-1/n) b) f(n+1/n)  c) f/(n-1) d) f(n-1)

37) 20cm {ÌÁ`m AgUmè`m ~{hd©H«$ Amaí`mg‘moa EH$ nXmW© 15 cm AV§amda R>odbm Amho. Ë`mnmgyZ
    V`ma hmoUmar à{V‘m ~{hd©H«$ Amaí`mnmgyZ .......... BVŠ`m AV§amda Agob.

a) 15 cm b) 10 cm c) 6 cm d) 12 cm

38) YmVwMm gyMr gÑe nXmW© A§Vd©H«$ Amaí`mg‘moa R>odbm AgVm, Ë`mMr {dembrV Am{U CbQ>r à{V‘m
     {‘iVo. à{V‘oMr OmJm name` Xya H$aÊ`mÀ`m nÕVrZo {Z{üV Ho$br OmVo. `mgmR>r à{V‘m Xe©{dUmar
     YmVwMr gyMr Amaí`mg‘moa ‘w»` Ajmda R>odbr. name` Xya H$aÊ`mgmR>r Ogo nmhVmV, Vgo nm{hbo
    AgVm à{V‘mgyMrÀ`m VwbZoV à{V‘m OmñV hmbVo. Va name` Xya H$aÊ`mgmR>r................

a) à{V‘mgyMr AmaemH$S>o hbdmdr bmJob.
b) à{V‘mgyMr AmaemnmgyZ Xya hbdmdr bmJob.
c) nXmW© AmaemH$S>o hbdmdm bmJob.
d) nXmW© AmaemnmgyZ Xya hbdmdm bmJob.

39) àH$memMm hdoVrb doJ 3x108m/s Am{U Va§J bm§~r 57000A BVH$s Amho. Oa Ë`mMm H$mMoVrb doJ
      2x108m/s Agob, Va Ë`m H$mMoVrb Va§J bm§~r ...........

a) 38000A b) 85500A

c) H$mhrhr Agy eH$Vo. d) dmVmdaUmda Adb§~yZ Agob.

40) àH$me{H$aU H$mMoVyZ hdoV OmVmZm, Ë`mMm AmnmVrH$moZ θ1 Am{U AndV©Z H$moZ θ
2
 Amho. Va .......

a) θ1 = θ2 b) θ1>θ2 c) θ2>θ1 d) θ2 = θ1 / µ

41) ObVaU VbmdmMr Imobr 8m BVH$s Amho. Va Ë`m VbmdmMr Am^mgr Imobr {H$Vr Agob?

     (
w

µ
a
= ¾ )

a) 6 m b) 4 m c) 3 m d) 5 m



- 103 -

35) Magnification greater than unity indicates ...........

a) Always real image

b) Size of the image is smaller than that of object

c) Size of the object is smaller than that of the image

d) Size of object is equal to that of image

36) A convex mirror of the focal length ‘f’ forms an image of an object with magnification
    1/n. Then the object distance is...........

a) f(n-1/n) b) f(n+1/n) c) f/(n-1) d) f(n-1)

37) If an object is placed at a distance of 15 cm in front of the convex mirror of radius
    20 cm. What is the image distance?

a) 15 cm b) 10 cm c) 6 cm d) 12 cm

38) An object pin is placed in front of a concave mirror and its magnified inverted image
    is seen. Image position is located by removing parallax. The image pin is place
    in front of the mirror on principle axis. Now the eye is moved about principle  axis and
    it is seen that image moves more relative to image pin. Then to remove parallax ...........

a) Image pin needs tobe moved towards the mirror.
b) Image pin needs to be moved away from the mirror.
c) Object is moved towards the mirror.
d) Object is moved away from the mirror.

39) The velocity of light in air is 3 x 108 m/s and the wavelength is 57000A. If the velocity
    of light in glass 2 x 108 m/s, then wavelength in glass is...........

a) 38000A
b) 85500A
c) Anything.
d) Depends upon environment.

40) Light ray is passing from glass to air. If an angle of incidence is θ
1
 and angle of

     refraction is θ
2
 then ...........

a) θ1 = θ2 b) θ1>θ2 b) θ2>θ1 d) θ2 = θ1 / µ

41) What is the apparent depth of swimming pool, whose real depth is 8m?  (wµa= ¾ )
a) 6 m b) 4 m c) 3 m d) 5 m



- 104 -

42) XmoZ ‘mÜ`‘m§n¡H$s, Xwgè`m ‘mÜ`‘m§Mm n{hë`m ‘mÜ`‘mer AgUmam AndV©Zm§H$ 
1
µ

2
 Amho. Va 

2
µ

1

    Am{U 
3
µ

2
 Mm JwUmH$ma H$m` Agob?

a) 2
µ

3 b) 3
µ

1 c) 3
µ

2 d) 1
µ

3

43) hdoVyZ OmUmè`m àH$me {H$aUmMr Va§J bm§~r 6000A0 BVH$s Amho. Á`m doir hmM {H$aU doJù`m
    ‘mÜ`‘m‘YyZ àdmg H$aVmo, Ë`mdoir Ë`mMr Va§J bm§~r 4500A0  hmoVo. Va Ë`m ‘mÜ`‘mMm AndV©Zm§H$
    H$m` Agob?

a) 1.2 b) 1.4 c) 1.5 d) 1.33

44) nmÊ`mMm hdoer {ZJS>rV AgUmam AndV©Zm§H$ 4/3 BVH$m Amho. H$mMoMm hdoer {ZJS>rV AgUmam
     AndV©Zm§H$ 3/2 Amho. Va nmÊ`mMm H$mMoer {ZJS>rV AgUmam AndV©Zm§H$ H$m` Agob?

a) 
8
9 b) 

9
8 c) 2 d) 0.5

45)20 g|‘r Zm^r` A§Va AgUmè`m ~{hd©H«$ q^JmnmgyZ 10 g|‘rda EH$ nXmW© R>odbobm Amho. Va
    {‘iUmè`m à{V‘oMo {dembZ H$m` Agob?

a)1 b) 3 c) 2 d) 4

46) ~{hd©H«$ qH$dm A§Vd©H«$ q^JmMr dH«$Vm {ÌÁ`m H$‘r Ho$br AgVm ...........
a) Zm^r` bm§~r H$‘r hmoVo.
b) Zm^r` bm§~r dmT>Vo.
c) Zm^r` A§Va dH«$Vm {ÌÁ òda Adb§~yZ Zmhr.
d) ~{hd©H«$q^JmgmR>r Zm^r` A§Va H$‘r hmoB©b Am{U A§Vd©H«$q^JmgmR>r dmT>ob.

47) 5D Am{U -2.5D eº$sMr XmoZ q^Jo EH$‘oH$m§Zm {MH$Q>dyZ R>odbr AmhoV. Oa nXmW© `m àUmbrnmgyZ
     20 go‘r BVŠ`m A§Vamda R>odbm Agob, Va à{V‘oMo A§Va {H$Vr Agob?

a) 40 cm b) 100 cm c) 50 cm d) 80 cm

48) g§hV hm`S´moŠbmo[aH$ AmåbmnmgyZ Šbmo[aZMr {Z{‘©Vr H$aVmZm MnO
2
 Mo H$m ©̀ ............. åhUyZ AgVo.

a) CËàoaH$ b) {da§OH$ c) Am°pŠgS>rH$maH$ d) jnUH$

49) Vrd«VoZo VmndyZgwÕm Imbrbn¡H$s H$moUË`m YmËdr` H$m~m}ZoQ>‘YyZ H$m~©Z S>m`Am°ŠgmBS> dm ỳ ~mhoa nS>V

    Zmhr?

     a) CaCO
3

 b) ZnCO
3

c) Na
2
CO

3
d) CuCO

3
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42) The refractive index of medium 2 with respect to medium 1 is 
1
µ

2
. Then product of

          2
µ

1
and 

3
µ

2 
is ..........

a) 2µ3 b) 3µ1 c) 3µ2 d) 1µ3

43) Wavelength of the light ray passing through air is 6000 A0. If the wavelength of the
    same ray becomes the 4500 A0, while passing through another medium, calculate
     R.I. of that medium.

a) 1.2 b) 1.4 c) 1.5 d) 1.33

44) The refractive index of water with respect to air is 4/3 and the refractive index of
      glass with respect to air is 3/2. Calculate the refractive index of water with respect to
       glass.

a) 
8
9 b) 

9
8 c) 2 d) 0.5

45) An object is placed at a distance 10 cm from convex lens of focal length 20 cm
      Calculate the magnification of image.

a)1 b) 3 c) 2 d) 4

46) If the radii of curvatures of double convex or concave lens decrease then______.
a) Focal length decreases.
b) Focal length increases.
c) Focal length does not depend upon radii.
d) Focal length decreases for convex and increases for concave.

47) Two lenses of power 5D & -2.5D are placed in contact with each other. If an object  is
       at distance 20 cm from this combination, then calculate the image distance?

a) 40 cm b) 100 cm c) 50 cm d) 80 cm

48) In the preparation of chlorine from concentrated hydrochloric acid, MnO
2
 acts as

a) catalyst b) bleaching agent
c) oxidizing agent d) reducing agent

49) Which of the following metal carbonates does not evolve carbon dioxide even on
strong heating ?
  a) CaCO

3
                 b) ZnCO

3
c) Na

2
CO

3
d) CuCO

3
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50) Ca ( OCl ) Cl   hm H$moUË`m àH$maMm jma Amho ?

a) AmåbY‘u jma b) AëH$Y‘u jma c) {‘l jma d) gm‘mÝ` jma

51) Ooìhm .......... Voìhm ’w$bdUmam jma gdm©V OmñV ’w$bdÊ`mMr j‘Vm XmIdVmo.

a) Vmn‘mZ Cƒ AgVo. b) dmVmdaU AmÐ© AgVo

c) jmam‘Ü ò nmÊ`mMm g‘mdoe OmñV AgVmo. d) jmam‘Ü ò ñ’${Q>H$Ob AgVo.

52) Imbrbn¡H$s H$moUVr {H«$`m hm`S´moOZ dm ỳ {Z‘m©U H$arb ?

a) AmåbmMr Am°ŠgmB©S>darb {H«$`m b) AmåbmMr YmVwdarb {H«$`m

c) Amåbm[aMo AmåbmH$Sy>Z CXmgrZrH$aU d) Amåbm[aMr YmVwdarb {H«$`m

53) Ag§V¥á hm`S´moH$m~©Z ........... A{^{H«$`m XmIdVmo.

A) à{V`moOr ~) {dbmonZ H$) g‘mdoer S>) {dKQ>Z

54) Imbrbn¡H$s H$moUVm hm`S´moH$m~©Z à{V`moOr A{^{H«$`m XmIdob?

    a) C
2
H

2
               b) C

3
H

6
c) C

4
H

10
                   d)  C

5
H

10

55) BWmB©Z, àmonmB©Z Am{U ã ẁQ>mB©Z ho ......... ‘m{bH$m V`ma H$aVmV.

A) {H«$`merbVm ~) {dÚwV amgm`{ZH$ H$) àH$mer` S>) g‘OmVr`

56) EH$ AmåbY‘u dm ỳ A Ooìhm§ Amåb ẁº$ nmoQ>°{e`‘ S>m`H«$mo‘oQ>À`m ÐmdUmVyZ àdm{hV Ho$bm OmVmo Voìhm Vo

ÐmdU {hado hmoVo. Va A dm ỳ H$moUVm?

 a) NH
3

 b) Cl
2

  c) HCl d) SO
2

57) C
2
H

6
 ho aoUygwÌ Agboë`m BWoZ‘Ü ò ......... ghg§̀ yO ~§Y AmhoV.

     a) 6  b) 7 c) 8 d)  9

58) ã ẁQ>°ZmoZ ho 4 H$m~©Z AUy Agboë`m g|{Ð` g§̀ yJ Amho. Ë`mMm {H«$`mË‘H$ JQ> ............ Amho.

a) H$m~m}pŠP{bH$ Amåb b) AmëS>ohmBS>

c) {H$Q>moZ d) AëH$mohmob
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50) what is the type of Ca ( OCl ) Cl  salt ?
 a) acidic salt b) basic salt
c) mixed  salt d) normal salt

51) Efflorescent salt shows maximum efflorescence when  ...........
a) the temperature is high
b) atmosphere is humid
c) its water content is high
d) it has water of crystallization

52) Which of the following actions will evolve hydrogen gas ?
 a) action of acid on an oxide
b) action of acid on  a metal
c) neutralization of an alkali by an acid
d) action of an alkali on a metal

53) Unsaturated hydrocarbons undergo  ...........   reaction.
a) substitution b) elimination
c) addition d) decomposition

54) Which of the following hydrocarbons will show substitution reaction ?
  a) C

2
H

2
b) C

3
H

6
c) C

4
H

10
        d)  C

5
H

10

55) Ethyne, propyne and butyne  constitute a  ...........   a series.
 a) activity b) electrochemical
c) optical d) homologous

56) An acidic gas A, when passed through an acidified solution of potassium dichromate,
    makes the solution green. Which  gas is A ?

 a) NH3  b) Cl2  c) HCl d) SO2

57 ) Ethane with the molecular formula C
2
H

6 
 has  ...........   covalent bonds.

 a) 6  b) 7 c) 8  d)  9

58) Butanone is an organic compound  containing 4 carbon atoms. It has the functional
group ...........
 a) carboxylic acid b) aldehyde
 c) ketone d) alcohol
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59) H$m~©Z Anê$nVm XmIdVmo. `m g§X^m©V Imbrbn¡H$s H$moUVo H$maU ~amo~a Zmhr ?
a) Vmo doJdoJù`m nÜXVtZr ~ZdVm òVmo

b) Ë`mÀ`m àË òH$ ê$nmV aoUy‘Ybr AUy§Mr ‘m§S>Ur doJdoJir AgVo

c) Vmo V`ma H$aVmZm Ë`mÀ`m àË òH$ ê$nmV Agbobr COm© doJdoJir AgVo

d) Vmo YmVy Am{U AYmVy `m§À`m ~amo~a ‘Ü ò R>odbm Jobm Amho.

60) H$m~©Z S>m`Am°ŠgmB©S> dm ỳbm h[aVJ¥h dm ỳ åhUVmV. h[aVJ¥h n[aUm‘m‘Ü ò Ë`mMo H$m ©̀ H$m` AgVo ?
a) Vmo Adaº$ {H$aU JmiVmo Am{U n¥ÏdrMo CîUVonmgyZ g§ajU H$aVmo

b) Vmo Adaº$ {H$aU nH$Sy>Z R>odVmo Am{U n¥Ïdr Am{U dmVmdaUmbm CîUVm XoVmo

c) Vmo O§~wbmVrV {H$aU emofyZ KoVmo Am{U Ja‘ Pmbobr n¥Ïdr W§S> H$aVmo

d) Vmo gỳ m©H$Sy>Z òUmao O§~wbmVrV, Ññ` Am{U Adaº$ {H$aU doJio H$aVmo Am{U n¥Ïdrda Ë`m§Mo
    g‘à‘mUmV dmQ>n H$aVmo

61) Zm`{Q´H$ Amåb V`ma H$aÊ`mÀ`m à`moJemioVrb nÕVrV g§hV gëâ ẁ[aH$ Amåb Am{U gmo{S>A‘ Zm`QóQ>
     `m§Mo {‘lU 2000 Vmn‘mZmÀ`m da Vrd«VoZo VmndV ZmhrV H$maU .............

a) V`ma Pmboë`m Zm`{Q´H$ AmåbmÀ`m dm’$m jaUH$mar AgVmV Am{U Cƒ Vmn‘mZmbm Ë`m gm{hË`mMm
     Zme H$aVmV
b) Zm`{Q´H$ AmåbmMm a§J {ndim AgVmo Vmo ~XbyZ Vn{H$ar hmoVmo

c) Zm`{Q´H$ Amåb ho gëâ ẁ[aH$ Amåbmbm {dñWm{nV H$aob Am{U Vo ^m§S>çmV Jmoim Ho$bo OmB©b

d) V`ma Pmboë`m Zm`{Q´H$ AmåbmMo {dKQ>Z hmoD$Z dm ỳ NO
2
 {‘iob

62) XmoZ ‘ybÐì ò A Am{U B AZwH«$‘o nmÊ`mImbr Am{U Ho$amogrZ VobmImbr R>odbr AmhoV. àË òH$ ‘ybÐì`mMm
     EH$ N>moQ>m VwH$S>m Oa hdoV CKS>m R>odbm Va XmoÝhr VwH$S>o hiyhiy Ja‘ hmoVmV Ë`m§Mo CËnmX nmÊ`mV
     {daKidbo AgVm A À`m AdeofmMo ÐmdU AmåbY‘u Amho Ago {XgyZ Ambo Va B À`m AdeofmMo ÐmdU
     AëH$Y‘u Amho Ago {XgyZ Ambo hr ‘ybÐì ò AZwH«$‘o H$moUVr AgVrb ?
    a) C Am{U Li              b) P Am{U Na               c) Ca Am{U Mg           d) Al Am{U S

63) Imbrb g§̀ wJmMo IUPAC Zmd H$m` ?

H
3
C

             |
  H

3
C – CH – CH = CH

2 
– CH

3

a) 5 - ‘o{Wb - n|Q> - 2 - AmB©Z b) 4 - ‘o{Wb - n|Q> -2- BZ

c) n|Q>- 1 - AmB©Z - 3 - BZ d) hoŠg - 2 - BZ
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59) Carbon shows the phenomenon of allotropy. In this context, which of the following
      reasons is not correct ?

a) It can be formed by different methods.
b) In each form, it has different atomic arrangement in the molecule.
c) During its preparation, each form has different amount of energy with it.
d) it is placed exactly between metals and non-metals .

60) Carbon dioxide is called greenhouse gas. What does it do in greenhouseeffect ?
a) It filters the infrared rays and protects the earth from heating.
b) It traps the infrared rays and heats the earth and atmosphere.
c) It absorbs the ultraviolet rays and cools down the hot earth.
d) It separates out ultraviolet, visible and infrared rays coming from Sun and
    distributes them evenly on the earth surface.

61) In the laboratory method of preparation of nitric acid, a mixture of concentrated
     sulphuric acid and sodium nitrate is not heated very strongly above 2000C
        because............

a) the nitric acid vapours formed are corrosive and destroy materials at high
   temperature
b) the nitric acid changes its colour from yellow to brown.
c) the nitric acid may displace sulphuric acid which will be collected in the receiver
d) the nitric acid formed may decompose to form NO

2

62) Two elements A and  B are stored under water and kerosene respectively. When a
      small piece of each element is left in the open air, both start  warming up. The product
     in each case is dissolved in water . The solution from the residue of A was

   found to be acidic while that of B was basic. The elements are  ...........  respectively.
a) C and Li  b) P and Na
 c) Ca and Mg d) Al and S

63) What is the IUPAC name of the following compound?

H
3
C

             |

  H
3
C – CH – CH = CH

2 
– CH

3

a) 5 – methyl –pent – 2 –yne b) 4 – methyl – pent – 2 – ene

c) pent – 1 – yne – 3 – ene d) hex – 2 – ene
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64) {dab hm`S´moŠbmo[aH$ Amåb Am{U {dab gëâ ẁ[aH$ Amåb XmoÝhrhr ÐmdUo a§JhrZ AmhoV Imbrbn¡H$s

     H$moUVo ÐmdU Ë`m XmoÝhr‘Yrb ’$aH$ Xe©dy eHo$b ?

        a) FeCl
2               

b) BaCl
2
             c) CuCl

2       
             d) AlCl

3

65) H
3
C – C ≡ C – CH (CH

3
 )

2
  `m g§̀ wJmMo IUPAC Zmd ............... ho Amho.

a) 4-‘o{Wb -2 n|Q>mB©Z b) 4,4 - S>m`‘o{Wb -2- n|Q>mB©Z

c) ‘o{Wb Am`gmoàmo{nb A±{gQ>rbrZ d) 2 -‘o{Wb -4 n|Q>mB©Z

66) Amåb Am{U YmVyÀ`m A{^{H«$ òV ....... dm ỳ {Z‘m©U hmoVmo.

a) {ndim dm ỳ b) ÁdbZmg ‘XV H$aUmam

c) ÁdbZmg {damoY H$aUmam d) ÁdbZerb

67) ñ’${Q>H$Ob åhUOo .........

a) ñ’${Q>H$ aMZoV Agbobr nmÊ`mÀ`m aoUy§Mr {Z{üV g§»`m

b) ñ’${Q>H$mZo emofboë`m nmÊ`mÀ`m aoUy§Mr g§»`m

c) ñ’${Q>H$ Vmn{dVmZm OmoS>bo OmUmè`m nmÊ`mÀ`m aoUy§Mr g§»`m

d) ñ’${Q>H$mer A{^{H«$`m H$aUmè`m nmÊ`mÀ`m aoUy§Mr g§»`m

68) YwÊ`mÀ`m gmoS>`mMr ñ’${Q>H$Ob g§»`m .... AgVo.

a) 5 b) 10 c) 7 d) 2

69) {da§OH$ MwUm©Mo amgm`{ZH$ gyÌ ........ Amho

a) CaCl
2

b) CaCl
3

c) CaOCl
2

d) CaO
2
Cl

2

70) gmo{S>`‘ H$m~m}ZoQ>bm Vrd« CîUVm {Xë`mg ....... dm ỳ {Z‘m©U hmoVmo.

a) ŠbmoarZ dm ỳ b) Am°pŠgOZ dm ỳ

c) H$m~©Z S>m`Am°ŠgmB©S> dm ỳ d) hm`S´moOZ dm ỳ

71) CXm{gZrH$aU A{^{H«$`m hr .......... ‘Yrb A{^{H«$`m Amho.

a) YmVy AYmVy b) Amåb Amåbmar c) Amåb jma       d) AYmVy YmVygÑe
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64) Dilute hydrochloric acid and dilute sulphuric acid are both colourless solutions.
Which of the following solutions can distinguish between these two acids?
a) FeCl2  b) BaCl2 c) CuCl2 d) AlCl3

65) The IUPAC name of the compound  H
3
C – C ≡  C – CH (CH

3
 )

2
  is  ...........

a) 4 – methyl -2 – pentyne
b) 4,4 – dimethyl – 2 – pentyne
c) methyl isopropyl acetylene
d) 2-methyl - 4 – pentyne

66) Acid reacts with metal, the gas formed in reaction
a) Is Yellow coloured gas
b) Promotes Combustion
c) Opposes combustion
d) Is combustible

67) Water of crystallization means
a) Fixed number of water molecules in crystal structure
b) water molecules absorbed by crystal structure
c) water molecules get linked to crystal structure while heating
d) number of water molecules reacting with crystalstructure

68) washing soda shows ........... water of crystallization.
a) 5 b) 10 c) 7 d) 2

69) The chemical formula of bleaching powder is
a) CaCl2 b) CaCl3

c) CaOCl
2

d) CaO
2
Cl

2

70) Gas evolved when sodium bicarbonate  heated strongly is
a) Chlorine b) Oxygen
c) Carbondioxide d) Hydrogen

71) Neutralization reaction is reaction between
a) Metal – nanmetal b) Acid – base
c) Acid – salt d) Nonmetal – metalloid
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72) AmåbmMo pH  .........

a) 7 b) nojm H$_r 7 c) nojm OmñV 7 d) 14

73) Z¡g{J©H$ Xe©H$ : hiX :: g§pûcï> Xe©H$ : ......

a) bmb H$mo~r AH©$ b) {‘{Wb Am°a|O c) Jwbm~ nmH$ù`m d) {bQ>‘g

74) Vrd« Amåb ..... XoVo.

a) OmñV H+  Am`Z Am{U pH 1-3 b) H$‘r H+  Am`Z Am{U pH 1-3

c) OmñV OH-  Am`Z Am{U pH 1-3 d) H$‘r OH-  Am`Z Am{U pH 5 – 7

75) ‘mZdr e[aamMo pH ....... AgVo.

a) 7.15 - 7.35 b) 7.25 - 7.35

c) 7.35 - 7.45 d) 7.45 - 7.55

76) bmb ‘w§½`m§À`m X§em‘Ü ò ...... Amåb AgVo.

a) A°go{Q>H$ A°{gS> b) gm`{Q´H$ A°{gS>

c) ½bwH$mo{ZH$ A°{gS> d) ’$m°{‘©H$ A°{gS>

77) OR>amV ....... Amåb AgVo.

a) HCl b) H
2
SO

4
c) CH

3
COOH d) HCOOH

78) YmVy§Mo Am°ŠgmB©S> ........... AgVmV.

a) AmåbY‘u b) AmåbmarY‘u c) C^`Y‘u d) CXmgrZ

79) gm~U ho .........

a) nmoQ>°{e`‘ qH$dm gmo{S>`‘Mo Am°ŠgmB©S> AgVmV.

b) I{ZO AmåbmMo nmoQ>°{e`‘ qH$dm gmo{S>`‘ jma AgVmV.

c) H$m~m}pŠP{bH$ AmåbmMo nmoQ>°{e`‘ qH$dm gmo{S>`‘ jma AgVmV.

d) Vob Am{U Ma~r

80) {da§OH$ MyU© ....... Amho.

a) Am°pŠgS>rH$maH$ b) VQ>ñW c) jnUH$maH$      d) a Am{U c XmoÝhr
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72) Acids have pH ............
a) 7 b) Below 7 c) Above 7 d) 14

73) Natural indicator : turmeric ::  Synthetic indicator :  ...........
a) Red cabbage juice b) Methyl orange

c) Rose petals d) Litmus paper

74) Strong acid give
a) More number of H+ ions & pH between 1 – 3
b) Less  number of H+ ions & pH between 1 – 3
c) More number of OH- ions & pH between 1 – 3
d) Less  number of H+ ions & pH between 5 – 7

75) The pH of human body is
a) 7.15 – 7.35 b) 7.25 – 7.35
c) 7.35 – 7.45 d) 7.45 – 7.55

76) Acid present in sting of red ant is
a) Acetic acid b) Citric acid
c) Gluconic acid d) Formic acid

77)  Stomach contain
a) HCl b) H

2
SO

4

c) CH3COOH d) HCOOH

78) Metal oxides are  ........... In nature.
a) Acidic b) Basic c) Amphoteric d) Neutral

79) Soaps are ........
a) Oxides of sodium & potassium
b) Sodium & potassium salts of mineral acids
c) Sodium & potassium salts of carboxylic  acids
d) Oils & fats

80) Bleaching powder is .......
a) Oxidizing agent b) Neutral agent
c) Reducing agent d) Act as both a & c
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81) ..... ho gdm©V à~b Amåb Amho.
a) HCl b) HNO

3
c) H

2
SO

4
          d) CH

3
COOH

82) Amåb ..... AgVmV.
a) Am§~Q> b) H$Sy> c) JmoS> d) ImaQ>

83) AëH$mB©Z Mo gm‘mÝ` gyÌ :
a) C

n
H

n
b)  C

n
H

2n+2
c) C

n
H

2n-2
d) C

n
H

2n

84) AëH$sZ ..... AgVmV.
a) db`m§{H$V hm`S´moH$m~©Z Am{U EHo$ar ~§Y b) {dd¥Îme¥§Ibm Am{U Xwhoar ~§Y
c) db`m§{H$V hm`S´moH$m~©Z Am{U Xwhoar ~§Y d) {dd¥Îme¥§Ibm Am{U {Vhoar ~§Y

85) ‘m{bH$m~§YZ åhUOo ..........
a) EH$mM ‘ybÐì`mÀ`m AUy§‘Ü ò nañna ~§Y {Z‘m©U hmoD$Z e¥§Ibm V`ma hmoÊ`mMm JwUY‘©
b) EH$mM ‘ybÐì`mÀ`m AUy‘Ü ò nañna ~§Y {Z‘m©U hmoD$Z db`m§{H$V g§̀ wJo V`ma hmoÊ`mMm JwUY‘©
c) AUy§‘Ü ò Xwhoar ~§Y V`ma hmoÊ`mMm JwUY‘©
d) g§̀ wJo V`ma hmoÊ`mMm JwUY‘©

86) ...... ho Ag§V¥á hm`S´moH$m~©Z AmhoV.
a) AëHo$Z Am{U AëH$sZ b) AëHo$Z Am{U AëH$mBZ
c) AëHo$Z Am{U A[aZ d) AëH$sZ Am{U AëH$mBZ

87) J«°’$mB©Q> : BboŠQ´moS> :: {ham : .....
a) H$mM H$mnÊ`mgmR>r b) d§JU
c) {egnopÝgb d) ßbmpñQ>H$ V`ma H$aÊ`mgmR>r

88) Oa n= 3, Va  AëHo$ZMo aoUwgwÌ ..... AgVo.
a) C

3
H

9
b) C

3
H

6
c) C

3
H

8
d) C

3
H

3

89) Oa n = 6, Va  AëHo$ZMo Zmd ....
a) noÝQ>oZ b) hoŠPoZ c) àmonoZ d) hoßQ>oZ

90) Á`m g§̀ wJm§Mo aoUwgyÌ g‘mZ AgVo na§Vw Ë`m§Mr aMZmgyÌo {^Þ AgVmV Aem g§̀ wJm§Zm ...... åhUVmV.
a) g‘KQ>H$ g§̀ wJo b) {^ÞKQ>H$ g§̀ wJo c) g‘ñWm{ZHo$ d) g‘OmVr` g§̀ wJo
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81) Strongest acid is ..........
a) HCl b) HNO

3

c) H
2
SO

4
d) CH

3
COOH

82) Acidic substances show ........... taste.
a) Sour b) Bitter c) Sweet d)  Salty

83)  General formula  for alkyne is
a) C

n
H

n
b)  C

n
H

2n+2
c) C

n
H

2n-2
d) C

n
H

2n

84) Alkene shows ........
a) Closed chain & single bond b) Open chain & double bond
c) Closed chain & double bond d) Open chain & triple bond

85) Catenation is .........
a) Ability to form long chains by direct bonding between atoms
b)  Ability to form closed chains by direct bonding between atoms
c) Ability to form double bonds between atoms
d) Ability to form compounds

86) Unsaturated hydrocarbons are
a) Alkanes & alkenes b) Alkanes & alkynes
c) Alkanes &arenes d) Alkenes & alkynes

87)  Graphite : Electrode ::  Diamond : ...........
a) Cutting glass b) Lubricant
c) Lead pencils d) Plastic making

88)  When n= 3, then molecular formula of alkane is

a) C
3
H

9
b) C

3
H

6
c) C

3
H

8
d) C

3
H

3

89) When n = 6, the name of alkane
a) Pentane b) Hexane c) Propane d) Heptane

90) Compounds with identical molecular formula but different structures are called ...........
a) Isomers  b) Isotopes
c) Isobars  d) Homologues
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91) IUPAC nÕVrZwgma Imbrb g§̀ wJmMo Zmd AmoiIm.

a) 2 Šbmoamo 2 hm`S´mo ã ẁQ>oZ b) 2,2 Šbmoamo {‘{Wb àmonoZ
c) Šbmoamo ã ẁQ>oZ d) 2 Šbmoamo ã ẁQ>oZ

92) {‘WoZbm ‘`m©{XV hdoV Vmn{dë`mg  .... {‘iVo.
a) CO

2
b) H$m~©Z H$mOir

c) 2658 KJ  COm© d) nmUr

93) g§V¥á hm`S´moH$m~©Z : {dñWmnZ A{^{H«$`m :: Ag§V¥á hm`S´moH$m~©Z :
a) AnKQ>Z A{^{H«$`m b) {dñWmnZ A{^{H«$`m
c) g§̀ moJ A{^{H«$`m d) aoS>m°Šg A{^{H«$`m

94) H
2
C=CH

2
  + Br-Br    CH

2
Br-CH

2
Br

     darb A{^{H«$`m hr ..... Amho.
a) g§̀ moJ A{^{H«$`m b) {dñWmnZ A{^{H«$`m
c) AnKQ>Z A{^{H«$`m d) Xwhoar {dñWmnZ A{^{H«$`m

95) H$m~m}{ZH$ Amåb Am{U AëH$mohmobÀ`m A{^{H«$ òV  ...... V`ma hmoVo.
a) BWa b) BñQ>a c) AZhm`S´mB©S> d) H2

 
dm ỳ

96) gm~UmMo Y«w{d` ~§Y AgUmao Q>moH$  ...... AgVo.
a) Ob{damoYr b) ‘oXmH$fr c) ‘o{ÛamoYr d) OmbmH$f©H$

97) C
2
H

5
OH + ‘X’  C

2
H

5
Cl.

X åhUOo
a) Cl

2
b) HCl c) PCl

3
d) CaOCl

2
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91)  IUPAC name of compound is

a) 2 chloro, 2 hydro butane b) 2, 2  chloro methyl propane

c) Chlorobutane d) 2 Chlorobutane

92) When methane is burned in limited supply of air, it gives

a) CO
2

b) Carbon

c) 2658 KJ heat d) Water

93) Saturated hydrocarbons : Substitution reaction :: Unsaturated hydrocarbons ...........

a) Decomposition reaction b) Displacement reaction

c) Addition reaction d) Redox reaction

94) H
2
C=CH

2
  + Br-Br    CH

2
Br-CH

2
Br This reaction is .........

a) Addition reaction

b) Substitution reaction

c) Decomposition reaction

d) Double Displacement reaction

95)  Reaction between carboxylic acid & alcohol result in formation of ........

a) Ether b) Ester c) Anhydride      d) Hydrogen gas

96)  Polar end of soap molecule is

a) Hydrophobic b) Lipophilic c) Lipophobic           d) Hydrophilic

97) C
2
H

5
OH + ‘X’  C

2
H

5
Cl.

‘X’ is

a) Cl2 b) HCl c) PCl3 d) CaOCl2
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98) {~`m Zgboë`m PmS>m§‘Ü ò nwZ{Z{‘©Vr ........... nÜXVrZo hmoVo.
a) b¢{JH$ b) Ab¢{JH$
c) emH$s` d) darb gd© n`m ©̀ MwH$ AmhoV

99) ~mo‘Z g¨nwQ>m‘Ü ò JmiyZ Ambobo Ðd ...........
a) ‘yÌqnS>mVyZ ~mhoa Q>mH$bo OmVo.
b) nwÝhm aº$mV emofbo OmVo.
c) naV aº$m{^gaUm‘Ü ò KoVbo OmVo Am{U Z§Va CËg{O©V hmoVo.
d) bmb a§JmMo AgVo.

100) S>rEZE Mr Amd¥Îmr ........... AdñWoV hmoVo.
a) G1 b) G2 c) S d) I

101) OZwHo$ (AmZwd§{eH$ KQH$) ...........‘Ü ò AmT>iVmV.
a) JwUgwÌo b) H|$ÐH$ c) H|$ÐH$ nQ>b d) àÐì` nQ>b

102) ~oJmo{Z`mMo emH$s` àOZZ ........... ‘wio AgVo.
a) nU© H${bH$m b) AmJ§VwH$ H$ir c) gr‘m§V H$ir d) emH$s` H$ir

103) ~rOwH$ V`ma hmoÊ`mÀ`m {H«$ òg ...........åhUVmV.
a) I§S>r^dZ a) {d^mOZ c) ‘wHw$bm`Z d){~OmUy {Z{‘©Vr

104) Jwbm~mMo ZdrZ PmS> V`ma H$aÊ`mgmR>r ........... nÕV dmnaVmV.
a) D$Vr g¨dY©Z b) N>mQ> H$b‘
c) Xm~ H$b‘ d) `mn¡H$s EH$hr Zmhr

105) nw{XZm d eod§VrMo emH$s` àOZZ ........... H$Sy>Z hmoVo.
a) YmdH$ b) MyfH$ c) àH${bH$m d) AmH§$X

106) H$b‘mV,O{‘ZrV nwaboë`m PmS>mbm ........... åhUVmV.
a) Iw§Q> b) Cnamo{nH$m c) emo{fH$m d) ‘ybOmoS>

107) OrdZ MH«$mH$arVm dZñnVrMm gdm©V ‘hËdmMm ^mJ ........... ho AgVo.
a) ’y$b b) nmZ c) ImoS> d) ‘wi
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98) Reproduction of plants without seed is .........
a) Sexual b) Asexual
c) Vegetative d) All the above statements are false

99) The liquid filtered out in a Bowman’s capsule is............
a) Excreted by the kidney

b) Absorbed back into the blood
c) Selectively absorbed back into the blood circulation and then excreted

d) Red in colour

100) DNA replication takes place in .......... phase.

a) G1 b) G2 c) S d) I

101) Genes (hereditary units) are located on ..........

a) Chromosomes b) Nucleolus
c) Nuclear membrane d) Plasma membrane

102) Begonia reproduces vegetatively by ...........
a) Leaf bud b) Adventitious bud

c) Marginal bud d) Vegetative bud

103) The process of spore formation is known as ..........

a) Fragmentation b) Fission c) Budding d) Sporulation

104) In roses the method commonly used to produce new plants is ..........
a) Tissue culture b) Cutting c) Layering d) None of these

105) Mint and chrysanthemum multiply vegetatively by ..........
a) Runners b) Suckers c) Bulbils d) Tubers

106) In grafting, the plant rooted in the soil is called ..........
a) Stock b) Scion c) Sucker d) Rhizome

107) From life cycle point of view, the most important part of a plant is........
a) Flower b) Leaf c) Stem d) Root
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108) Oa namJH$U Ë`mM ’w$bmÀ`m Hw$jrda Jobo Va Ë`mg ........... åhUVmV.
a) ñd §̀namJU b) nanamJU
c) ’$bZ d) `mn¡H$s EH$hr Zmhr

109) Oam ỳOVm ........... ‘Ü ò AmT>iVo.
a) ~oSyH$ b) gaS>m c) gmn d) ‘mZd

110) qS>~J«§Wr ’w$Qy>Z A§S>/A§S>noer~mhoa nS>Ê`mbm ........... åhUVmV.
a) ‘¡WwZ b) g῭ w½‘ c) A§S>{ZjonZ d) A§S>jonZ

111) `rñQ>noetMo {d^mOZ ...........nÜXVrZo hmoVo.
a) {d §̂OZ b) ‘wHw$bZ c) {dI§S>Z d) {~OmUw{Z{‘©Vr

112) O¡dV§ÌkmZ åhUOo ....................
a) OrdemómÀ`m Aä`mgmgmR>r H$mhr gmYZm§Mm dmna H$aUo
b) gmYZm§À`m dmnam‘Ü ò OrdemómMm dmna H$aUo
c) gOrdm§‘Ü ò {deofV… Ë`m§À`m OZwH$s` VÎdm§‘Ü ò ‘mUgmÀ`m Cn`moJmgmR>r ~Xb KS>dyZ AmUUo.
d) ‘¥V noet‘Ü ò ~Xb H$ê$Z ZdrZ OmV V`ma H$aUo

113) ............. ho g‘{d^mOZ àH$maMo Amho.
a) ẁ½_ZO{Z{_©Vr b) AY©gwÌr {d^mOZ
c) AY©gyÌr {d^mOZ I d) AY©gyÌr {d^mOZ II

114) ór ẁ½‘H$ d nẁ w½‘H$ H$moUË`m àH$maÀ`m noer {d^mOZmZo V`ma hmoVmV ?
a) ór ẁ½‘H$ gyÌr {d^mOZmZo Va nẁ w½‘H$ AY©gyÌr {d^mOZmZo hmoVmV.
b) nẁ w½‘H$ gyÌr {d^mOZmZo Va ór ẁ½‘H$ AY©gyÌr {d^mOZmZo hmoVmV.
c) XmoÝhr gyÌr{d^mOZmZo V`ma hmoVmV.
d) XmoÝhr AY©gyÌr {d^mOZmZo V`ma hmoVmV

115) EH$m pñWañWmda g‘wXm`m‘Ü ò, gd©loð> d¡{eîQ>ço AgUmao gOrd {Q>H$md Yê$ eH$VmV Am{U Vr Cn`moJr
       d¡{eîQ>ço Z¡g{J©H$arË`m {ZdSy>Z nwT>rb {nT>rH$S>o nmR>dbr OmVmV. hm {gÕm§V ................. åhUyZ
        à{gÜX Amho.

a) b°‘mH©$Mm {gÕm§V b) Ý ẁQ>ZMm {gÕm§V
c) S>m{d©ZMm {gÕm§V d) ‘|S>bMm {gÕm§V
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108) If the pollen is transferred to the stigma of the same flower, it is termed as ........

a) Self-pollination b) Cross-pollination

c) Fertilization d) None of these

109) Vivipary is found in ........

a) Frog b) Lizard c) Snake  d) Man

110) Rupturing of mature ovarian follicle and discharge of ovum is known as ..........

a) Copulation b) Conjugation

c) Ovulation d) Oviposition

111) Saccharomyces cerevisiae (Yeast) cells divide by..........

a) Fission b) Budding

c) Fragmentation d) Spore formation

112) Biotechnology means ........

a) Use of tools for study of biology

b) Role of biology in using tools

c) Manipulation of living organisms, mainly genetic make up for human welfare

d) Manipulation of dead organisms so as to develop totally new species

113) .......... is equational type of cell division

a) Gamete formation          b) Meiosis c) Meiosis I     d) Meiosis II

114) Male and female gametes are produced by which type of cell division?•

a) Female gametes by mitosis and male gametes by meiosis

b) Male gametes by mitosis and female gametes by meiosis

c) Both by mitosis

d) Both by meiosis

115) In a world of stable populations those individual with the “best” characteristics will
        be more likely to survive, and those desirable traits will be naturally selected and
         passed to their offspring.  This theory is known as ..........

a) Lamarck’s theory b) Newton’s theory

c) Darwin’s theory d) Mendel’s theory
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116) {Z`moOZ nyd©H$ bwá H$aUo åhUOo ‘mUgmÀ`m gmoB©gmR>r ‘mUgmZo EImÚm gOrdmbm n[ag¨ñWoVyZ Zï> H$aUo.
`mMo CXmhaU åhUOo ................
a) XodrMo {dfmUy b) S>moS>mo njr
c) gm`~oar`mMm dmK d) Am{e`mMm qgh

117) nwamOrdemó åhUOo .............. Aä`mg
a) Ordmí‘m§Mm b) H$dH$m§Mm c) nú`m§Mm d) PmS>m§Mm

118) {S>EZE Mr g{n©b aMZm .............. `m§Zr ñnï>nUo ‘m§S>br Amho.
a) S>m{d©Z b) dm°Q>gZ Am{U {H«$H$
c) amoPqbS>, dm°Q>gZ Am{U {H«$H$ d) am°~Q>© hÿH$

119) H$moUË`m Q>ßß`mV AY©gyÌr {d^mOZ ho gyÌr {d^mOZmgmaIo AgVo ?
a) AY©gyÌr {d^mOZ II b) nydm©dñWm I
c) AY©gyÌr {d^mOZ I d) nümdñWm II

120) CËH«$m§Vr hr g¨km `m {dYmZmZo gdm©V Mm§Jbr ñnï> hmoVo.
a) gOrd Ë`m§À`m OrdZH$mbmV g¨nm{XV Ho$bobr d¡{eï²> ò g¨VVr‘Ü ò nmao{fV H$aVmV.
b) OJÊ`mgmR>r d¡{eï²> ò {ZdS>Ê`mMr à{H«$`m.
c) H$mbm§VamZo gOrdm§‘Ü ò CÎmamoÎma ~Xb KSw>Z òVmV.
d) gOrdm§À`m dV©UwH$sÀ`m nÜXVr ~XbV AgVmV.

121) CËH«$m§Vrà‘mUo Imbr {Xboë`m gOrdm§Mr aMZm gmono Vo OQ>rb `m H«$‘mZo Amho.
i. OrdmUy, ii.Vwig, iii.n°am‘o{e`‘, iv. e¡dmb
a) i, iii, ii, iv b) i, iii, iv, ii
c) iii, i, iv, ii d) iii, ii, i, iv

122) Imbrb Jmoï>r gab Vo OQ>rb H«$‘mZo bmdm. 1. JwUgyÌo;2. S>r.EZ.E.; 3. H|$ÐH$
a) 1, 2, 3 b) 2, 1, 3 c) 1, 3, 2 d) 2, 3,1

123) dZñnVr d àmUr `m§Mm gyÌr{d^mOZmVrb ’$aH$ Amho ...........
a) dZñnVt‘Ü ò VmaH$-H|$Ðo ZgVmV.
b) dZñnVt‘Ü ò ho gd© noet‘Ü ò KS>Vo.
c) dZñnVt‘Ü ò noerÐì`{d^mOZ hmoVo.
d) a Am{U b  XmoÝhr
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116) Planned extinction is removal of organism from ecosystem (from all places on the
        Earth) by human efforts and for human welfare. Example of this is........

a) Small pox virus b) Dodo
c) Siberian tiger d) Asiatic lion

117) Poleontology is the study of  ............
a) Fossils b) Fungi c) Birds d) Plants

118) DNA double helix structure was proposed by…….

a) Darwin b) Watson and Crick
c) Rosalind, Watson and Crick d) Robert Hook

119) At which stage meiosis is similar to mitosis?
a) Meiosis II b) Prophase I
c) Meiosis I d) Anaphase II

120) The term evolution is best explained by this statement..

a) Organisms pass on characters, acquired during life time, to offspring. •
b) The process of selection of characters leads to survival.•
c) Organisms gradually undergo change over a period of time.

d) Behavioural patterns of organisms keep changing.

121) According to evolution, arrange the following from simple to complex.

      i. Bacteria, ii. Ocimum, iii.Paramecium, iv. Algae
a) i, iii, ii, iv b) i, iii, iv, ii

c) iii, i, iv, ii d) iii, ii, i, iv

122) Arrange following in sequence starting from simple to complex.

1. Chromosome; 2. DNA; 3. Nucleus
a) 1, 2, 3 b) 2, 1, 3 c) 1, 3, 2 d) 2, 3,1

123) The difference between mitosis in plant and animals is-
a) Centrioles are absent in plants.

b) In plants it occurs in all parts.
c) Cytokinesis takes place in plants.
d) Both a and b
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124) hmo‘mog°{nAÝgÀ`m CËH«$m§Vr‘Ü ò {‘imbobo gdmªV ‘hÎdmMo daXmZ åhUOo ..........
a) {ÛnmX hmbMmb b) A{V àJV ‘|Xy c) {déÕ A§JR>m d) {ÛZoÌr Ñï>r

125) ‘mZdr ¥̂UmÀ`m {dH$mgm‘Ü ò ’$bZmZ§Va AmamonU à{H«$`m hmoVo. ’$bZ {H«$`m ........... ‘Ü ò hmoVo Am{U
      AmamonU {H«$`m ........ _Ü ò hmoVo.

a) J^m©e`, ’°bmo{n`Z Z{bH$m b) A§S>me`, J^m©e`
c) A§S>me`, ’°bmo{n`Z Z{bH$m d) ’°bmo{n`Z Z{bH$m, J^m©e`

126) A{Yd¥̧ $ J«§WrÀ`m ‘Ü`m§JmVyZ òdUmao E{S´Z°brZ ho Am{U~mUr g¨àoaH$ åhUyZ AmoiIbo OmVo, H$maU........

a) Vo H$~m}XH$m§À`m M`mnM`mV ^mJ KoVo.
b) Vo ’$º$ à{VHw$b n[apñWVrVM H$m ©̀ H$aVo.
c) Vo earambm VmUVUmdmÀ`m AmdñWoV à{VgmX Úm`bm ‘XV H$aVo.
d) Vo aº$Xm~ d aº$m‘Yrb gmIaoMo à‘mU {Z §̀{ÌV H$aVo.

127) à`moJemioV à`moJ H$aÊ`mH$aVm g‘ ẁ½‘ZOr dmQ>mÊ`mMo ~wQ>Ho$ PmS> {ZdS>Ê`mV Ambo. `m ~wQ>Š`m PmS>mbm
EH$m H¥${Ì‘ g¨àoaH$mZo CnMm[aV Ho$bo AgVm Ago {XgyZ Ambo H$s, `m ~wQ>Š`m PmS>mMr C§Mr C§M
dmQ>mÊ`mÀ`m PmS>mBVH$s Pmbr. `m Zì`mZo C§M Pmboë`m dmQ>mÊ`mÀ`m PmS>mMm {df‘ ẁ½‘ZOr C§M
dmQ>mÊ`mÀ`m PmS>m~amo~a g¨H$a Ho$bm Jobm. `m g¨H$amÀ`m Z§Va {H$Vr C§M PmS>o V`ma hmoVrb ?
a) 100% b) 25% c) 0% d) 50%

128) EH$m ‘wbm‘Ü ò OÝ‘mÀ`m AmYr d¥fU, d¥fUH$moemV Imbr gaH$bo ZmhrV, d earamÀ`m AmV VemM
am{hë`m `mMm Ë`m ‘wbmda H$m` n[aUm‘ hmoB©b ?
a) `mMm Ë`m‘wbmda H$moUVmhr n[aUm‘ hmoUma Zmhr d Vmo BVam§gmaImM gmYmaU Agob.
b) ~møñdê$nmV Vmo ‘wbJm AgmYmaU Agob nU àOZZj‘ Agob.
c) ~møñdê$nmV Vmo gmYmaU Agob nU AàOZZj‘ Agob.
d) ~møñdê$nmV Vmo AgmYmaU Agob VgoM Vmo AàOZZj‘ Agob.

129) OmoS>çm Owidm
 I. nU©Vb A. A§S>O
 II. nU©nÌ B. nwéf àOZZ A§JH$
III. noa C. bmJmonmR>À`m XmoZ noam§‘Yrb OmJm
IV. nw‘§J D. nmZmMm {hadm gnmQ >^mJ
V. A§S>me` E. nmZmMm ImoS>mbm OmoS>bobm ^mJ

F. ImoS>mMm ^mJ OoWyZ nmZ ’w$Q>Vo.
a) I-F ; II-D : III-E; I V-B ; V-A b) I-F ;  II-D ; III-C ; IV-B ; V-A
c) I-E ; II-D ; III-C ; IV-B ; V-A d) I-E ; II-D ; III-F ; IV-B; V-A
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124) The most gifted feature of evolution to Homo sapiens is ………..
a) bipedal locomotion b) highly evolved brain
c) opposable thumb d) binocular vision

125) In the Human embryonic development, fertilization is followed by implantation.
         Fertilization takes place in …………. and embryo gets implanted in …………

a) Uterus; fallopian tube b) Ovary; uterus
c) Ovary; fallopian tube d) Fallopian tube; uterus

126) Adrenaline secreted by adrenal medulla is very often treated as emergency
        hormone. Because-

a) It is involved in carbohydrate metabolism.
b) It is functional only in extreme conditions.
c) It helps body respond to stressful condition.
d) It controls blood pressure and blood sugar level.

127) In a laboratory homozygous dwarf Pea plant was selected for experiment. This dwarf
        plant was treated with one synthetic hormone and in result it was found that height
        of plant became as tall as tall Pea plant. This newly formed tall Pea plant is then
        crossed with a heterozygous tall Pea plant. After this cross how many tall plants
        will be formed?

a) 100% b) 25% c) 0% d) 50%

128) In a boy, testes fail to descend into scrotum prior to birth and remained inside the
        body. What will be the effect of this?

a) There will be no effect on that boy he will be as normal as others.
b) Phenotypically boy will be abnormal but will be fertile.
c) Phenotypically boy will be normal but will be sterile.
d) Phenotypically boy will be abnormal as well as he will be sterile.

129) Match the following
              I - Leaf base  A. Ovule
             II – Lamina                            B. Male reproductive whorl
             III – node                    C. Portion between two successive nodes
             IV – Androecium                   D. Flat, expanded green part of leaf
             V - Ovary                               E. The part of leaf attached tip the stem

                     F.   A point of stem from which leaf arises
a) I-F ; II-D : III-E; I V-B ; V-A b) I-F ;  II-D ; III-C ; IV-B ; V-A
c) I-E ; II-D ; III-C ; IV-B ; V-A d) I-E ; II-D ; III-F ; IV-B; V-A
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130) {MZr Jwbm~m (Omñd§X) ‘Ü ò {ZXbo EH$‘oH$m§Zm OmoS>bobr AgVmV, åhUyZ Ë`mbm ........... Ago åhUVmV.
       Jwbm~m‘Ü ò Ë`mÀ`m nmH$ù`m EH$‘oH$m§nmgyZ gwQ²>Q>çm AgVmV, åhUyZ Ë`mbm ........... åhUVmV.

a) n¥WH${ZXbr, n¥WH$Xbr b) g῭ wº${ZXbr, n¥WH$Xbr
c) g῭ wº$Xbr, n¥WH${ZXbr d) n¥WH$Xbr, g῭ wº${ZXbr

131) 1 d 2 AmoiIm

a) ‘Ü`{^Îmr, Am§Va{^Îmr
b) Am§Va{^Îmr, ‘Ü`{^Îmr
c) ’$b{^Îmr, ‘Ü`{^Îmr
d) ’$b{^Îmr, Am§Va{^Îmr

132) ‘w»`Ëdo dmè`mZo namJr^dZ hmoUmè`m ’w$bmMo bjU {ZdS>m.
a) H$‘r à‘mUmV namJH$U V`ma Ho$bo OmVmV.
b) ’w$b gwdm{gH$ AgVo.
c) ’w$bo ‘moR>r d a§JrV AgVmV.
d) Hw$jr hr ‘moR>r d {ngm§Mr AgVo.

133) Amd¥Îm~rOrdZñnVt‘Ü ò Xwhoar ’$bZ hmoVo. Xwhoar ’$bZm~m~V `mo½` {dYmZ {ZdS>m.
a) H$sQ>H$m§Ûmao namJr^dZ hmoUmè`m ’w$bm§‘Ü òM Xwhoar ’$bZ eŠ` Amho.
b) Xwhoar ’$bZm‘Ü ò ẁ½‘ZO 3n Mo ~ZVo.
c) Xwhoar ’$bZm‘Ü ò, XmoZ nẁ w½‘H$ EH$m ~rOm§S>m~amo~a g῭ moJ nmdVmV.
d) Xwhoar ’$bZm‘Ü ò, XmoZ nẁ w½‘H $EH$ ~rOm§S> d EH$ Xwæ`V‘ H|$ÐH$ ̀ m§~amo~a ñdV§ÌnUo g῭ moJ nmdVmV.

134) nanamJr^dZm{df`r `mo½` {dYmZ {ZdS>m
a) `m‘wio OZw{H$`Ñï²>`m g¨nyU©V… Zdr àOmVr {‘iVo.
b) `m‘wio amoJQ> àOmVr {‘iVo
c) `m‘wio AmOmambm à{VH$ma H$aUmar àOmVr {‘iy eH$Vo.
d) nanamJr^dZmgmR>r dmhH$mMr JaO ZgVo.

135) {dg¨JV n`m©̀  {ZdS>m
a) àH§$X b) ŷñVm[aH$m c) YmdH$ d) H$b‘
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130) In China rose sepals are fused with one another therefore it is  ............ . In rose,
       petals are free from one another hence it is .............

a) Polysepalous. Polypetalous b) Gamosepalous, Polypetalous
c) Gamopetalous, Polysepalous d) Polypetalous, Gamosepalous

131)  Identify 1 and 2

a) Mesocarp, Endocarp
b) Endocarp, Mesocarp
c) Pericarp, Mesocarp
d) Pericarp, Endocarp

132) Choose the correct character that is shown by mainly wind pollinated flower.
a) Small quantity of pollen grains are produced
b) Flower has scent
c) Flowers are large and colored
d) Stigma is large and feathery.

133) In angiosperms double fertilization takes place. Choose the correct statement about
         double fertilization.

a) Double fertilization is possible only in insect pollinated flowers
b) In double fertilization zygote becomes 3n
c) In double fertilization, two male gametes fuse with single ovule.
d) In double fertilization, two male gametes fuse with single ovule and secondary

               nucleus separately.

134) Choose the correct statement about cross pollination
a) It gives genetically completely new variety
b) It gives highly diseased variety
c) It may give disease resistant variety
d) For cross pollination agent is not required)

135) Odd man out
a) Rhizome b) Stolon  c) Runner d) Grafting
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136) ’w$bmMm H$moUVm Ad`d gm‘mÝ`V… àH$meg¨ûcofH$ Agy  eH$Vmo?
a) nw‘§J b) Om`m§J c) {ZXbnw§O d) Xbnw§O

137) b¢{JH$ àOZZmgmR>r ’w$bmMr H$moUVr A§JHo$ Amdí`H$ AgVmV?
I nw‘§J II {ZXbnw§O III Om`m§J IV Xbnw§O
a) I Am{U II b) I Am{U III

c) I Am{U IV d) \$º$ I

138) hm`S´m : ‘wHw$bm`Z : : å ỳH$a : ?
a) nwZO©Z b) I§S>r^dZ c) ~rOmUy {Z{‘©Vr d) {Û{d^mOZ

139) ’w$bmMo nẁ w½‘H$ ........åhUyZ AmoiIbo OmVo
a) namJH$U b) namJH$moe c) ewH«$mUy d) nw§Ho$ga

140) OmoS>çm Owidm
emH$s` àdY©Z nÕVr dZñnVr
I. AmH§$X A. nw{XZm
II. H§$X B. ñQ´m°~oar
III. YmdH$ C. ~Q>mQ>m
IV. MyfH$ D. H$m§Xm

a) I-A; II-B; III-C; IV-D
b) I-D; II-C; III-B; IV-A
c) I-C; II-D; III-B; IV-A
d) I-C; II-D; III-A; IV-B

141) EH$ a§Jm§Yim ‘wbJm EH$m ‘wbr~amo~a b¾ H$aVmo. Ë`m§Zm 1 a§Jm§Yim d 1 gm‘mÝ` ‘wbJm Amho.  Imbrbn¡H$s
      H$moUVm n`m©̀  Ë`m ‘wbr{df`r `mo½` ‘m{hVr XoVmo?

a) Vr ‘wbJr a§Jm§Yir Amho.
b) Vr ‘wbJr a§Jm§YionUmMr dmhH$ Amho.
c) Vr ‘wbJr gm‘mÝ` Amho.
d) a qH$dm c

142) {déÕ bjUo AgUmè`m g‘ ẁ½‘Z Or PmS>m§Mm g¨H$a Ho$bm Jobm. F1 {nT>r‘Ü ò Or bjUo {XgyZ òVmV
     Ë`m§Zm ........ åhUVmV.

I gh - à^mdr II à^mdr III Aà^mdr
a) ’$º$ I b) ’$º$ II c) ’$º$ III d) I qH$dm II
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136) Which flower organ is mostly likely to be photosynthetic?

a) Androecium b) Gynoecium c) Calyx d) Corolla

137) Which organs of flower are necessary for sexual reproduction

I. Androecium II. Calyx III. Gynoecium IV. Corolla

a) I and II b) I and III c) I and IV d) Only I

138) Hydra: Budding:: Mucor: ?

a) Regeneration b) Fragmentation

c) Spore formation d) Binary fission

139) Male gamete of flower is known as .................

a) Pollen grain b) Anther c) Spermatozoid d) Stamen

140) Match the following

Vegetative propagation method Plant

I.   Tuber A. Mint

II.  Bulb B. Strawberry

III. Runner C. Potato

IV. Sucker D. Onion

a) I-A; II-B; III-C; IV-D
b) I-D; II-C; III-B; IV-A
c) I-C; II-D; III-B; IV-A
d) I-C; II-D; III-A; IV-B

141) A boy who is colorblind marries a girl. They have 1 colorblind son and one normal
      son. Which of the following option gives correct information about girl?

a) Girl is colorblind

b) Girl is carrier for colorblindness.

c) Girl is normal.

d) Either a or c.

142) A cross between homozygous plants containing contrasting characters is done. The
       character which appears in F

1
 generation is ...................

I. Co-dominant II. Dominant III. Recessive

a)  Only I b) Only II c) Only III d) either I or II
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143) C§M d bmb ’w$bo AgUmè`m dmQ>mÊ`mÀ`m PmS>mMm g¨H$a ~wQ>Š`m d nm§T>ar ’w$bo AgUmè`m PmS>m~amo~a
      Ho$bm. Ë`mV EHy$U 96 PmS>m§Mr {Z{‘©Vr Pmbr. `m 96 PmS>m§n¡H$s 54 PmS>o C§M d bmb ’w$bo AgUmar
      hmoVr. `m 54 PmS>m§n¡H$s {H$Vr PmS>o nyU©V… g‘ ẁ½‘Z Or AgVrb?

a) 6 b) 54 c) 24 d) 30

144) ‘mUgm§‘Ü ò nwéf hm qbJ{Z{üVrgmR>r O~m~Xma AgVmo. darb {dYmZmer gwg¨JV n`m©̀  {ZdS>m.
a) nwéfm§‘Ü ò XY Aer JwUgwÌo AgVmV Va ‘{hbm§‘Ü ò XX Aer JwUgwÌo AgVmV åhUyZ nwê$fm§‘wio

           {d{dYVm òVo.
b) nwéfm§‘Yrb X- JwUgyÌ ho qbJ{Z{üVr H$aUmao JwUgyÌ Amho.
c) ‘wbJm qH$dm ‘wbJr AgÊ`mMr eŠ`Vm Zoh‘r 50% AgVo.
d) a d c XmoÝhr

145) ’$bZ Z Pmboë`m ‘mZdr ~rOm§S>m{df`r `mo½` n`m©̀  {ZdS>m.
a) `m‘Ü ò EH$Va X qH$dm Y JwUgyÌ AgVo.
b) `m‘Ü ò ’$º$ X JwUgyÌ AgVo.
c) `m‘Ü ò 46 JwUgyÌo AgVmV.
d) `m‘Ü ò X JwUgyÌm§Mr OmoS>r AgVo.

146) A{Yaº$ómd hm AmOma Agboë`m ‘mUgmMo b¾ A{Yaº$ómd `m AmOmamÀ`m dmhH$ ór ~amo~a Pmbo.
      Ë`m§À`m ‘wbmbm A{Yaº$ómd hm AmOma AgÊ`mMo à‘mU {H$Vr Q> o̧$ Agob?

a) 100% b) 50% c) 25% d) 0%

147) EH$m dmQ>Ê`mÀ`m PmS>mMm (TTRR)  g¨H$a Xwgè`m dmQ>Ê`mÀ`m PmS>m~amo~a (ttrr). F
2 
 {nT>rZ§Va ....... À`m

      OZwH${dYoMr PmS>o {‘iVrb. (T- C§M, R - Jmob, t - ~wQ>Ho$, r - gwaHw$Vboë`m {~`m).
a) 16 b) 9 c) 4 d) 12

148) Oa {ndir ’w$bo d Jmob {~`m òUmè`m g‘ ẁ½‘ZOr dmQ>Ê`mÀ`m PmS>mMm g¨H$a {hadr ’w$bo d gwaHw$Vboë`m
      {~`m òUmè`m g‘ ẁ½‘ZOr dmQ>Ê`mÀ`m PmS>m~amo~a Ho$bm. F

2
 {nT>rZ§Va H$‘rV H$‘r EH$ à^mdr bjU

      AgUmè`m {H$Vr g¨VVr V`ma hmoVrb?
(ZmoQ>-: {ndir ’w$bo d Jmob {~`m hr à^mdr bjUo Va {hadr ’w$bo d gwaHw$Vboë`m {~`m hr Aà^mdr bjUo )

a) 11/16              b) 9/16 c) 3/16 d) 15/16.

149) Vwåhr Jmob {~`m ̀ oUmè`m {df‘ ẁ½‘ZOr dmQ>Ê`mÀ`m PmS>mMm g¨H$a gwaHw$Vboë`m {~`m ̀ oUmè`m g‘ ẁ½‘ZOr
      dmQ>Ê`mÀ`m PmS>m~amo~a Ho$bm. F

1
 {nT>rV ......% gwaHw$Vboë`m {~`m§Mr g‘ ẁ½‘ZOr ẁ½‘Ho$ AgVrb.

a) 50 b) 25 c) 75 d) 0
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14) A tall pea plant producing red flowers is crossed with dwarf pea plant that produces
      white flowers. In total 96 plants were produced.  Out of 96 plants 54 were tall and red
      flower producing.  Out of these 54 plants how many will be pure homozygous plants?

a) 6 b) 54 c) 24 d) 30

144) In humans male is responsible for determination of sex of a child.  Choose the
       correct option related to above statement.

a) A male has XY set of chromosomes while a female has XX set of chromosomes
            hence variation is given by male.

b) X-chromosome in males is sex determining chromosome.

c) Probability of a child being girl or boy is always 50%

d) Both a and c.

145) Choose the correct option related to human unfertilized egg.

a) It contains either X or Y chromosome.

b) It contains only X chromosome.

c) It contains 46 chromosomes.

d) It contains a pair of X chromosomes.

146) A hemophilic person marries with hemophilia carrier woman. What will be the per
      centage of their son will be affected by hemophilia?

a) 100% b) 50% c) 25% d) 0%

147) A pea plant (TTRR) is crossed with pea plant (ttrr). After F2 generation ....... types of
      genotypic variants are obtained. (T- tall, R- round, t- dwarf, r- wrinkled seeds).

a) 16 b) 9 c) 4 d) 12

148) If a homozygous yellow round pea plant was crossed with homozygous green
      wrinkled pea plant.  After F

2
 generation how many offspring will show at least one

       dominant character?

(Note-: Yellow is dominant over green and round is dominant over wrinkled.)

a) 11/16              b) 9/16 c) 3/16 d) 15/16.

149) You crossed heterozygous round seed plant with homozygous wrinkled seed pea
      plant. In F

1 
generation ......... % gametes will show homozygous wrinkled seeds.

a) 50 b) 25 c) 75 d) 0
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150) EImXm àmUr Ë`mÀ`m OrdZ H$mbmdYrV, narpñWVrer OwidyZ KoÊ`mH$aVm Oo ~Xb AmË‘gmV H$aVmo, Vo
       ~Xb AnmoAmn Ë`mÀ`m nwT>À`m {nT>rV {XgyZ òVmV d Vo AZwd§{eH$VoMm ^mJ ~ZVmV.
       da {Xbobo {dYmZ ho b°‘mH©$Mm CËH«$m§VrMm {gÕm§V Amho.
       Imbrbn¡H$s H$moUVo CXmhaU b°‘mH©$À`m CËH«$m§VrÀ`m {gÕm§VmMo CXmhaU Zmhr?

a) {Oam’$m§Mr ‘mZ gwadmVrbm N>moQ>r hmoVr, nU AmVm Ë`m§Zm bm§~ ‘mZ Amho.
b) Oo njr nmÊ`mV amhm`bm bmJbo Ë`m§À`m nm`m§Mo n§Oo OmirXma Pmbo
c) ìhob ‘mem§Mo ‘mJMo nm` Zï> nmdbo H$maU Ë`m§Zr Vo ~amM H$mi dmnabo ZmhrV.
d) B§½b§S>‘Ü ò Oer Am¡Úmo{JH$ H«$m§Vr KSy>Z Ambr Vgo, H$mù`m a§Jm§À`m nV§Jm§Mr ( H$sQ>H$) OmVrH$aS>çm
    a§Jm§À`m nV§Jm§nojm OmñV {Xgy bmJbr
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150) “Modifications which the organism acquires in adaptation to the environments
        which it meets during its lifetime are automatically handed down to its descendants,
       and so become part of heredity.”

       The above statement is Lamarck’s theory of evolution.

       Which of the following example does not obey Lamarck’s theory of evolution?

a) Giraffes initially had short neck, but now they have elongated neck.

b) Birds which started living in water developed webbed foot.

c) Whales lost their hind limbs, because they were not used over large period of
               time.

d) As industrial revolution took place in England, survival of black paper moths
              was increased over gray colored paper moths.
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1) 20 n[a‘mUm§À`m g§Mm§Mm ‘Ü` 56 g|‘r Agë`mMo n[aJUZ Ho$bo.nU Z§Va EH$m n[a‘mUmÀ`m n[aJUZm‘Ü ò
   MyH$ Agë`mMo bjmV Ambo. Ë`m‘Ü ò 61g|‘rÀ`m EodOr 64 g|‘r KoÊ`mV Ambo hmoVo. Va AMyH$ ‘Ü` {H$Vr?

a) 53 g|‘r b) 54.5 g|‘r
c) 55.85 g|‘r d) 56.15 g|‘r

2) dma§dm[aVm gmaUrV dJm©Mm dJ©‘Ü` 22 AgyZ dJmªVa bm§~r 8 Amho. Va Ë`m dJm©Mr ImbMr ‘`m©Xm d daMr
    ‘`m©Xm {H$Vr?

a) 14, 30 b) 18, 26 c) 19, 27 d) 20, 24

3) aoIm§{H$V ^mJmMo joÌ’$i.................
a)   /2 Mm¡. EH$H$ b)   /3 Mm¡. EH$H$
c)   /4 Mm¡. EH$H$ d)  2 Mm¡. EH$H$

4) x
2 
= 4y  `m n[adb`mMo Am{U x = 4  `m gaiaofoMo N>oXZq~Xy H$m` AgVrb?

a) (2, 3) (4, 4) b) (3, 4) (4, 4)
c) (4, 5) (4, 4) d) (4, 4) (-4, 4)

5) Oa A = 300  Va sin 2A=?
a) 1 – 2 sin2 A b) 2cos2 A – 1
c) 2sinAcosA d) sin2A – cos2 A

6) (2sinx)(4sinx) + (8cosx)(cosx) = ?
a) 5sinx + 7cosx b) 8sinx + 8cosx c) 12 d) 8

7) Oa sin 2A = cos A Va A  Mr qH$‘V {H$Vr ?
a) 30 b) 75 c) 90 d) 45

8) EH$m XwH$mZXmamH$S>o EHy$U 6000 Mm°H$boQ> AmhoV. Ë`mMr {d^mJUr
    eoOmarb d¥ÎmboImV XmI{dbr Amho. Mm°H$boQ>À`m àH$mamVrb H$‘mb d
    {H$‘mZ g§» òVrb ’$aH$ {H$Vr?

a) 1500 b)1000

c) 1750 d) 750

J{UV STAGE  - II

→

→

→

→

→Munch
(300)

Kit-Kat
(450)

Dairy Milk (900)

Perk (600)

Five
Star
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1) The mean of the set of 20 measurements were calculated to be 56 cm. But later it
    was found that the mistake was made in one of the measurements which was     re-
corded as 64 cm but should have been 61 cm. The correct mean then will be .......

a) 53 cm b) 54.5 cm
c) 55.85 cm d) 56.15 cm

2) In a frequency distribution class mark of a class is 22 and class width is 8. Find the
    lower and upper limit of the class.

a) 14, 30 b) 18, 26 c) 19, 27 d) 20, 24

3) The area of the shaded region in the above figure is ..............
a)  /2 sq. units b)   /3 sq. units
c)   /4 sq. units d)  2 sq.units

4) The points of intersection of a parabola x 
2 
= 4y and straight line x = 4 are ............

a) (2, 3) (4, 4) b) (3, 4) (4, 4)
c) (4, 5) (4, 4) d) (4, 4) (-4, 4)

5) If A = 300 then sin2A=?
a) 1 – 2 sin2 A b) 2cos2 A – 1
c) 2sinAcosA d) sin2A – cos2 A

6) (2sinx)(4sinx) + (8cosx)(cosx) = ?
a) 5sinx + 7cosx b) 8sinx + 8cosx c) 12 d) 8

7) If sin 2A = cos A then the value of A is..........
a) 30 b) 75

c) 90 d) 45

8) A shopkeeper has total 6000 chocolates. Their
    distribution is as shown in the given pie diagram. The
    difference between maximum and minimum number of
     chocolate types is ..........

a) 1500 b)1000

c)1750 d)750

MATHEMATICS  STAGE  - II
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→

→

→
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(300)
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(450)
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9) DC hm ‘Zmoam AgyZ C hm nm`m Amho. q~Xy D nmgyZ A Mm AdZVH$moZ 150 Amho. q~Xy A, B, C  EH$aofr`

   AmhoV. B q~Xy nmgyZ D  Mm CÞVH$moZ 300 Mm Amho. Oa aoI DC 100 3 g|‘r Agob, Va aoI AC Mr

   bm§~r .......... Amho.

a) 500 3  g|‘r b) 200 3 300  g|‘r

c) 200 300 3   g|‘r d) 500 g|‘r

10) gmoS>dm
       (1+ tan2 470) (1– sin 470) (1 + sin 470) =..................

a) 0 b) Sin 430 c) 1 d) Cos 430

11) ñV§̂ mÀ`m C§Mr BVŠ`mM nm`mnmgyZÀ`m A§Vamdê$Z Agboë`m {R>H$mUmhÿZ ñV§̂ mÀ`m daÀ`m Q>moH$mMm CÞVH$moZ
    ........ Agob.

a) 300 b) 450 c) 600 d) bKwH$moZ

12) xy + 2x – 3y – 6 = 0  `m g‘rH$aUmMr CH$b....... ‘Ü ò / da Amho.
a) n{hbo MaU b) Mm¡Wo MaU c) {Vgao MaU d) Y – Aj

13) Oa Imbrb {ZarjUo MT>Ë`m H«$‘mZo ‘m§S>br AgVm ‘Ü`H$ 63 Agob, Va ‘x’ Mr qH$‘V H$mT>m.
      29, 32, 42, 50, x, x+2, 72, 78, 84, 95

a) 62 b) 63 c) 64 d) 65

14) {ÛMb aofr` g‘rH$aU........ Zo / Zr XmIdVm òVo.
a) X – Ajmg g‘m§Va aofo b) Y – Ajmg g‘m§Va aofo
c) Ag§»` CH$bt b) Ama§̂  q~XyVyZ OmUmar aofo

15) Imbrb ‘m{hVrgmR>r ........
      1, 1.0, 2, 3, 5, 5, 5, 5, 6, 8, 10, 11

a) ‘Ü` = ~hþbH$ b) ~hþbH$  = ‘Ü`H$
c) ‘Ü` = ~hþbH$  = ‘Ü`H$ d) ‘Ü` = 5

16) Imbrb d¥ÎmmboI àojUr` ñWim§Zm ôQ> XoUmè`m àdmem§À`m g§» òMo
    {dVaU XmIdVmo. Oa EHy$U àdmgr 85000 AgVrb Va OnmZ d
     USA bm OmUmè`m àdmem§Mr g§»`m {H$Vr?

a) 34000 b) 25500
c) 59500 d) 8500

UK
10%

Others

20%

Japan

30%

USA

40%
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9) DC is a tower, where C is base point of it. From D towards A, angle of depression is
    150. Points A, B, C are collinear. From B towards D angle of elevation 300.
    If segment DC 100 3  cm. then the length of segment AC is.........

a) 500 3  cm. b) 200 3 300  cm.
c) 200 300 3   cm. d) 500 cm.

10) Solve.
        (1+ tan2 470) (1– sin 470) (1 + sin 470) =..................

a) 0 b) Sin 430 c) 1 d) Cos 430

11) The angle of elevation of the top of a tower at horizontal distance equal to the
      height of the tower from the base of the tower is............

a) 300 b) 450 c) 600 d) Acute angle

12) The solution of the equation  xy + 2x – 3y – 6 = 0 lies in / on the...............
a) 1st Quadrant b) 4th Quadrant c) 3rd Quadrant d) Y – axis

13) The following observations have been arranged in ascending order. If the median
     of the data is 63, find the value of ‘x’.
       29, 32, 42, 50, x, x+2, 72, 78, 84, 95

a) 62 b) 63 c) 64 d) 65

14) ‘Every linear equation in two variables has ...............
a) A straight line parallel to X – axis.
b) A straight line parallel to Y – axis.
c) Infinite number of solutions.
d) Straight line passing through origin.

15) For the following data ............
       1, 1.0, 2, 3, 5, 5, 5, 5, 6, 8, 10, 11

a) Mean = Mode b) Mode = Median
c) Mean = Mode = Median d) Mean = 5

16) The following pie chart exhibits the distribution of the
     tourist traffic from India. How many Indian tourists went
      to USA and Japan if there are total 85000 numbers of
      tourists?

a) 34000 b) 25500

c) 59500 d) 8500

UK
10%

Others

20%

Japan

30%

USA

40%
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17) A (-2, 0), B (2, 0)  Va A d B q~Xy‘Yrb A§Va....... Amho.
a) 0 EH$H$ b) 4 EH$H$ c) -4 EH$H$     d) -2 < AB < 2

18) AmH¥$VrV XmI{dë`mà‘mUo {ÌÁ`m R d r Agbobr XmoZ dVw©io EH$‘oH$m§g
     C øm q~XyV ~mhoéZ ñne© H$aVmV. q~Xy P d Q nmer PQ hr
     gm‘mB©H$ ñn{e©H$m AmhoV, Va PQ=..............

a) 2rR b) R r

c) 2 rR d) 2rR

19) O H|$Ð Agboë`m dVw©imV XmoZ Agm‘mB©H$ Ordm, AB Am{U CD  EH$‘oH$mg P
     q~XyV N>oXVmV Va, Δ APC Am{U Δ DPB  ho ......... {ÌH$moU AmhoV.

a) g‘mZ joÌ’$imMo b) g‘én

c) EH$én. d) `mn¡H$s Zmhr.

20) sin 

a) 
sec

sec

2 1



b) cosec2 1 

c) 1 2 cot  d) 
1

1 2 tan 

21) sin cos tan sin cos2 0 2 0 2 0 2 0 030 45 4 30 1
2

90 2 90 1
24

     Mr qH$‘V H$mT>m.

a) 0 b) 1 c) 2 d) -1

22) 3x - 5y + 15 = 0  hr aofm Y Ajmg A q~XyV d X Ajmg B q~XyV N>oXVo. q~Xy P aoI AB bm 3:2
    JwUmoÎmamV {d^mJVmo. Va P q~XyVyZ OmUmè`m Am{U Y Ajmg g‘m§Va AgUmè`m aofoMo g‘rH$aU H$mT>m.

a) x = - 3 b) x = 3 c) y = 3 d) y = - 3
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17)  A (-2, 0), B (2, 0) then distance between points A & B is ..............

a) 0 unit b) 4 units c) -4 units d) -2 < AB < 2

18) Two circles of radii R and r touch each other at C
      externally (as shown), PQ is the direct common tangent
         at  P and Q, then PQ is equal to..........

a) 2rR b) R r

c) 2 rR d) 2rR

19) In a circle with center O, the unequal chords AB and CD
      intersect each other at P. Then ΔAPC and ΔDPB are
       ...............  triangles.

a) Equal in area b) Similar

c) Congruent d) None of the above.

20) sin 

a) 
sec

sec

2 1



b) cosec2 1 

c) 1 2 cot  d) 
1

1 2 tan 

21) Find the value of sin cos tan sin cos2 0 2 0 2 0 2 0 030 45 4 30 1
2

90 2 90 1
24

    

a) 0 b) 1 c) 2 d) -1

22) The line 3x - 5y + 15 = 0 intersects Y and X- axes in points A and B respectively.
      Point P divides segment AB in the ratio 3:2. Find the equation of the line passing
      through point P and parallel to Y- axis.

a) x = - 3 b) x = 3 c) y = 3 d) y = - 3
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23) Oa `mÑpÀN>H$ à`moJ 1 d 2 ‘Ü ò
E

1
: EH$mM doir Mma ZmUr CS>{dbr

E
2
: EH$ ZmUo Mma doim CS>{dbo

S1 Am{U S2 Ë`m§Mo Z‘wZm AdH$me AmhoV Va Imbrbn¡H$s H$moUVo {dYmZ gË` Amho?
a) n (S1)>n (S2) b) n(S1)<n(S2)

c) n(S1) =n(S2) d) darbn¡H$s EH$hr Zmhr

24) (-1,0), (5 ,-2) Am{U (8, – 2) ho {eamoq~Xy Agboë`m {ÌH$moUmÀ`m ‘Ü`Jm§Mm N>oXZq~Xy H$moUVm ?

a) 4 4
3







 b) 








4
3

4, c) 
4
3

8,





 d)

4
3

8,







25) ~mWê$‘À`m O{‘Zrda Mm¡agmH¥$Vr ’$aem KmVë`m AmhoV. O‘rZ 5 ’$aí`m é§X Am{U 8 ’$aí`m bm§~
   Amho. Oa EH$ ’$aer `mÑpÀN>H$ nÕVrZo {ZdS>br Va Vr H$S>oÀ`m am§JoVrb Agob `mMr g§̂ mì`Vm {H$Vr?

a) 
19
40 b)

1
2 c)

21
40        d)  

11
20

26) EH$m hmVmÀ`m Mma ~moQ>m§V ghm A§JR>çm {H$Vr àH$mao KmbVm òVrb?
a) (6 +4) b) 6 × 4 c) 64 d) 46

27) Oa 3 5 5sin cosx x    Va 3 5 2cos sinx x   Mr qH$‘V H$mT>m.

a) 2 b) 4 c) 25 d) 9

28) EH$mM dVw©inmH$irV Am§Va{bpIV H$moZm§Mo Xŵ mOH$ ........ AgVmV.
a) {déÕ {H$aU b) EH$aofr` c) EH$ê$n d) EH$g§nmVr

29) dVw©imMo Mma nmH$irV {d^mOZ Ho$bo Amho. H$moZ A hm H$moZ C À`m 
1
3  nQ Amho VgoM H$moZ D hm H$moZ

     B À`m XwßnQ> Amho. Oa B Am{U C nyaH$H$moZ AgVrb Va H$moZ C Mo ‘mn =šššššššš
a) 1000 b) 1100 c) 1200 d) 1350

30) O q~Xy H|$Ð Agboë`m dVw©imV aoI PQ d aoI RS `m Ag‘mZ Ordm M q~XyV N>oXVmV Va ΔPMR

     Am{U ΔQMR  ho ............. AmhoV.
a) EH$ê$n b) g‘joÌ c) g‘ê$n b) g§~§{YV ZmhrV.
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23) If in random experiments 1 and 2
     E1: Four coins are tossed at a time.
     E2: One coin is tossed four times
     S

1 
and S

2 
are their corresponding sample spaces, then which one of the following is

      true?
a) n (S1) > n (S2) b) n(S1)>n(S2)
c) n(S1) =n(S2) d) None of the above.

24) The point of intersection of medians of triangle whose vertices are (-1,0), (5 ,-2)
      and (8, – 2) is...........

a) 4 4
3







 b)  








4
3

4, c) 
4
3

8,





 d)

4
3

8,







25) A bathroom floor is covered with square tiles. Flower is 5 tiles wide and 8 tiles
     long. If one of the floor tiles is chosen at random then what is the probability that it
     is at the edge of the floor?

a) 
19
40 b)

1
2 c)

21
40        d)  

11
20

26) Six different rings can be worn on the four fingers of one hand in .......... ways.
a) (6 +4) b) 6 × 4 c) 64 d) 46

27) If  3 5 5sin cosx x     Find the value of  3 5 2cos sinx x 
a) 2 b) 4 c) 25 d) 9

28) The bisectors of the angles inscribed in the same arc of a circle are ..........
a) opposite rays b) collinear
c) congruent d) concurrent

29) A circle is divided into four sectors. Angle A is 
1
3  of angle C while angle D is twice

     of angle B. Angle B & C are supplementary. The measure of angle C is...........
a) 1000 b) 1100 c) 1200 d) 1350

30) In a circle with center O, two unequal chords PQ and RS intersect each other at M
      then ΔPMR and  ΔQMR are .........

a) Congruent b) equal in area

c) similar d) not related
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31) {d^mOrV ‘m{hVrÀ`m ~hþbH$mMo gyÌ Imbrbn¡H$s H$moUVo ~amo~a Amho ?

a) ~hþbH$  = L + fm f fm f f     1 2 0 1/ ×  h

b) ~hþbH$  = L + fm f fm f f     1 2 1 2/ × h

c) ~hþbH$  = L + fm f fm f f     1 2 1 1/ × h

d) ~hþbH$  = L + fm f fm f f     1 1 2/ × h

32) H|$Ðr` n[aUm‘m§g§~§{YV gyÌ ........
a) ‘Ü` - ~hþbH$ = (‘Ü` - ‘Ü`m§H$)
b) ‘Ü` - ‘Ü`m§H$ = (‘Ü` - ~hþbH$)
c) ‘Ü` + ~hþbH$ = 3(‘Ü` + ‘Ü`m§H$)
d) ‘Ü` + ~hþbH$ = 3(‘Ü` - ‘Ü`m§H$)

33) Imbrb n¡H$s H$moUVo {dYmZ gm‘mÝ` dH«$mg§~§Yr AgË` Amho.
a) gm‘mÝ` dH«$ ‘Ü`mer g‘‘rV AgVmo.
b) ‘Ü`, ‘Ü`m§H$, ~hþbH$ V§VmoV§V OwiVmV AgVmV
c) dH«$ XmoÝhr Q>moH$m§V {Z‘wiVm hmoVmo d eodQ>r Ajmbm X N>oXVmo.
d) ‘Ü` dmT>ob Vgm dH«$ COì`m~mOyg gaH$Vmo.

34) a x b y      22  ho {ÛMb aofr` g‘rH$aU Amho. Va Imbrbn¡H$s gË` {dYmZ H$moUVo?

a) 'a' Am{U 'b' øm Z¡g{J©H$ g§»`m AmhoV.
b) 'a' Am{U 'b' n[a‘ò  g§»`m AmhoV.
c) 'a' Am{U 'b' An[a‘ò  g§»`m AmhoV.
d) 'a' Am{U 'b' dmñVd g§»`m AmhoV.

35) 7x – 3y = 0  Am{U 9x + 9y = 15 `m aofm§À`m N>oXZ q~XyMm Y {ZX}em§H$ H$m` Agob?

a) 
1
2

7
6

,







b)
7
6

1
2

,







c)
1
2









d)
7
6









36) EH$m àVbm‘Ü ò EH$ dVw©i Am{U EH$ q~Xy Amho. Ë`m dVw©imbm {Xboë`m q~XyVyZ {H$Vr ñn{e©H$m H$mT>Vm
     òVrb?

a) 0 b) 1 c) 2 d) AZ§V
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31) Which of the following is correct formula for mode of grouped data?

a) Mode = L + fm f fm f f     1 2 0 1/ × h

b) Mode = L + fm f fm f f     1 2 1 2/ × h

c) Mode = L + fm f fm f f     1 2 1 1/ × h

d) Mode = L + fm f fm f f     1 1 2/ × h

32) Inter – relation between measures of central tendency is............

a) Mean – Mode = ( Mean – Median)

b) Mean – Median = ( Mean – Mode)

c) Mean + Mode = 3( Mean + Median)

d) Mean – Mode = 3( Mean – Median)

33) Which statement of the following is false about Normal curves

a) The normal curve is symmetric around the mean.

b) Mean, mode, median coincident.

c) Curve tapers at both ends around and finally intersects X axis.

d) As mean increases curve shifts to right.

34) a x b y      22  is a linear equation in two variables. Then which of the

    following is true statement?

a) ‘a’& ‘b’ are natural numbers.

b) ‘a’& ‘b’ are rational numbers.

c) ‘a’& ‘b’ are irrational numbers.

d)  ‘a’& ‘b’ are real numbers.

35) The ordinate of point of intersection of the lines 7x – 3y = 0 and 9x + 9y = 15 is ....

a) 
1
2

7
6

,







b)
7
6

1
2

,







c)
1
2









d)
7
6









36) In a plane there is a circle and a point. Maximum .......... tangents can be drawn
    from the given point to given circle.

a) 0 b) 1 c) 2 d) Infinite
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37) EH$mM H§$gmZo Ho$boë`m XmoZ H$moZm§Mr ~oarO 1800 Amho. Va Vmo H§$g ....... Agob.

a) {demb H§$g b) bKwH§$g c) AY©dVw©iH§$g d) dVw©i

38) Oa sin x  5
13  Am{U 




2
 x ,Va cos ...............x 

a) 12
13 b) 12

13 c) 5
12 d) 7

13

39) Oa tan  
9
5

, ,Va 
( sin ) sin

cos cos
.............

1 1
1 1
  
   


 
 

a) 5
9 b) 25

81 c) 81
25 d) 9

5

40) ΔXYZ ‘Ü ò Y hm H$mQ>H$moZ Amho. XZ + YZ = 81 go‘r Am{U XY = 9 go‘r Amho. Cosec ZMr

     qH$‘V H$mT>m.a) 41
9 b) 9

40 c) 24
9 d) 9

25

41) Oa cot A B   1
3

Am{U cot ;A B   3 0 900 0  A B A  ; Va B Am{U A Mr

    qH$‘V H$mT>m.

a) 600,300 b) 00,900 c) 300,600, d) 900,00

42) H$mhr R>am{dH$ ‘wbm§‘Ü`o 75 g’$aM§X g‘mZ à‘mUmV dmQ>br. g‘Om ‘wbm§Mr g§»`m 25 Zo dmT>br

    Va AmYrnojm àË`oH$ ‘wbmbm AY} g’$aM§X H$‘r {‘iob. gwadmVrbm Agboë`m ‘wbm§Mo g’$aM§Xm§er

    JwUmoÎma {H$Vr ?

a) 1 : 1 b) 1 : 3 c) 3 : 4 d) 2 : 3

43) {Xboë`m dVw©im‘Ü ò XmoZ EH$H|$Ðr dVw©io AmhoV. bhmZ dVw©imMr {ÌÁ`m 8 g|‘r.

    Amho. PS = 12  g|‘r. Am{U TQ = 4  g|‘r. Amho Va RT =..............

    g|‘r.Agy eHo$b.

a) (PS - 4) g|‘r b) (OS + 2) g|‘r

c) (OR + 4) g|‘r. d) (QT + 8) g|‘r
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37) The sum of two angles subtended by the same arc is 1800. Then the arc is..............

a) Major arc b) Minor arc

c) Semicircular arc d) Circle

38) If sin x  5
13  and 




2
 x ,then cos ...............x  .

a)
12
13 b) 

12
13 c) 

5
12 d)

7
13

39) If tan  
9
5

,  then  
( sin ) sin

cos cos
.............

1 1
1 1
  
   


 
 

a)
5
9 b) 

25
81 c) 

81
25 d)

9
5

40) In  ΔXYZ, right angle at Y, XZ + YZ = 81 cm and XY = 9 cm. Find the value of
      cosec Z.

a) 
41
9 b)

9
40 c) 

24
9 d)

9
25

41) If cot A B   1
3

 and cot ;A B   3 0 900 0  A B A  ; , find B and A.

a) 600,300 b) 00,900 c) 300,600, d) 900,00

42) 75 apples were divided equally among a certain number of boys. Suppose the
     number of students has been increased by 25. Then the apples received by each boy
     decreases by half apple. Find the ratio of boys to apples.

a) 1 : 1 b) 1 : 3 c) 3 : 4 d) 2 : 3

43) In the given figure, two concentric circles are given. The radius
     of smaller circle is      8 cm. PS = 12 cm & TQ = 4 cm.  Then
     possible value of RT = ...............cm.

a) (PS - 4) cm b) (OS + 2) cm

c) (OR + 4) cm d) (QT + 8) cm
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44) EH$m KS>çmimMm {‘ZrQ> H$mQ>m 14 go‘r  bm§~ Amho. Va gH$mir 7.20 Vo gH$mir 8.05 `m doio‘Ü ò

    {‘ZrQ> H$mQ>çmZo H$mnboë`m A§VamMo joÌ’$i H$mT>m.

a) 77 (go‘r)2    b) 59.89 (go‘r)2    c) 359.34 (go‘r)2     d) 462 (go‘r)2

45) Or aofm
1
4

1
2

,





  `m q~Xy‘YyZ OmVo Am{U Á`m aofoMo XmoÝhr Am§VaN>oX g‘mZ n[a‘mUmMo AmhoV na§Vw Ë`m§Mr

    {MÝho nañna {déÕ AmhoV Aem aofoMo g‘rH$aU H$mT>m.

a) x y 
1
2 b) 4 4 2x y  c)   4 4 1x y d) x y 

1
4

46) 6 go‘r {ÌÁ`mAgboë`m dVw©imbm XmoZ ñn{e©H$m H$mT>ë`m.ñn{e©H$m EH$‘oH$s¨er 600 H$moZ H$aVmV. Va

     Ë`m ñn{e©H$m§À`m bm§~tMr ~oarO .......... go‘r Agob.

a) 12 b) 14 c) 16 d) 20

47) H$moZmMm {eamoq~Xy Am{U dVw©iH|$Ð OrdoÀ`m EH$mM ~mOyg AgVrb Voìhm ....... H$moZ hm ......H§$gm‘Ü ò

     Am§Va{bpIV Pmbobm AmgVmo.

a) {demb, bKw b) bKw, bKw c) {demb, {demb d) bKw, {demb

48) qH$‘V H$mT>m 

tan cos cos cos

cos s

2 2 2 260 4 45 3 60 2 90

2 30 3

           
  

ec

ec eec cot    60 7
3

302

a) 3 b) 9
5 c) – 9 d) 9

5

49) gỳ m©Mr  C§Mr 300 d Z§Va 600 AgVmZm g‘mZ nmVirVrb EH$m B‘maVrMr gmdbr A `m {R>H$mUr nS>Vo.

    gỳ © Ooìhm 300 Mm H$moZ H$aVmo Voìhm Vr gmdbr B n ª̀V Xya OmVo. Oa AB ho A§Va 40 ‘rQ>a Agob Va

    B‘maVrMr C§Mr {H$Vr?

a) 15 3 b) 15
3 c) 20 3 d)15 3

50) EH$m KZ b§~ d¥Îm{MVrMo EHy$U n¥ð>’$i 528 go‘r2. Amho. Ë`mMo dH«$n¥ð>’$i Ë`mÀ`m EHy$U n¥ð>’$imÀ`m

      1/3 Amho. Va Ë`mÀ`m {ÌÁ òMo C§Mrer JwUmoÎma {H$Vr?

a) 1 : 3 b) 3 : 1 c) 2 : 1 d) 1 : 2
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44) The minute hand of a clock is 14 cm long. Find the area of face of the clock swept
      by the minute hand between 7.20 A. M. and 8.05 A. M.

a) 77 cm2 b) 59.89 cm2 c) 359.34 cm2 d) 462 cm2

45) Find the equation of line passing through 
1
4

1
2

,





  and making intercepts equal in

     magnitude but opposite in sign.

a) x y 
1
2 b) 4 4 2x y  c)   4 4 1x y d) x y 

1
4

46) Pair of tangents to a circle of radius 6 cm are drawn. The tangents are inclined to
      each other at an angle of. Then sum of measure of tangents is ............ cm.

a) 12 b) 14 c) 16 d) 20

47) Vertex of an angle and center of the circle are at the same side of the chord when
     the ............. angle is inscribed in .............  arc.

a) Obtuse, minor b) Acute, minor

c) Obtuse, major d) Acute, major

48) Find the value of 
tan cos cos cos

cos s

2 2 2 260 4 45 3 60 2 90

2 30 3

           
  

ec

ec eec cot    60 7
3

302

a) 3 b)
9
5 c) – 9 d) 

9
5

49) The shadow of a tower standing on a level ground is found to be 40 m longer when
     the sun’s altitude is 300 than when it is 600. The height of tower is ............ m.

a) 15 3 b)
15

3 c) 20 3 d)15 3

50) The total surface area of a solid right circular cylinder is 528 . Its curved surface is
     of the total surface. Then the ratio of its radius to its height is ..................

a) 1 : 3 b) 3 : 1 c) 2 : 1 d) 1 : 2
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gyMZm
`m Vº²$`mVrb nXm§Mm g§~§Y emoYyZ Imbrb àým§Mr CÎmao Úm.

1. 2 À`m OmJr H$moUVo Aja òB©b ?
(a) L (b) N (c) K (d) C

2. 7 À`m OmJr H$moUVo Aja òB©b ?
(a) X (b) D (c) U (d) S

3. 9  À`m OmJr H$moUVo Aja òB©b ?
(a) X (b) D (c) U (d) S

4.  T AjamgmR>r H$moUVm A§H$ òB©b ?
(a) 11 (b) 8 (c) 14 (d) 5

5. Q AjamgmR>r H$moUVm A§H$ òB©b ?
(a) 5 (b) 14 (c) 8 (d) 11

gyMZm
gd©gmYmaU B§J«Or eãXmMo ñnoqbJ H«$‘ ~XbyZ {b{hbo Amho. Va `mo½` eãX AmoiIm.

6. GRATTE

7. NAITOR

8. GARCHE

9. NEEYM

~w{Õ_mnZ MmMUr STAGE– II

M V 2 9

21 O 11 P

O Z 6 31

B 7 A T
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DIRECTION
Study the number figure carefully and find the answers of the following questions.

1. Which alphabet will replace the digit 2?
(a) L (b) N (c) K (d) C

2. Which alphabet will replace the digit 7?
(a) X (b) D (c) U (d) S

3. Which alphabet will replace digit 9?
(a) X (b) D (c) U (d) S

4. Which number will replace the alphabet T?
(a) 11 (b) 8 (c) 14 (d) 5

5. Which number will replace alphabet Q?
(a) 5 (b) 14 (c) 8 (d) 11

DIRECTION
Below given are the jumbled spellings of commonly known English words. Find
correct word.

6. GRATTE

7. NAITOR

8. GARCHE

9. NEEYM

MENTAL ABILITY  STAGE– II

M V 2 9

21 O 11 P

O Z 6 31

B 7 A T
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gyMZm
EH$m gm§Ho${VH$ ^mfoV 1, 2, 3, 4, 5 ho   , , , ,  `m {MÝhm§Zr Xe©{dbo OmVmV. Vo AZwH«$‘mZo AmhoV Ago

Zmhr. Imbrb {dYmZm§Mo {ZarjU H$ê$Z àým§Mr CÎmao Úm.

Statements: (A)    (B)      (c)    Am{U (d)   

10. 5 ho ...........  Xe©{dbo Amho.

a) Δ b) # c)  d) H$mhrhr Zmhr.

11. • + ∗ = ............
a) 3 b) 4 c) 5 d) 2

12.  ...........
a) 4 b) 3 c) 2 d) 1

gyMZm
EH$m dfm©Vrb OyZ ‘{hÝ`mÀ`m {XZX{e©Ho$Vrb H$m§hr ^mJ XmI{dbm Amho. a{ddma= 9, gmo‘dma= 10,

‘§Jidma= 11, ~wYdma=12, Jwédma= 13, ewH«$dma=14, e{Zdma=15

13.‘{hÝ`mV {H$Vr a{ddma d e{Zdma AgVrb?

a) 10 b) 9 c) 8 d) ‘m{hVr Anwar

14. Ë`mM dfm©À`m 9 Owb¡ amoOr H$moUVm dma Agob?

a) a{ddma b) gmo‘dma c) ‘§Jidma d) e{Zdma

15. Ë`mM dfm©À`m 9  ‘o amoOr H$moUVm dma Agob?

a) gmo‘dma b) ‘§Jidma c) ~wYdma d) Jwê$dma

16. A = 2B, B>C  Imbrbn¡H$s H$moUVm n`m©̀  Z¸$s AgË` Agob?

a) C > A - B b) 2B = A – C

c) A × C = 2B d) gd© MyH$



- 151 -

Direction

In some code numbers 1, 2, 3, 4, 5 are indicated by signs   , , , ,  not in order of
numbers, observe following statements and solve questions.

Statements: (A)    (B)      (c)   and (d)   

10. 5 is indicated by ——————

a) Δ b) # c)  d) None of these .

11. • + ∗ = ............

a) 3 b) 4 c) 5 d) 2

12.  ...........
a) 4 b) 3 c) 2 d) 1

Direction

An extract of calendar for the month of June of a certain year is given below

Sunday= 9, Monday= 10, Tuesday= 11, Wednesday =12, Thursday= 13, Friday=14,
Saturday=15

13. How many Saturdays and Sundays are there in this month?

a) 10 b) 9 c) 8 d) Inadequate information

14. What day will be on 9
th
July of the same year?

a) Sunday b) Monday c) Tuesday d) Saturday

15. What day was it on 9
th
May of the same year?

a) Monday b) Tuesday c) Wednesday d) Thursday

16. A = 2B, B>C which of the following is definitely false?

a) C > A - B b) 2B = A – C

c) A × C = 2B d) All are wrong
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gyMZm
Ajam§Mr gm§{JVrH$ aMZm

17)  a b b _ a _ b a a b _ a

(a)   bb a (b)   b a b (c)   a b b (d)  a b a

18)   a _ aa b _ a b a _ b a

(a)   b a a (b)   b a b (c)   b b a (d)   a b a

19) a _ a _ b b  a aa _ b b

(a)   a b a (b)   b a a (c)   a a b (d)   a b b

20) y _ x _ _ z x _ y _ x y _ z x

(a)   z y yy z y (b)   x y z x y z

(c)   z x y z y z (d)   z y x z y x

21)  _ c _ a b _ c a _ c c _ b c _

(a) b a c b c b (b) a c b b a c

(c) b c c b a c (d) c b a c a a

22)  n c _ d c n _ c d d c _ n _ d d c n n _

(a)   c d n d c (b)   d n n c c

(c)   d c n d d (d)   n c c d n a

gyMZm :
Imbrb CXmhaUmV {Za{Zamù`m {MÝhm§Zm ZdrZ AW© {Xbm Amho Am{U g§Ho$V åhUyZ dmnbm Amho. Vmo AmoiIyZ

n`m©̀ mVyZ àýmMo CÎma Úm.

23) Oa 12 + 4  =  3  ,  4 – 3  =  12,  21 ÷  7  =  14    Am{U  5 × 3   =  8

     Va, 5 × 2 – 4 + 2   8  =  ?

(a)  1 (b) 3 (c)  5 (d)  0

24) Oa  5 × 3  =  7  ,  6 × 7  =  29  ,  8 × 5  =  27

     Va 3 × 17   =  ?

(a)  18 (b) 31 (c) 19 (d)   8

25) Oa 3 × 2  =  26,  6 × 4  =  40   Am{U 5 × 7  =  22,

Va 4 × 2  =   ?

(a) 34 (b) 36 (c) 48         (d) 11
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DIRECTION
Musical arrangement of letters.

17)  a b b _ a _ b a a b _ a

(a)   bb a (b)   b a b (c)   a b b (d)  a b a

18)   a _ aa b _ a b a _ b a

(a)   b a a (b)   b a b (c)   b b a (d)   a b a

19) a _ a _ b b  a aa _ b b

(a)   a b a (b)   b a a (c)   a a b (d)   a b b

20) y _ x _ _ z x _ y _ x y _ z x

(a)   z y yy z y (b)   x y z x y z

(c)   z x y z y z (d)   z y x z y x

21)  _ c _ a b _ c a _ c c _ b c _

(a) b a c b c b (b) a c b b a c

(c) b c c b a c (d) c b a c a a

22)  n c _ d c n _ c d d c _ n _ d d c n n _

(a)   c d n d c (b)   d n n c c

(c)   d c n d d (d)   n c c d n a

DIRECTION :
In the following examples various symbols are given a new meaning and used as a
code.

23) If   12 + 4  =  3,  4 – 3  =  12,  21 ÷  7  =  14  and 5 × 3   =  8

Then value of 5 × 2 – 4 + 2   8 =?

(a)  1 (b)3  (c) 5 (d) 0

24)  If  5  × 3  =  7 ,  6 × 7  =  29  ,  8 × 5  =  27

Then the value of: 3 × 17   =?

(a)  18 (b) 31 (c) 19 (d)   8

25)   If 3 × 2  =  26  ,  6 ×  4  =  40   and 5 × 7  =  22,

Then the value of: 4 × 2 =?

(a)  34 (b)   36  (c) 48 (d)  11
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26) Oa l l Xe©{dVmo 4, l llll Xe©{dVmo 7, ∗ ~oarO {H«$`m Xe©{dVo, @ dOm~mH$s {MÝh Xe©{dVoVa Imbrb

     {dYmZmMm AW© gm§Jm.
llll  @  l ll * lllllll * llll @ l l

(a)  10 (b) 11 (c) 13 (d) 12

27) ‘+’  ho {MÝh Aer {H«$`m Xe©{dVo H$s 43 + 63  = 33, 37 + 24 = 47,  81 + 24  = 41

Va  37 + 57 =?

(a)  35 (b) 53 (c) 73 (d) 74

28) "– '  ho {MÝh Aer {H«$`m Xe©{dVo H$s 2 – 2  =  4 ,  8 – 7  = 6,  12 - 5  =  0 ,  Va 15 – 18  = ?

(a) 0 (b) 1 (c) 2 (d) 3

29) Oa  5  ×  4  = 29, 7 ×   4  =  39, 3 ×   4  =  19,  Va 4 ×  11  =?

(a) 19 (b) 29 (c) 59 (d) 43

30) Oa O bm  JwUbo = 6, Δ bm O Zo JwUbo= 10, Δ bm   JwUbo =15 Am{U Δ bm + Zo JwUbo Va 35

    òVmV, Va  ‘+ ’ {MÝh H$m` Xe©{dVo ?

(a)  9 (b) 7 (c) 5 (d) 3
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26)  If  l l stand for 4 , l llll  stand for 7,  * stand for addition , @ stand for  subtraction,
     find the value of following expression :

          llll  @  l ll * lllllll * llll @ l l

(a)  10 (b) 11  (c) 13  (d) 12

27)  ‘+’ is an operator such that 43 + 63 = 33, 37 + 24 = 47, 81 + 24 = 41

      Then 37 + 57 =?

(a)  35  (b) 53 (c) 73 (d) 74

28)   '– '  is an operator such that 2 – 2  =  4,  8 – 7  = 6,  12– 5  =  0 , then 15 – 18  = ?

(a)   0 (b)   1  (c) 2 (d)   3

29)  If 5  ×  4 = 29, 7  ×  4 =39, 3  ×  4 = 19, then the value of 4  × 11 =?

(a)  19 (b)   29 (c)   59 (d)   43

30) If O is multiplied by =  6, Δ multiplied by O is = 10, Δ multiplied by   = 15
     and  Δ  multiplied by  +  is 35, then what does  ‘+ ’  stand for?

(a)  9 (b) 7 (c) 5 (d) 3
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STAGE - II - General Science - Answers

1 a
2 b
3 c
4 d
5 b
6 a
7 c
8 a
9 c
10 c
11 d
12 c
13 b
14 d
15 a
16 a
17 c
18 a
19 b
20 c
21 c
22 b
23 a
24 c
25 a
26 c
27 a
28 d
29 d
30 c
31 c
32 a
33 d
34 b
35 c
36 d
37 c
38 b

39 a
40 c
41 a
42 b
43 d
44 a
45 c
46 a
47 a
48 c
49 c
50 c
51 a
52 b
53 c
54 c
55 d
56 d
57 b
58 c
59 d
60 b
61 d
62 b
63 b
64 b
65 a
66 d
67 a
68 b
69 c
70 c
71 b
72 b
73 b
74 a
75 c
76 d

77 a
78 b
79 c
80 a
81 c
82 a
83 c
84 b
85 a
86 d
87 a
88 c
89 b
90 a
91 d
92 b
93 c
94 a
95 b
96 d
97 c
98 b
99 c
100 c
101 a
102 a
103 d
104 b
105 a
106 a
107 a
108 a
109 d
110 c
111 b
112 c
113 d
114 d

115 a
116 a
117 a
118 b
119 a
120  c
121 b
122 b
123 a
124 b
125 d
126 b
127 d
128 c
129 a
130 b
131  a
132 d
133 d
134 c
135 d
136 c
137 b
138 c
139 a
140 b
141 b
142 b
143 a
144 d
145 b
146 b
147 b
148 d
149 a
150 d

Q. No.       Ans Q. No.       Ans Q. No.       Ans Q. No.       Ans
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1 c
2 b
3 b
4 d
5 c
6 d
7 a
8 c
9 b
10 c
11 b
12 b
13 a

STAGE - II - Mathematics - Answers

14 c
15 b
16 c
17 b
18 c
19 b
20 a
21 c
22 a
23 c
24 a
25 d
26 d

27 c
28 d
29 c
30 c
31 b
32 a
33 d
34 a
35 d
36 c
37 c
38 b
39 b

Q. No.       Ans Q. No.       Ans Q. No.       Ans Q. No.       Ans

STAGE - II- Mental Ability - Answers

1 b
2 d
3 c
4 b
5 a
6 TARGET
7 RATION
8 CHARGE
9 ENEMY
10 b

Q. No.           Ans Q. No.          Ans Q. No.        Ans

40 a
41 a
42 d
43 a
44 d
45 c
46 c
47 d
48 d
49 c
50 c

11 b
12 a
13 a
14 c
15 d
16 d
17 c
18 a
19 d
20 a

21 c
22 b
23 a
24 b
25 a
26 d
27 d
28 a
29 c
30 b
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Higher Order Thinking Skills - HOTS
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1) A Am{U B `m XmoZ Vmam EH$mM YmVynmgyZ V`ma Ho$ë`m AmhoV Am{U Ë`m§Mo dñVw‘mZ hr g‘mZ Amho. Ë`m§À`m
   bm§~rMo à‘mU 1:2 Ago Amho. XmoÝhr Vmam EH$m {dÚwV KQ>mbm EH$mZ§Va EH$ Aem nÕVrZo OmoS>ë`m AgVm B ̀ m VmaoV
   ‘t’ `m doioV 5 J BVHo$ Cî‘m AnmH$aU Pmbo. Va A `m VmaoV, VodT>çmM doimV {H$Vr Cî‘m AnmH$aU hmoB©b?

a) 10 J b) 25 J c) 20 J d) 15 J

2) EH$m YmVyÀ`m EH$g‘mZ VmaoÀ`m XmoZ Q>moH$m§Zm pñWa {d^d bmdbo Amho. Ë`m Vmao‘Ü ò H$mhr CîUVm {Z‘m©U
   hmoB©b, Vmao‘Ü ò XwßnQ> CîUVm V`ma hmoÊ`mgmR>r ............ H$amdr bmJob.

a) VmaoMr {ÌÁ`m Am{U bm§~r XwßnQ> b) VmaoMr {ÌÁ`m Am{U bm§~r {Zå‘r
c) VmaoMr {ÌÁ`m XwßnQ> Va bm§~r {Z‘nQ> d) VmaoMr {ÌÁ`m {Z‘nQ> Am{U bm§~r XwßnQ>

3) AZwH«$‘o q
1
 Am{U q

2
 YZ à^ma AgUmao EH$mM YmVyMo XmoZ EH$ g‘mZ M|Sy> {dÚwV amoY ~¡R>H$sda KÅ> ~gdbo

  AmhoV. Vo EH$‘oH$m§nmgyZ r BVŠ`m A§Vamda R>odbo AmhoV. Ë`m M|Sy>Zr EH$‘oH$m§Zm ñne© Ho$bm Am{U nwÝhm r
  BVŠ`mM A§Vamda R>odbo Va, Ë`m XmoKm§‘Yrb ~b ................ Agob.

a) nyduBVHo$M, Oa q
1
> q

2
.

b) nydu nojm OmñV, Oa q1Am{U q2 Ag‘mZ AgVrb.
c) nydu nojm H$‘r,  q

1
Am{U q

2
À`m {H$‘VtMm H$mhrhr g§~§Y Zmhr.

d) nydu BVHo$M, Oa q
1
< q

2
.

4) ‘f’ BVHo$ Zm^r` A§Va AgUmè`m
   A§Vd©H«$ Amaí`mgmR>r, ‘v’ ho à{V‘oMo
   A§Va Am{U ‘u’ ho nXmWm©Mo A§VaAmho. Va
   Imbrbn¡H$s H$moUVm AmboI, u Am{U v
   `m§À`mVrb g§~§Y AMyH$nUo Xe©{dVmo?

Higher Order Thinking Skills - HOTS

gm_mÝ`{dkmZ
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1) Two wires A and B are of same material and they possess same mass. The ratio of
    their lengths is 1:2. Both wires are connected to the same voltage source one after
    another. Heat dissipation in wire B is 5 J in time‘t’. What is heat dissipation in wire
    A for same time‘t’?

a) 10 J b) 25 J c) 20 J d) 15 J

2)  A constant voltage is applied between ends of uniform metallic wire. Some heat is
    developed in it. The heat developed will be double if,

a) Radius and length of wire will be doubled.
b) Radius and length of wire will be half of the original.
c) Radius will be doubled and length will be half of original.
d) Radius will be half of the original and length will be doubled.

3) Two identical conducting balls having positive charges q
1
 and q

2
 respectively are

     maintained at distance r from each other. They are touched to each other and
     separated again and maintained at the same distance r, the force between them in
    this situation will be …….

a) Same as that of before, if  q
1
> q

2
.

b) Greater than as that of  before, if q1 and q2 are unequal.
c) Less than as that of before, no matter values of q

1
 and q

2
.

d) Same as that of before, if q
1
< q

2
.

4) For a concave mirror of focal length ‘f’, v
    is the image distance & u is the object
    distance. Which of the following graphs is
    correct representation of the relation
    between u & v?

Higher Order Thinking Skills - HOTS

GENERAL SCIENCE
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5) EH$m g‘Vb ~{hd©H«$ q^JmMm AndV©Zm§H$ 1.5 Am{U dH«$Vm {ÌÁ`m 30 cm Amho. Ë`m q^JmÀ`m dH«$n¥ð>
   ^mJmbm Mm§XrMm ‘wbm‘m {Xbm Amho. `m ZdrZ n[apñWVrV {‘iUmar à{V‘m Iar d nXmWm©À`m AmH$mamBVH$sM
   AgÊ`mgmR>r, Ë`m nXmWm©Mo q^JmnmgyZMo A§Va ........ BVHo$ Agob.

a) 10 cm b) 15 cm c) 30 cm d) 20 cm

6) XmoZ Vmam EH$mM nXmWm©nmgyZ ~Z{dboë`m AmhoV Am{U Ë`mMo H$mQ> N>oXmMo joÌ’$i hr g‘mZ Amho. `m
   Vmam§Mo dñVw‘mZ 2m Am{U 6m Ago Amho. `m Vmam§Mr EH$ga d Z§Va g‘m§Va OmoS>Ur EH$mM ‘§S>bmV
   g§̀ w{º$H$ {d^dm§Vamg OmoS>br Va EH$ga Am{U g‘m§Va OmoS>UrV V`ma hmoUmè`m CîUVoMo à‘mU..... Ago
   Agob.

a) 1 : 8/3 b) 8/3 : 1 c) 1: 16/3 d) 16/3 : 1

7) EH$ 60W Mm {Xdm, Imobr CîU R>odUmè`m §̀Ìmer EH$ga OmoS>UrV OmoS>bm Amho. 100 W À`m {Xì`mZo Oa
60 W À`m {Xì`mMr    OmJm KoVbr, Va Imobr CîU R>odUmao §̀Ì........

a) OmñV CîUVm {Z‘m©U H$aob.
b) H$‘r CîUVm {Z‘m©U H$aob.
c) VodT>rM CîUVm {Z‘m©U H$aob.
d) {H$Vr CîUVm {Z‘m©U H$aob, ho §̀ÌmÀ`m pñWVrda Adb§~yZ Amho.

8) AAm{U B ̀ m q~Xy‘Yrb g‘‘yë` amoY H$mT>m.
gd© amoY R `m EH$mM qH$‘VrMo AmhoV.

a)
4
3
R b) 8

3
R

c) 3
2
R d) 6

3
R

9) Imbrb ‘§S>bmV 5  ̀ m amoYmVyZ ...... BVH$m {dÚwV àdmh OmB©b.

a)
6
7

A b) 1 A

c) 3  A d) 0 A

10) ’w$bnmIao, BVH$s a§JrV H$m AgVmV?
a) H$maU ’$º$ {d{eï> a§JM Vo namd{V©V H$aVmV.
b) ì`{VH$aUm‘wio àË òH$ ’w$bnmIamMr {d{eï>a§Jg§JVr {XgVo.
c) {dgaUm‘wio àË òH$ ’w$bnmIamMr {d{eï> a§Jg§JVr {XgVo.
d) àH$memMo AdemofU ho ~mH$sÀ`m H$maUm§nojm ‘hÎdmMo H$maU Amho.
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5) A Plano convex lens of refractive index 1.5 & radius of curvature 30 cm is silvered
    at the curved surface. For this lens, what will be the object distance in order to get a
   real image of object size?

a) 10 cm b) 15 cm c) 30 cm d) 20 cm

6) Two wires are of same material &of same area of cross-section. Their masses are 2m
& 6m. When their combinations are connected in appropriate and same circuit, the heat
produced in series& parallel circuit is in ratio ________.

a) 1 : 8/3 b) 8/3 : 1 c) 1: 16/3 d) 16/3 : 1

7) A 60 W bulb is connected in the series with a room     heater & this combina-
tion is connected to the mains.      If 60 Wbulbis replaced by 100 W bulb, the heat
      produced by the heater _____.

a) Will increase.

b) Will decrease.

c) Not change.

d)  Depends on heater condition.

8) Calculate the equivalent resistance
between A & B. All resistors are of same
value R.a) 4

3
R b) 8

3
R

c) 3
2
R d) 6

3
R

9)........... Current will flow through the 5  resister.a) 6
7

A b) 1 A

c) 3  A d) 0 A

10) Why butterflies are so colorful?

a) They reflect specific colors only.

b) They enhance the specific color combination due to interference pattern.

c) They enhance the specific color combination due to dispersion of light.

d) Absorption of light is more important factor than any other.
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11) àH$me {H$aU (P) `m ‘mÜ`‘mVyZ (Q) `m ‘mÜ`‘m‘Ü ò OmVAmho. àH$memMm doJ P `m ‘mÜ`‘m‘Ü ò
      2 x 108 m/s  BVH$m Va Q `m ‘mÜ`‘m‘Ü ò 2.3 x 108 m/s. BVH$m Amho. àH$me {H$aU P ‘mÜ`mVyZ Q
    ‘mÜ`‘mV OmVmZm Ë`mMm H«$m§{VH$ H$moZ H$m` Agob?

a) 600 b) 450 c) 300 d) 550

12) XmoZ nmVi {^Jm§À`m àUmbr‘Ü ò EH$ ~{hd©H«$ q^J Va Xwgao A§Vd©H«$ q^J Amho. ~{hd©H«$q^JmMo Zm^r` A§Va
    30 cm BVHo$ Amho, d A§Vd©H«$q^JmMo Zm^r` A§Va 15 cm BVHo$ Amho. nXmW© ~{hd©H«$ q^JmnmgyZ 60 cm
   BVŠ`m A§Vamda ~mUmÀ`m ñdê$nmV XmI{dbm Amho. ~{hd©H«$ d A§Vd©H«$ q^Jm‘Yrb A§Va 15 cm BVHo$
    Amho. `m àUmbr‘wio V`ma hmoUmè`m à{V‘oMo {dembZ H$m` Agob?a) 1

2 b) 1
2c) 1

4 d) 1
4

13) AmH¥$VrVrb A Am{U  B   ̀ m XmoZ Q>moH$m§‘Yrb amoY H$m` Amho?   (gd© amoY R Ω BVŠ`m {H$‘VrMo AmhoV.)

a) 9 R b) 2Rc) 15
4

R d) 13
3

R

14) 'l' BVŠ`m bm§~rMm gai dmhH$ 'B' BVŠ`m EH$g‘mZ Mw§~H$s` joÌm‘Ü ò R>odbm Amho Ë`m dmhH$m‘YyZ 'I'
    BVH$m àdmh OmV Agob, Va Imbrbn¡H$s H$moUË`m n[apñWVr‘Ü ò Ë`mÀ`mda gdm©V OmñV ~b H$m ©̀aV
    Agob? Mw§~H$s` joÌmMo SI EH$H$ H$m` Amho?

a) θ = 900 Am{U Mw§~H$s` joÌmMo SI EH$H$ 
N

A m  Amho.

b) θ = 00  Am{U Mw§~H$s` joÌmMo SI EH$H$
N

A m 2  Amho.

c) θ = 450  Am{U Mw§~H$s` joÌmMo SI EH$H$ 
N

A m  Amho.

d) θ = 600  Am{U Mw§~H$s` joÌmMo SI EH$H$ 
N

A m 2  Amho.

A

B
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11) Light is passing from one medium (P) to other medium (Q). The speed of the light
     in P medium is 2 x 108 m/s & in Q medium it is 2.3 x 108 m/s. What will be the
     critical angle for ray going from P to Q?

a) 600 b) 450 c) 300 d) 550

12) A system of two thins lenses consists of a convex lens & a concave lens as shown
      in the figure. The focal length of the convex lens is 30 cm & of concave lens is 15
      cm. The object is shown by the arrow in diagram, is at 60 cm from the convex lens.
      The distance between the convex lens &  concave lens is 15 cm. What will be
     magnification of final image?a) 1

2 b) 1
2c) 1

4 d) 1
4

13) What is the total resistance between points A & B? (All the resistor are of value
       RΩ).

a) 9 R b) 2Rc) 15
4

R d) 13
3

R

14 ) A straight conductor of length ‘l’ is placed in the uniform magnetic field B. ‘I’ is
     the current flowing through it. In which situation the magnetic force on it will be
     maximum and what is the S.I. unit of magnetic field?

a) θ = 900 and S.I. unit of magnetic field is
N

A m

b) θ = 00 and S.I. unit of magnetic field is
N

A m 2

c) θ = 450 and S.I. unit  of magnetic field is 
N

A m

d) θ = 600 and S.I. unit  of magnetic field is 
N

A m 2

A

B
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15) EH$m {Xì`mda 50 W Am{U 220 V Ago j‘Vm {ZX}eZ {Xbobo Amho, Va Cpî‘Ho$da 1000 W d 220 V
    Ago j‘Vm {ZX}eZ Amho. Va Ë`m {Xì`mÀ`m Am{U Cpî‘Ho$À`m amoYm§Mo JwUmoÎma H$m` Agob? {Xdm EH$
    {XdgmV 8 Vmg dmnabm OmVmo d Cpî‘H$m 4 Vmg dmnabr OmVo. Va {Xdg^amV {H$Vr D$Om© dmnabr OmVo?

a) 20:1 & 15.84 x 106 J b) 1:20 & 1.584 x 106 J

c) 2:10 & 15.84 x 105 J d) 10:2 &1.584 x 105 J

16) {hè`mV ..........
a) àË òH$ H$m~©Z AUy hm eoOmarb Mma H$m~©Z AUy§er ~§{YV AgyZ MVwîH$moZ aMZm XoVmo.
b) àË òH$ H$m~©Z AUy hm eoOmarb VrZ H$m~©Z AUy§er ~§{YV AgyZ fQ>H$moZr aMZm XoVmo.
c) àË òH$ H$m~©Z AUy hm eoOmarb VrZ H$m~©Z AUy§er ~§{YV AgyZ MVwîH$moZ aMZm XoVmo.
d) àË òH$ H$m~©Z AUy hm eoOmarb Mma H$m~©Z AUy§er ~§{YV AgyZ fQ>H$moZr aMZm XoVmo.

17)
CH

3

⎥
CH

2
-CH=CH-CH

3

{Xboë`m g§̀ wJmMo Zmd gm§Jm.
a) 1 {‘{Wb 2 ã ẁQ>rZ b) 2 n|Q>rZ
c) 4 {‘{Wb 2 ã ẁQ>rZ d) 1 {‘{Wb 2 ã ẁQ>mBZ

18) ~«m±P : Vm§~o Am{U {Q>Z :: ñQ>oZbog ñQ>rb : ......
a) bmoI§S>, H«$mo{‘`‘ Am{U H$m~©Z b) {ZHo$b, H«$mo{‘`‘ Am{U H$m~©Z
c) bmoI§S>, {ZHo$b, H«$mo{‘`‘ Am{U H$m~©Z d) Vm§~o, bmoI§S>, qPH$

19) 24 H°$aoQ> gmoZo ho 100% ewÕ Amho Va 18 H°$aoQ> {H$Vr?
a) 90%           b) 80%            c) 50%            d) 75%

20) ‘¥Xm AewÕr åhUOo
a) YmVwH$m§‘Yrb AewÕr b) Z¡g{J©H$ g§̀ wJmVrb AewÕr
c) Á`mVyZ YmVy gmò rñH$anUo doJim H$aVm òVmo. d) O{‘ZrVrb AewÕr

21)Al
2
O

3
 + NaOH   `m A{^{H«$ òV ....... V`ma hmoVo.

a) NaAlO
3

b) NaO
2

c) AlNaO d) Al
3
O

2
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15) A bulb is marked with 50 W, 220 V and heater is rated as 1000 W, 220 V. A bulb is
     used for 8 hours a day and heater is used for 4 hours a day. What is the ratio of
      resistances of bulb to heater?  How much is the energy consumed in one day?

a) 20:1 & 15.84 x 106 J b) 1:20 & 1.584 x 106 J
c) 2:10 & 15.84 x 105 J d) 10:2 &1.584 x 105 J

16) In diamond..........
a) Carbon atom is linked to four other carbon atoms & form tetrahedron
b) Carbon atom is linked to three other carbon atoms & form hexagonal planar

               structure
c) Carbon atom is linked to three other carbon atoms & form tetrahedron
d) Carbon atom is linked to four other carbon atoms & form hexagonal planar

               structure

17)
CH3

⎥
CH

2
-CH=CH-CH

3

The name of compound is
a) 1 methyl 2 butene b) 2 pentene
c) 4 methyl 2 butene d) 1 methyl 2 butyne

18) Bronze : Copper & tin :: Stainless steel : …….
a) Iron, Chromium, Carbon b) Nickel, Chromium, Carbon
c) Iron, Nickel, Chromium, Carbon d) Copper, iron, zinc

19) 24 carat is 100% pure gold, so 18 carat is
a) 90% b) 80% c)  50% d) 75%

20) Gangue is .............
a) Impurities in ores
b) Impurities in naturally occurring compounds
c) Substances from which metal extracted
d0 Impurities in soil

21) Al
2
O

3
  + NaOH, results in formation of

a) NaAlO3 b) NaO2

c) AlNaO d) Al
3
O

2
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22) Imbrb A{^{H«$`m ...... ñdénmMr Amho.
2H

2
S + SO

2
 →  3S + 2 H

2
O

a) g§̀ moJ A{^{H«$`m b) aoS>m°Šg A{^{H«$`m
c) AnKQ>Z A{^{H«$`m d) {dñWmnZ A{^{H«$`m

23) nmoQ>°{e`‘ S>m`H«$mo‘oQ> ‘Yrb AUy§Mr g§»`m {H$Vr?
a)10             b) 5            c) 17           d) 11

24) BW°Zm°b :: C2H5OH   :: BW°ZmoBH$ A{gS> : .....
a. C2H5COOH       b. CH3COOH        c. C2H3COOH        d. C2H5O2

25) Vm§~o Vmn{dë`mda  ........
a) nm§T>è`m a§JmMo Am°ŠgmB©S> V`ma hmoVo. b) {haì`m a§JmMo hm`S´m°ŠgmB©S> V`ma hmoVo.
c) H$mù`m a§JmMo Am°ŠgmB©S> V`ma hmoVo. d) A{^{H«$`m hmoV Zmhr.

26) Imbrbn¡H$s aoS>m°Šg A{^{H«$`m AmoiIm.
a) NaCl + AgNO3 → AgCl + NaNO3

b) CuCl
2 
+ H

2
S →  CuS + 2HCl

c) AlCl
3
 + 3NH

4
OH  → Al(OH)

3 
+ 3NH

4
Cl

d) BaSO4 + 4C → BaS  + 4CO

27) amgm`{ZH$ A{^{H«$`m ....... `mda Adb§~yZ AgVo.
a) A{^H$aU AmH$ma b) A{^H$aU g§hVr
c) Vmn‘mZ d) darb gd©

28) H$m°na ŠbmoamB©S>‘Yo gë’w$[aH$ AmåbmMo H$mhr W|~ KmVë`mda CËnm{XV Ðì`m‘wio Zrim {bQ>‘g bmb hmoVmo
     Va CËnm{XV Ðì`  H$moUVo?

a) Zm`{Q´H$ Amåb b) H°$pëe`‘ Am°ŠgmBS>
c) hm`S´moŠbmo[aH$ Amåb d) A°go{Q>H$ Amåb

29) [aH$m‘r OmJm ^am.
(Li, Na, K ) : ( Ca, …., Ba)

a) Cd b) Sr c) Cr d) Th

30) Imbrbn¡H$s Hw$R>bo g§̀ wJ Aï>H$mMm {Z`‘ XmIdrV Zmhr
a) Cl2 b) NaCl c) BCl3 d) MgCl2



- 169 -

22) The following chemical reaction represents
       2H

2
S + SO

2
 →  3S + 2 H

2
O

a) Combination reaction b) Redox reaction
c) Decomposition reaction d) Displacemenr reaction

23) The number of atoms present in potassium dichromate is

a)10             b) 5            c) 17           d) 11

24) Ethanol : C
2
H

5
OH :: Ethanoic acid : …….

a) C
2
H

5
COOH       b) CH

3
COOH        c) C

2
H

3
COOH        d) C

2
H

5
O

2

25) When copper is heated ................
a) White coloured oxide is formed
b) Green coloured hydroxide is formed
c) Black  coloured oxide is formed
d) No reaction takes place

26) Identify redox reaction from following.

a) NaCl + AgNO3 → AgCl + NaNO3

b) CuCl2 + H2S →  CuS + 2HCl

c) AlCl
3
 + 3NH

4
OH  → Al(OH)

3 
+ 3NH

4
Cl

d) BaSO
4
 + 4C → BaS  + 4CO

27) Rate of reaction depends on
a) Particle size of reactants b) Concentration of reactants
c) Temperature d) All of above

28) To copper chloride, few drops of sulphuric acid are  added, the products turns blue
      litmus red, the product is ..........

a) Nitric acid b) Calcium oxide
c) Hydrochloric acid d) Acetic acid

29) Fill the gap.
(Li, Na, K ) : ( Ca, …., Ba)
a) Cd b) Sr c) Cr d) Th

30) Which of the following compound does not follow octet rule?

a) Cl2 b) NaCl c) BCl3 d) MgCl2
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31) g§̀ wJmMo Zmd AmoiIm

a) 4 {‘{Wb n|Q> 1 AmBZ b) 2 {‘{Wb n|Q> 4 AmBZ
c) 4 {‘{Wb n|Q> 1 BZ d) 2 {‘{Wb n|Q> 1 BZ

32) C
6
H

14
 Mr g‘KQ>H$ g§̀ wJo {H$Vr?

a) 4 b) 5 c) 6 d) 7

33) ~mhoarb H$joV 3 BboŠQ´moZ Agbobo ‘ybÐì` Hw$R>bo?
a) {bWr`‘ b) A°ë ẁ{‘{Z`‘ c) {gbrH$m°Z  d) Vm§~o

34) (B, Al, Ga) : (O, …., Se)

a) P b) F c) S d) C

35) nm°br{WZ‘Yrb EH$dmarH$ KQ>H$ Hw$R>bm?
a) BWoZ b) BWrZ c) BWmBZ d) gd©

36) Imbr {Xboë`m bjUm§Mo {H$Q>H$m§Ûmao namJr^dZ hmoUmar ’w$bo d dmè`mZo namJr^dZ hmoUmar ’w$bo `m JQ>m§‘Ü ò
    dJuH$aU H$am.
 bjUo:

I    Iyn OmñV à‘mUmV namJH$U V`ma H$aVmV.
II   Hw$jr hr {MH$Q> d gnmQ> AgVo.
III  ZoŠQ>a V`ma H$aVmV.
IV ’w$bo gm‘mÝ`V… N>moQ>r d nm§T>è`m a§JmMr AgVmV.

a) dmè`mZo namJr^dZ hmoUmar ’w$bo - I, II
{H$Q>H$m§Ûmao namJr^dZ hmoUmar ’w$bo - III, IV

b) dmè`mZo namJr^dZ hmoUmar ’w$bo -  I, IV
{H$Q>H$m§Ûmao namJr^dZ hmoUmar ’w$bo -  II, III

c) dmè`mZo namJr^dZ hmoUmar ’w$bo - I, III
{H$Q>H$m§Ûmao namJr^dZ hmoUmar ’w$bo - II, IV

d) dmè`mZo namJr^dZ hmoUmar ’w$bo - II, III
{H$Q>H$m§Ûmao namJr^dZ hmoUmar ’w$bo - I, IV

                       CH
3

             ⎥
CH3-CH-CH2-C≡CH
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31) Name the compound

a) 4 methyl pent 1 yne b) 2 methyl pent 4 yne

c) 4 methyl pent 1 ene d) 2 methyl pent 4 ene

32) The number of isomers of C
6
H

14
 is

a) 4 b) 5 c) 6 d) 7

33) The element having 3 electrons in outermost shell

a) Lithium b) Aluminium c) Silicon  d) Copper

34) (B, Al, Ga) : (O, …., Se)

a) P b) F c) S d) C

35) The repeating unit in polythene is

a) Ethane b) Ethene c) Ethyne  d) All

36) Classify the given characters into insect pollinated flowers and wind pollinated
      flower groups.

 Characters:-

I-   Produce large quantity of pollen grains.

II-  Stigma is sticky and flat

III- Produce nectar.

IV- Flowers are small and usually white colored

a) Wind pollinated flowers – I , II

Insect pollinated flowers – III, IV

b) Wind pollinated flowers – I,IV

Insect pollinated flowers – II, III

c) Wind pollinated flowers – I , III

Insect pollinated flowers – II, IV

d) Wind Pollinated flowers – II, III

Insect pollinated flowers – I, IV

                       CH3

             ⎥
CH

3
-CH-CH

2
-C≡CH
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37) ~r - éOÊ`mÀ`m à`moJmgmR>r XmoZ Hw§$S>çm KoVë`m A Am{U B. XmoÝhr Hw§$S>çmV EH$mM àH$maÀ`m {~`m
     bmdë`m. A Hw§$S>rV Ja‘ nmUr KmVbo d bJoMM {Vbm ßbmpñQ>H$À`m ~°J‘Ü ò ~§X H$ê$Z R>odbo. B Hw§$S>rV
     gmYo nmUr KmVbo. XmoÝhr Hw§$S>çm pIS>H$sV Aem OmJr R>odë`m H$s, Ë`m§Zm nwaogm gỳ ©àH$me {‘iob. Hw§$S>çm§Mo
     5 {Xdgm§Z§Va {ZarjU Ho$bo.
    Imbrbn¡H$s H$moUVo {ZarjU darb à`moJmg§X^m©V `mo½` Amho?

I.     B Hw§$S>rVrb PmS>mMr dmT> A Hw§$S>rVrb PmS>mnojm Mm§Jbr {XgyZ Ambr.
II.   gwadmVrÀ`m WmoS>çm dmT>rZ§Va A Hw§$S>rVrb PmS> ‘obo.
III.  gwadmVrÀ`m WmoS>çm dmT>rZ§Va B Hw§$S>rVrb PmS> ‘obo.

a) ’$º$  I b) ’$º$  II
c) I Am{U II d) I, II Am{U III

38) {ndir d JwiJwirV {~`m AgUmè`m dmQ>mÊ`mÀ`m PmS>mMm g§H$a {hadr d IS>~S>rV {~`m AgUmè`m
    dmQ>mÊ`mÀ`m PmS>m~amo~a Ho$bm. Xwgè`m g§VmZr` {nT>rZ§Va (F

2
) 45 {ndir d JwiJwirV {~`m§Mr d 15

    {hadr d IS>~S>rV {~`m§Mr {Z{‘©Vr Pmbr. {ndù`m d JwiJwirV {~`m§À`m ‘yi PmS>mMr OZwH${dYm.......
    Agbr nm{hOo.

a) YYRr                 b) Yyrr c) YYRR d) YyRr.

39) ~mînmoËgO©ZmMm à`moJ H$aÊ`mgmR>r nmM g‘mZ PmS>o nmM n[ajm Zù`m§‘Ü ò KoVbr. Imbrb AmH¥$Vr àË òH$
    PmS>mgmR>rMr à`moJ aMZm Xe©{dVo. àË òH$ PmS>mMo n[ajmZirgh à`moJmÀ`m gwadmVrbm d eodQ>r (3 {Xdgm§Z§Va)
   dOZ KoVbo.  à`moJmMm {ZarjU Vº$m Imbr {Xbm Amho. H$moUVm n`m©̀  gdm©V `mo½` {ZîH$f© Xe©{dVmo ?

   PmS> dOZ (J«°)
   à`moJmÀ`m gwadmVrbm à`moJmÀ`m eodQ>r

    1              112  94

     2              123 120

     3              127 125

     4             119 95

    5             115 91

a) 2 d 4 hr PmS>o CÝhm‘Ü ò R>odÊ`mV Ambr hmoVr.
b) H$moUË`mhr PmS>m‘Ü ò ~mînmoËgO©Z {XgyZ òV Zmhr.
c) 2 d 3 `m PmS>m§À`m nmZm§da ìh°g{bZ/J«rg bmdÊ`mV Ambo hmoVo.
d) 1, 3 d 5 hr PmS>o X‘Q> hdm‘mZmV R>odÊ`mV Ambr hmoVr.
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37) For seed germination experiment two pots were taken A and B. Two same seeds
     were sowed in both pots. Pot A was potted with hot water and immediately covered
     tightly in polythene bag. In pot B normal water was added.  Both pots were kept in
     window where enough sunlight was available. Pots were observed after 5 days.

     Which of the following observations is true for above experiments?

I.   Plant in pot B was grown better than plant in pot A.

II.  After little initial growth, plant in pot A died.

III. After little initial growth, plant in pot B died.

a) Only I b) Only II c) I and II     d) I, II and III

38) A pea plant with yellow and round seeds is crossed with another pea plant with
     green and wrinkled seeds. After F

2
 generation it produced 45 yellow round seeds

     and 15 green round seeds.  Genotype of parent plant with yellow and round seeds
       must be .............

a) YYRr            b) Yyrr c) YYRR d) YyRr.

39) To conduct transpiration experiment five similar plants were placed in five test
      tubes. The diagram below shows set up for each plant.

      Each plant along with test tube was weighed at the start of experiment and at the end
     of it (after 3 days). Observation table of experiment is given below. Which option
      shows most appropriate inference?

Plant Weight (g)

              At the start

           of experiment

   1                 112                            94
   2                 123                            120

   3                  127                           125

   4                  119               95

    5                 115                           91

       a)  Plants 2 and 4 were kept in sunlight.

       b) There is no transpiration in either of the plant.

       c) Leaves of plant 2 and 3 were coated with Vaseline/grease.

       d) Plants 1, 3 and 5 were kept in humid environment.

At the end

of experiment
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40) Mma gmaIr Q>mo‘°Q>moMr PmS>o A, B, C d D Mma doJù`m nm°{bhmD$g‘Ü ò dmT>dÊ`mV Ambr. àË òH$ PmS>mbm
    g‘mZ à‘mUmV nmUr XoÊ`mV Ambo. àË òH$ nm°{bhmD$gMo Vmn‘mZ d AmÐ©Vm Imbr {Xboë`m Vº²$`mà‘mUo
    H¥${Ì‘arË`m {Z §̀{ÌV H$aÊ`mV Ambr.

nm°{bhmD$g Vmn‘mZ (0C) AmÐ©Vm (%)
   A                            26                                           34

                           B                        40 55
                           C                        42 30
                           D                        33 68

à`moJmMo `mo½` {ZarjU {ZdS>m.
a) D PmS>mMm ~mînmoËgO©ZmMm Xa gdm©V OmñV Agob.
b) A PmS>mÀ`m ~mînmoËgO©ZmMm Xa C PmS>mnojm H$‘r Agob
c) A PmS>mMm ~mînmoËgO©ZmMm Xa = D PmS>mÀ`m ~mînmoËgO©ZmMm Xa
d) gd© PmS>m§À`m ~mînmoËgO©ZmMm Xa g‘mZ Agob.

41) AjV§Vy‘Yrb {dÚwV {H«$`merbVm Aä`mgÊ`mMm à`moJ ñ¹$sS>Mm AjV§Vy dmnê$Z H$aÊ`mV Ambm. `m
     à`moJmMo AmboI ê$nmVrb {ZarjU Imbr XmIdÊ`mV Ambo Amho.
     `mo½` {dYmZ {ZdS>m.

a) à`moJmÀ`m gwadmVrbm, AjV§VyÀ`m noerÐì`mV K+ Am`ZmMr g§hVr H$‘r AgVo d Na+  Am`ZMr
           g§hVr ~mhoa nojm OmñV AgVo.

b) {H«$`m {d^dmÀ`m doir AjV§VyÀ`m ~mhoarb ÐdmV noerÐì`mnojm Na+  Am`ZmMr g§hVr OmñV AgVo.
c) [anmobam`PoeZÀ`m doir Na+  Am`Z AjV§VyÀ`m AmV-~mhoa ñd¡anUo g§Mma H$aVmV.
d) S>rnmobam`PoeZÀ`m doir Cl- Am`Z AjV§Vy‘Ü ò {eaVmV.

Action potential  {H«$`m {d^d

Depolarization

S>rnmobam`PoeZ
Repolarization

arnmobam`PoeZ

Hyperpolarization

hm`nanmobam`PoeZ
Resting potential
aopñQ>¨J nmoQ>opÝeAb

Time (milliseconds)

M
em

br
an

e 
P

ot
en

ti
al

 (
m

V
)

50

0

50

100

0      1     2      3     4     5      6     7
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40) Four similar tomato plants were grown in four different polyhouses A, B, C, D.
     Each plant was given with equal amount of water. Temperature and humidity of
    each polyhouse is artificially maintained as given in table.

               Polyhouse                   Temperature (0C)             Humidity (%)

                      A                        26                34

                      B                       40                55

                      C                       42                30

                      D                              33                                 68

      Choose the correct observation of experiment.

            a) Plant D will show highest rate of transpiration.

            b) Rate of transpiration of plant A will be less than plant C.

            c) Rate of transpiration of plant A=rate of transpiration of plant D

           d) Rate of transpiration of all plants will be same.

41) The experiment of determination of electrical activity in the squid axon was carried
      out. The graphical observation of experiment is shown below.

      Choose the correct statement.

         a) At the beginning of experiment, cytoplasm inside the axon has low
             concentrtion of  K+ ions and high concentration of Na+ ions than the outside.

         b) At the point of action potential, fluid outside the axon will have high
              concentration of Na+ ions than the cytoplasm.

         c) During repolarization Na+ ions start moving randomly inside and outside the axon.

         d) During depolarization Cl” ions enter inside the axon.

Action potential  {H«$`m {d^d

Depolarization

S>rnmobam`PoeZ
Repolarization

arnmobam`PoeZ

Hyperpolarization

hm`nanmobam`PoeZ
Resting potential
aopñQ>¨J nmoQ>opÝeAb

Time (milliseconds)

M
em

br
an

e 
P

ot
en

ti
al

 (
m

V
)

50

0

50

100

0      1     2      3     4     5      6     7
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42) gwaO d œoVm `m§Zm {Zboe d amOoe hr XmoZ ‘wbo AmhoV. gwaOMm aº$JQ> AB Amho. amOoe d {Zboe `m§Mm
     aº$JQ> B Amho. {ZboeMo b¾ gnZmer Pmbo. {Zboe d gnZm `m§Zm Mma ‘wbo AmhoV. Ë`mVrb XmoKm§Mm
     aº$JQ> B Amho Va XmoKm§Mm O Amho. darb ‘m{hVrdê$Z `mo½` n`m©̀  {ZdS>m.
      ZmoQ> : AmnU òWo Rh KQ>H$mMm {dMma H$aV Zmhr

1. aº$JQ>mgmR>r, œoVmMr OZwH${dYm IBIB qH$dm IBIO Aer Agob.
2. aº$JQ>mgmR>r, œoVm d {Zboe `m§Mr OZwH${dYm IBIO Agob.
3. gwaO d œoVm `m§Zm aº$JQ> A AgUmao ‘yb Agy eH$Vo.
4. {Zboe d gnZm `m§Mr gd© ‘wbo aº$JQ>mgmR>r g‘ ẁ½‘ZOr AgVrb.
a) 2 d 3 b) 1 d 3  c) 3 d 4 d) 1 d 4

43) Ooìhm ½bwH$moOMm EH$ aoUy `rñQ> noer g§nyU©nUo dmnaVo, Voìhm E.Q>r.nr. Mo 2 aoUy V`ma hmoVmV. Ooìhm
     ½bwH$moOMm EH$ aoUy B©.H$mobm` noer g§nyU©nUo dmnaVo, Voìhm EQ>rnr 38 aoUy V`ma hmoVmV. XmoÝhr EH$noer`
     gOrd AmhoV, Varhr EH$m ½bwH$moOÀ`m aoUynmgyZ Vo doJdoJù`m à‘mUmV E.Q>r.nr. V`ma H$aVmV.
     `m g§X^m©V `mo½` H$maUo {ZdS>m.
H$maUo -

I.    `rñQ> hm Ñí`H|$ÐH$s Va B©. H$mobm` hm AmXrH|$ÐH$s gOrd Amho.
II.   `rñQ> hm {dZm°Šgr œgZ H$aUmam Va B©.H$mobm` hm Am°pŠgœgZ H$aUmam gOrd Amho.
III.   ̀ rñQ>‘Ü ò ½bwH$moO {dKQ>ZmVrb (½bm`H$mo{b{gg) A§{V‘ CËnmXZ (nm`éìhoQ>)Mo A{gQ>mëS>ohmB©S>‘Ü ò
      ê$nm§Va hmoVo Va B©. H$mobm` ‘Ü ò nm`ê$ìhoQ>Mo ê$nm§Va A°go{Q>b H$mo - E.  ‘Ü ò hmoVo.
IV.  `rñQ>‘Ü ò A§{V‘ BboŠQ´m°Z J«mhH$ Am°pŠgOZ AgVmo Va B©. H$mobm` ‘Ü ò Vmo nm`ê$ìhoQ> AgVmo.
V. B©. H$mobm` ‘Ü ò ½bwH$moO {dKQ>ZmZ§Va H«o$~gMo MH«$ d BboŠQ´m°Z A{^J‘Z e¥§Ibm KS>Vo nU

           `rñQ>‘Ü ò ’$º$ ½bwH$moO {dKQ>Z KS>Vo.
a) I, II, III d V b) I d IV

c) II, III d V d) I, II, III, IV d V

44) S>r.EZ².E. Mr aMZm d°Q>gZ d {H«$H$ `m§Zr emoYyZ H$mT>br. B àH$maMm S>r.EZ².E. hm gd©
      gOrdm§‘Ü ò gm‘mÝ`nUo {XgyZ òVmo. B àH$maÀ`m S>r.EZ².E. ~m~V `mo½` bjUo {ZdS>m.

1. ß ỳ[aZ d nm`[a{‘S>rZ `m§Mr OmoS>r EH$Va Xwhoar qH$dm {Vhoar ~§YmZo OmoS>bobr AgVo.
2. XmoÝhr YmJo ho EH$‘oH$m§Zm g‘m§Va AgVmV.
3. Á`m S>r.EZ².E. ‘Ü ò 150 nm`è`m§À`m OmoS>çm AgVrb Ë`mMr bm§~r 510 Z°Zmo‘rQ>a Agob.
4. A ≡ T   d G = C

a) 1 d 2 b) 1 d 3
c) 1 d 4 d) 2 d 3
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42) Suraj and Shweta have two sons Rajesh and Nilesh. Blood group of Suraj is AB.
     Blood group of Rajesh and Nilesh is B. Nilesh marries with Sapna. Nilesh and
     Sapna have four children, two of them have B blood group and two have O blood
     group. Which of the following options are correct?

      [Note: Here we do not consider Rh factor]

          1. For blood group Shweta’s genotype is I-BIB or IBIo.

          2. For blood group, Shweta’s and Nilesh’s genotype is IBIo.

          3. Suraj and Shweta may have child with blood group A.

         4. All children of Nilesh and Sapna will be homozygous for blood group.

               a)  2 & 3              b) 1 & 3 c) 3 & 4 d) 1 & 4

43) When one glucose molecule is completely utilized by yeast cell, 2 molecules of
      ATP are generated. When one glucose molecule is completely utilized by E.coli
     cell, 38 molecules of ATP are generated. Both are unicellular organisms still they
     produce different number of ATPs from one molecule of glucose.

     Choose the most appropriate reasons for this.

     Reasons

I. Yeast is eukaryotic while E.coli is prokaryotic.

II. Yeast is anaerobic while E.coli is aerobic organism.

III. In yeast final product of glycolysis (pyruvate) is converted into acetal
     dehyde, while in E.coli pyruvate is converted to Acetyl Co - A.

IV. In yeast, final electron acceptor is oxygen while in E.coli it is pyruvate.

V. In E.coli glycolysis is followed by Krebs cycle and electron transport
                     chain but in yeast only glycolysis takes place.

a) I, II, III & V b) I & IV

c) II, III & V d) I, II, III, IV &V

44) Structure of DNA was discovered by Watson and Crick. B form of DNA is most
      common in all organisms. Choose the correct features of B form of DNA.

1. Purine and pyrimidine pair is either double bonded or triple bonded.

          2. Both strands run parallel to each other.

          3. The length of DNA consisting 150 base pairs will be 510 nm.

          4. A ≡ T and G = C

a.) 1 & 2 b) 1 & 3

c) 1 & 4 d) 2 & 3
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45) EH$m ‘wbmH$S>o EH$ Hw$Ìm Amho. Vmo ‘wbJm XaamoO Xwnmar 1 dmOVm K§Q>m dmOdVmo d Hw$Í`mbm OodU XoVmo. Ooìhm
    K§Q>m dmOdyZ Hw$Í`mbm OodU {Xbo OmVo Voìhm Ë`mÀ`m Vm|S>mbm nmUr gwQ>Vo. EHo$ {Xder ‘wbmZo Xwnmar 1 dmOVm
    K§Q>m dmOdbr nU Hw$Í`mbm OodU {Xbo Zmhr. Ooìhm ’$º$ K§Q>m dmOdbr OmVo nU Hw$Í`mbm OodU {Xbo Jobo
    Zmhr Ë`m doir Imbrbn¡H$s H$moUVo {Z[ajU `mo½` Agob?

a) Oar OodU {Xbo Zgbo Var 1 dmOVm K§Q>m EoHy$Z Hw$Í`mÀ`m Vm|S>mbm nmUr gwQ>ob.
b) K§Q>m dmOë`mZ§Va OodU {Xbo Zgë`m‘wio Hw$Í`mÀ`m Vm|S>mbm nmUr gwQ>Uma Zmhr.
c) Hw$Í`mbm dmgmdê$Z OodU {Xbobo Zmhr ho H$ië`m‘wio Vmo K§Q>oH$S>o Xwb©j H$aob.
d) 1 dmOVm K§Q>m dmOë`mZ§Va Hw$Ìm OodUmgmR>r ŵ§H$m`bm bmJob.
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45) A boy has a dog. That boy everyday rings a bell at 1:00 pm and gives food to the
     dog. When food is given dog starts salivating. Whenever bell is rung and then dog is
      provided with food it is found that dog salivates.

      One day boy rung the bell at 1:00 pm but did not provide the food to dog.

      Which of the following will be the correct observation when only bell is rung and
       food is not given?

a) After ringing the bell at 1:00 pm dog will salivate even though food is not
               given.

b) Dog will not salivate as food is not given even after ringing the bell.

c) Dog will ignore the bell as he can smell that food which was is given.

d) Dog will start barking for the food after ringing the bell at 1:00 pm
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46) Oa a, b, c ho A§H$J{UV loT>rV d ŷ{‘Vr loT>rV AgVrb, Va Imbrbn¡H$s H$moUVo {dYmZ gË` Amho?
a) a = b  c b) a  b = c c) a  b   c d) a = b = c

47) 1 Vo 100 ‘Yrb 3 Zo qH$dm 6 Zo ^mJ OmUmè`m g§»`m§Mr ~oarO .......
a) 2309 b) 2579 c) 2300 d) 2569

48) Oa Mma Z¡g{J©H$ g§»`m Imbrbà‘mUo AgVrb,
i   Ë`mMr ~oarO 43 Amho.
ii   n{hë`m VrZ g§»`m A§H$J{UV loT>rV AmhoV d gm_mB©H$ \$aH$ 3 Amho.
iii  eodQ>À`m VrZ g§»`m ŷ{‘Vr loT>rV AmhoV.

      Va n{hë`m d Mm¡Ï`m g§» òMo JwUmoÎma ......... Agob.
a) 3 : 4 b) 2 : 3 c) 3 : 8 d) 1 : 2

49) 16 3 4 108 01x x      `m g‘rH$aUmÀ`m CH$bt‘Yrb ’$aH$ H$mT>m.

a) 24 b) -24 c) 12 d) -12

50) x x x x       3 4 1 8 6 1 1 `m g‘rH$aUmbm ........... Amho/ AmhoV.

a)  EH$ nyUmªH$ CH$b b)  XmoZ nyUmªH$ CH$br
c)  CH$b Zmhr d)  AZoH$ nyUmªH$ CH$br

51)  ‘a’  d  ‘b’ `m XmoZ YZ g§»`m§Mo A
1
, A

2
  ho A§H$J{UV ‘Ü` VgoM G

1
, G

2
  ho XmoZ ŷ{‘Vr‘Ü ò AmhoV Va

      
A A
G G

1 2

1 2


 ...............

a) ab
a b b) a

b
c) 1 1

a b
 d) A§XmO AeŠ`

52) "3' Zo ^mJë`mg ~mH$s 4 Caob Aem 3 A§H$s g§»`m {H$Vr AmhoV?
a) 224 b) 225 c) 250 d) 251

J{UV
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46) If a, b, c are in the A.P. as well as in the G.P. then which of the following is correct
    statement?

a) a = b  c b) a  b = c c) a  b   c d) a = b = c

47) Find the sum of numbers between 1 to 100 which are divisible by 3 or 6.

a) 2309 b) 2579 c) 2300 d) 2569

48) There are 4 natural numbers such that,

i. Their sum is 43

ii. 1st three are in A.P. with common difference 3

iii. Last three are in G.P.

              Then the ratios of 1st and 4th number will be ...........

a) 3 : 4 b) 2 : 3 c) 3 : 8 d) 1 : 2

49) Find the difference of the roots of the equation 16 3 4 108 01x x    

a) 24 b) -24 c) 12 d) -12

50) The equation x x x x       3 4 1 8 6 1 1  has ..................

a) One integer solution. b) Two integer solutions.

c) No solution. d) Many integer solutions.

51) If A
1
, A

2
 are arithmetic means & G

1
, G

2
 be two geometric means between two

    positive numbers ‘a’ & ‘b’ then  A A
G G

1 2

1 2


 ...............

a) ab
a b b) a

b
c) 1 1

a b
 d) Can’t predict

52) How many 3 digit numbers are there which will leave remainder ‘3’ when divided
     by 4?

a) 224 b) 225 c) 250 d) 251

MATHEMATICS
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53) A (-3, 12), B(3, 6), C(-8, 17) & D(8, 1) ho q~Xy .......... Xe©{dVmV.
a) nV§JmH¥$Vr a) gaiaofm a) Am`V a) dVw©i

54) Oa H$mQ>H$moZ {ÌH$moU ABC À`m ~mOy A§H$J{UV loT>rV AgVrb Am{U ∠ B = 900 Agob Va
      sin C = ..............a) 4

5 b) 3
5 c) 2

3
d) 1

3

55) (cosec x – sin x) (sec x – cos x) (tan x + cot x) =..............
a) 1 b) -1 c) sec x. cosec x d) tan x. cot x

56) {ÌH$moU ABC ‘Ü ò, Oa sin2 C = sin2 A + sin2 B Agob Va Δ ABC hm ..........
a) g‘ ŵO {ÌH$moU b) H$mQ>H$moZ {ÌH$moU
c) {dembH$moZ {ÌH$moU d) bKwH$moZ {ÌH$moU

57) Δ ABC ‘Ü ò, Oa  
CosA

a
+ 2CosB

b
+ 2CosC

c
= a

bc
c

ab
     Va m ∠ C = ............

a) 00 b) 300 c) 600 d) 900

58) Δ ABC ‘Ü ò AB = 30  go.‘r., ∠ C=450, Va n[adVw©imÀ`m ì`mgmMr bm§~r {H$Vr?

a)30 2 b) 30 c)15 2 d) 15
2

59) 3 bmb a§JmMo, 3 {Zù`m a§JmMo Am{U 3 {haì`m a§JmMo Ago EHy$U 9 M|Sy> AmhoV. Vo AmS>ì`m gaiaofoV ‘m§S>bo
    AmhoV. Ë`mVrb 3 M|Sy> `mÑÀN>rH$aUmZo {ZdS>bo Va Ë`mV EH$mM a§JmMo M|Sy> AmS>ì`m gaiaofoV EH$Ì
    AgÊ`mMr g§̂ mì`Vm {H$Vr?a) 1

20 b) 1
280 c) 1

4320 d) 1
60480

60) Z¥Ë` ñnY}‘Ü ò "n' ñnY©H$ AmhoV. Ë`m§À`m H$m‘{JarMm H«$‘ ̀ mÑÀN>rH$ (random) nÕVrZo R>a{dë`mg, 10

    dr ñnY©H$ ‘Zrfm hr 4 Ï`m H«$‘m§H$mda òÊ`mMr g§̂ mì`Vm {H$Vr?

a) 1 b) n
n
 1 c) 1

n d) 1
1n  
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53) The points A (-3, 12), B(3, 6), C( -8, 17) & D(8, 1) describe..............

a) A kite b) A Straight line c) A Rectangle d)A circle

54) If the sides of a right angled triangle ABC are in A.P. ( ∠ B = 900)

    Then  =..............

a)
4
5 b)

3
5 c)

2
3

d)
1
3

55) (cosec x – sin x) (sec x – cos x) (tan x + cot x)=............

a) 1 b) -1 c) sec x. cosec x d) tan x. cot x

56) In triangle ABC, if sin2 C = sin2 A + sin2 B then Δ ABC is________

a) Equilateral triangle b) Right angled triangle

c) Obtuse angle triangle d) Acute angled triangle

57) In Δ ABC, if  
CosA

a
+ 2CosB

b
+ 2CosC

c
= a

bc
c
ab

     then m∠ C =.............

a) 00 b) 300 c) 600 d) 900

58) In Δ ABC we have AB = 30 cm, ∠C =450. Find the length of the diameter of the
     circumcircle.

a) 30 2 b) 30 c)15 2 d)
15

2

59) There are nine balls; 3 of them are red, 3 of them are blue & 3 of them are green.
     They are arranged in a row. If three of them are randomly selected, then what is the
     probability that the 3 balls of same color will come together in that row?

a)
1
20 b)

1
280 c)

1
4320 d)

1
60480

60) If there are ‘n’ dancers for a competition. The performance ranking is made
      random. What is the probability that 10th dancer, Manisha is in the 4th place?

a) 1 b)
n

n
 1

c)
1
n d)

1
1n  
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1 c
2 a
3 b
4 a
5 d
6 c
7 a
8 c
9 d
10 b
11 a
12 b
13 d
14 a
15 a

16 a
17 b
18 c
19 d
20 a
21 a
22 b
23 d
24 b
25 c
26 d
27 d
28 c
29 b
30 c

Q. No.       Ans Q. No.       Ans Q. No.       Ans Q. No.       Ans

Higher Order Thinking Skills - HOTS - Answers

31 a
32 b
33 b
34 c
35 b
36 b
37 c
38 c
39 c
40 b
41 b
42 a
43 c
44 b
45 a

46 d
47 a
48 c
49 d
50 b
51 c
52 b
53 b
54 b
55 a
56 b
57 d
58 a
59 b
60 c


